
CHEMISTRY

BOOKS - CHHAYA CHEMISTRY (BENGALI ENGLISH)

P-BLOCK ELEMENTS

WARM UP EXERCISE

1. What do you mean by 'pnicogens' and 'pniconides'?

Watch Video Solution

2. Phosphorus does not occur free in nature-why?

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_JvfNO23otX7n
https://dl.doubtnut.com/l/_d8pmrp9hyY5Z


3. Name three important minerals of phosphorus. Give their

formulas.

Watch Video Solution

4. Why is the atomic (covalent) radius of an element of nitrogen

family smaller than the corresponding element of carbon

family?

Watch Video Solution

5. There is a considerable increase in covalent radius from N to

P, while there is a small increase in covalent radius from As to

Bi-why?

https://dl.doubtnut.com/l/_d8pmrp9hyY5Z
https://dl.doubtnut.com/l/_hvW9xaKiTAm4
https://dl.doubtnut.com/l/_FFnq5ebpRUfT
https://dl.doubtnut.com/l/_VYRrkPsk8iCe


Watch Video Solution

6. Explain why the ionisation ethalpies of the elements of group

- 15 are much higher than those of group - 14.

Watch Video Solution

7. The elements of group - 15 posses less metallic character

those of group - 14, which increases down the group . Explain.

Watch Video Solution

8. Why is the melting point of phosphorous higher than that of

nitrogen while the melting point of Bi is lower than that of Sb?

Watch Video Solution

https://dl.doubtnut.com/l/_VYRrkPsk8iCe
https://dl.doubtnut.com/l/_EqOoYe4lZnwG
https://dl.doubtnut.com/l/_MpTqOJkpiuTU
https://dl.doubtnut.com/l/_GFk9sODnAlgY


9. The elements of group-15 exhibit catenation but to a lesser

extent than elements of group-14-why?

Watch Video Solution

10. Which group - 15 elements is the essential constituent of

amino acids, portein and nucleic acids?

Watch Video Solution

11. Which group - 15 elements do not exhibt allotropy ?

Watch Video Solution

https://dl.doubtnut.com/l/_GFk9sODnAlgY
https://dl.doubtnut.com/l/_swMJsX7uxBA4
https://dl.doubtnut.com/l/_XVmcfjhndyAO
https://dl.doubtnut.com/l/_1CXx1oXXXqNS


12. Explain why the tendency of group-15 elements to exhibit- 3

oxidation state decreases as we moue down the group.

Watch Video Solution

13. On moving down the group , stability of +5 oxidation state

of group - 15 elements decrease while that of +3 state increase -

why ?

Watch Video Solution

14. What is the only compound of Bi having +5 oxidation state?

How does this compound react with hydrocarbons?

Watch Video Solution

https://dl.doubtnut.com/l/_nHC1XjHnotps
https://dl.doubtnut.com/l/_qaHq746kMvzB
https://dl.doubtnut.com/l/_rbM8qjiACAqj
https://dl.doubtnut.com/l/_xNany1f1fi8S


15. Explain why nitrogen forms compounds having -3 to +5

oxidation states.

Watch Video Solution

16. Although nitrogen exhibits +5 oxidation state, it does not

form pentahalides-why?

Watch Video Solution

17. Give an example of disproportionation reaction of 

Watch Video Solution

H3PO3

18. Bi(V) is a stronger oxidising agent than Sb(V) - why ?

https://dl.doubtnut.com/l/_xNany1f1fi8S
https://dl.doubtnut.com/l/_ocn710schsns
https://dl.doubtnut.com/l/_A5ZRkPl5GTbq
https://dl.doubtnut.com/l/_pj4ypvkDcqfA


Watch Video Solution

19. Explain why the shape of  is pyramidal.

Watch Video Solution

NH3

20. The basic character of hydrides decrease as we move down

the group form  to  - why ?

Watch Video Solution

NH3 BiH3

21.  is thermally very stable but  - why >?

Watch Video Solution

NH3 BiH3

https://dl.doubtnut.com/l/_pj4ypvkDcqfA
https://dl.doubtnut.com/l/_LRfjcYB17yrN
https://dl.doubtnut.com/l/_HMijWdGHqLiq
https://dl.doubtnut.com/l/_XVTu4NlLxZ5N


22. The reducign character fo the hydrides of group - 15

elements increase down the group form  to  - why?

Watch Video Solution

NH3 BiH3

23. Give an example where  acts as a reducing agent .

Watch Video Solution

NH3

24. The boiling point  is higher than that of  but lower

than  - why ?

Watch Video Solution

NH3 PH3

BiH3

25. Which out of  and  is soluble in water ? WhyNH3 PH3

https://dl.doubtnut.com/l/_UfO87hZhsYBV
https://dl.doubtnut.com/l/_tWqGfgYu7edv
https://dl.doubtnut.com/l/_v3Panj3elpg1
https://dl.doubtnut.com/l/_CX8dN2f4q8Tt


Watch Video Solution

26. How does the acidic character of the oxides of group - 15

elements change the group ? Wjhy ?

Watch Video Solution

27.  undergoes hydrolysis but  does not - why ?

Watch Video Solution

NCl3 NF3

28. Explain why  is a stronger Lewis acid than .

Watch Video Solution

PF3 PI3

https://dl.doubtnut.com/l/_CX8dN2f4q8Tt
https://dl.doubtnut.com/l/_yFcC2fn4GPns
https://dl.doubtnut.com/l/_4qC2QbU0cgTT
https://dl.doubtnut.com/l/_u1z0ADL5ZBoT


29. The pentahalides of group -15 elements are thermally less

stable than the correponding trihalides - why ?

Watch Video Solution

30. What is the shape of  in the vapour state ? Why ?

Watch Video Solution

PCl5

31. In the soild state ,  exists in the lonic form as 

. What are the shapes of these two ions ? Why

?

Watch Video Solution

PCl5

[PCl4] + [PCl6] −

https://dl.doubtnut.com/l/_QzooqqLLRL5G
https://dl.doubtnut.com/l/_mu6dFqtaLrSa
https://dl.doubtnut.com/l/_PuaaEg5yQzaS


32. What are the reasons for the anomalous behaviour of

nitrogen ?

Watch Video Solution

33. Mention some characteristics in which nitrogen differs form

the other members of the group .

Watch Video Solution

34. Give example of three salts that liberate dinitrogen ?

Watch Video Solution

35. How is  perpared form air ?N2

https://dl.doubtnut.com/l/_KGe57G7MAq6k
https://dl.doubtnut.com/l/_IgjwfmtxX7JZ
https://dl.doubtnut.com/l/_659qtbfce4gI
https://dl.doubtnut.com/l/_Ne9xaRtlh970


Watch Video Solution

36.  molecule is diamagnetic in nature - why ?

Watch Video Solution

N2

37.  is an inert gas - explain with reasons.

Watch Video Solution

N2

38. What do you mean by chemcial fixation of nitrogen ?

Watch Video Solution

https://dl.doubtnut.com/l/_Ne9xaRtlh970
https://dl.doubtnut.com/l/_Ly57knEKMwFw
https://dl.doubtnut.com/l/_CMOATpS6gULa
https://dl.doubtnut.com/l/_6bipYzWZORJo


39. Mention the compound obtained when  reacts with Mg at

higher temperature. Is it ionic or covalent ?

Watch Video Solution

N2

40. How are NO and  prepared form dinitrogent ?

Watch Video Solution

NH3

41. What is nitrogen ? Why is it used as a fertilizer ?

Watch Video Solution

42. What is the active nitrogen ? Why is it active ?Give an

example to prove that it is more reactive than ordinary .N2

https://dl.doubtnut.com/l/_xQOkGd0mRQgL
https://dl.doubtnut.com/l/_t2IFZAHAVrVS
https://dl.doubtnut.com/l/_kcGUBqIdQ27c
https://dl.doubtnut.com/l/_A46hZczOOaB3


Watch Video Solution

43. Mention two important uses of dinitrogen.

Watch Video Solution

44. Mention one important nitrifying bacteria.

Watch Video Solution

45. How is ammonia prepared in the laboratory ?

Watch Video Solution

https://dl.doubtnut.com/l/_A46hZczOOaB3
https://dl.doubtnut.com/l/_zpomqu08r8HF
https://dl.doubtnut.com/l/_z3vhSc9DolBp
https://dl.doubtnut.com/l/_3No6UCi0lFzr


46. Explain why ammmonia cannot be dried by using

concetrated  or anhydrous .

Watch Video Solution

H2SO4, P2O5 CaCl2

47. What happens when the compound obtained by the

reaction between  and  at higher temperature is heated

with water ?

Watch Video Solution

N2 Mg

48. Mention the favourable conditions for a high yield of

ammonia when manufactured by Haber's process.

Watch Video Solution

https://dl.doubtnut.com/l/_ERe2CuKEoaVF
https://dl.doubtnut.com/l/_UeU2TsJqvY5B
https://dl.doubtnut.com/l/_OF3g7aeqrPms
https://dl.doubtnut.com/l/_zZyVMig14Jjq


49. Explain why liquid ammonia is used as a refrigerant.

Watch Video Solution

50. What is liquor ammonia ?

Watch Video Solution

51. Explain why ammonia acts as a Lewis base. Give an example.

Watch Video Solution

52. Give an example of a reaction in which the product obtained

by the reaction by the reaction between two gaseous substance

is a solid.

https://dl.doubtnut.com/l/_zZyVMig14Jjq
https://dl.doubtnut.com/l/_kBQmBhu9ckrp
https://dl.doubtnut.com/l/_0re2iucYvSxt
https://dl.doubtnut.com/l/_1XdPcEgD144H


Watch Video Solution

53. What happens when a glass rod dipped into ammonia

solution is exposed to HCI gas ?

Watch Video Solution

54. Give an example of a reaction between ammonia and heavy

metal ions.

Watch Video Solution

55. What happens when  is passed over molten sodium

?

Watch Video Solution

NH3(g)

https://dl.doubtnut.com/l/_1XdPcEgD144H
https://dl.doubtnut.com/l/_sUsXo0dWKCf1
https://dl.doubtnut.com/l/_eXR792gabKeH
https://dl.doubtnut.com/l/_bqXdeAq9czrU


56. Give an example of the reducing property of ammonia .

Watch Video Solution

57. Mention two tests for identifciation of ammonia .

Watch Video Solution

58. What are called amonal and amatol ?

Watch Video Solution

59. Name the oxide of nitrogen which is commonly know as "

laughing gas ". Mention one of its important uses.

https://dl.doubtnut.com/l/_bqXdeAq9czrU
https://dl.doubtnut.com/l/_2bapUsfDX5ev
https://dl.doubtnut.com/l/_pKHMPwVEbMjc
https://dl.doubtnut.com/l/_IWjLsTN5EZz2
https://dl.doubtnut.com/l/_ibKZq1J0yDTa


Watch Video Solution

60. NO(g) is paramagentic but NO(l) is diamagentic - why ?

Watch Video Solution

61. What is the oxidation state of nitrogen in dinitrogen trioxide

? Explain why the tow N = O bonds present in it differ in length .

Watch Video Solution

62. Which oxide of nitrogen may be called a mixed anhydride ?

Why ?

Watch Video Solution

https://dl.doubtnut.com/l/_ibKZq1J0yDTa
https://dl.doubtnut.com/l/_KHXq3Zsg0tSb
https://dl.doubtnut.com/l/_bc2wxczlytnz
https://dl.doubtnut.com/l/_XiUkpDwr5NTe
https://dl.doubtnut.com/l/_ioMIxziCnQ5g


63. Explain why  forms a dinner.

Watch Video Solution

NO2

64. Explain why  is diamagnetic .

Watch Video Solution

N2O4

65. NO acts both as an oxidising as well as a reducing agent -

why ?

Watch Video Solution

66. What are nitrosyls ? Give an example.

Watch Video Solution

https://dl.doubtnut.com/l/_ioMIxziCnQ5g
https://dl.doubtnut.com/l/_uildzKgq0frc
https://dl.doubtnut.com/l/_ZHD11iSpxg4l
https://dl.doubtnut.com/l/_ywBLHzPYslit


67. Draw the resonace structures of . Mention the

covalency and oxidation state of nitrogen in it.

Watch Video Solution

N2O5

68. Name the oxide of nitrogen formed on heating lead nitrate .

Watch Video Solution

69. Which oxide is the least stable one among the oxidex of

nitrogen?

Watch Video Solution

https://dl.doubtnut.com/l/_ywBLHzPYslit
https://dl.doubtnut.com/l/_KeuZEhCXTB4K
https://dl.doubtnut.com/l/_PQZqWmFC6YJ3
https://dl.doubtnut.com/l/_4EHeCYfwaEQ6


70. Write the reaction involved in laboratory preparation of

.

Watch Video Solution

HNO3

71. Write the reaction involved in each step of manufacturing

 by Ostwald's precess. How can the acid formed by this

process be concentrated ?

Watch Video Solution

HNO3

72. What is the shape of nitric acid molecule?

Watch Video Solution

https://dl.doubtnut.com/l/_p0ZujVo9dCaL
https://dl.doubtnut.com/l/_m48qORkqmkAJ
https://dl.doubtnut.com/l/_E27x82bpF6Zy


73. In aqueous solution nitric acid ionise to give two ions.

Watch Video Solution

74. Concentrated nitric acid kept in a laboratory bottle books

yellowish - why ?

Watch Video Solution

75. Give an example of a nitrate salt which is insolube in water.

Watch Video Solution

76. Although nitric acid acts only as an oxidising agent, nitrous

acid acts both as an oxidising as well as a reducing agent- why ?

https://dl.doubtnut.com/l/_iUAJizNp6HJd
https://dl.doubtnut.com/l/_YYu3kjguQpy9
https://dl.doubtnut.com/l/_V37TTgfH4cW2
https://dl.doubtnut.com/l/_MN4FsdRPqeUT


Watch Video Solution

77. Comment on the action of  on the metals above and

below hydrogen in the electrochemical series. Give example.

Watch Video Solution

HNO3

78. What are the two metals which produce dihydrogen with

very dilute (1-2%) nitric acid ?

Watch Video Solution

79. Explain why iron and aluminium do not dissolve in conc.

Watch Video Solution

HNO3

https://dl.doubtnut.com/l/_MN4FsdRPqeUT
https://dl.doubtnut.com/l/_nRZ8otv844uk
https://dl.doubtnut.com/l/_nYy8xmgn75P6
https://dl.doubtnut.com/l/_d34XM744qHhE


80. What is aqua regia ? Explain why Au and Pt dissolve in aqua

regain .

Watch Video Solution

81. What is TNT ? How can it be prepared?

Watch Video Solution

82. Mention a wet test for detection of nitrate ion .

Watch Video Solution

(NO−
3 )

https://dl.doubtnut.com/l/_d34XM744qHhE
https://dl.doubtnut.com/l/_evEx1yaDNnbP
https://dl.doubtnut.com/l/_ZzYNpb6kehWk
https://dl.doubtnut.com/l/_wV75OXL0wbz7


83. What is the difficulty encountered in performing ring test

wich lead nitrate ? How can this difficulty be overcome ?

Watch Video Solution

84. Explain why white phosphours is always kept under water.

Watch Video Solution

85. Mention the important difference in physical and chemcial

properties of white and red phosphour.

Watch Video Solution

86. In match industry, red P is used instead of white P - why ?

https://dl.doubtnut.com/l/_B2J38plNMQEc
https://dl.doubtnut.com/l/_tYWAwWfFxmas
https://dl.doubtnut.com/l/_btehy4JazW0V
https://dl.doubtnut.com/l/_aPc00g199xb7


Watch Video Solution

87. White phosphour is a soft and low melting substance while

red phosphorus is a hard and high melting substance - explain.

Watch Video Solution

88. What is phosphorescen ?

Watch Video Solution

89. If the hand or any portion of the body comes in contact with

white phosphous, it should be washed with copper sulphate

solution - why ?

Watch Video Solution

https://dl.doubtnut.com/l/_aPc00g199xb7
https://dl.doubtnut.com/l/_AtxZIWpWEETD
https://dl.doubtnut.com/l/_QfCpKicBRaUI
https://dl.doubtnut.com/l/_CKLASv0fnzzn


90. Arrage white , red and black allotropic forms of phosphours

in order of increasing stability .

Watch Video Solution

91. Mention an important use of phosphors.

Watch Video Solution

92. How can you prove that phosphine is basic nature ?

Watch Video Solution

https://dl.doubtnut.com/l/_CKLASv0fnzzn
https://dl.doubtnut.com/l/_oDEuKKe6foXm
https://dl.doubtnut.com/l/_kLwI2052OggB
https://dl.doubtnut.com/l/_hGrYf11xEKKA


93. The bond angles in  are greater than that in  -

why ?

Watch Video Solution

PH
+

4 PH3

94. What happens when white phosphours is heated with a

conc. NaOH solution in an inert atmosphere of carbon dioxide ?

Watch Video Solution

95. What are vortes rings ? Explain its formations.

Watch Video Solution

https://dl.doubtnut.com/l/_zJtUUlWZofkK
https://dl.doubtnut.com/l/_9koLOig5cWsQ
https://dl.doubtnut.com/l/_BjcnPK3XMp74


96. Which allotropic form of phosphours is obtained when an

aqueous solution of  is exposed to light ?

Watch Video Solution

PH3

97. State , with equation , what happens when phosphine is

bubbled throught an aqueous solution of silver nitrate .

Watch Video Solution

98. What is Holme's signal ?

Watch Video Solution

https://dl.doubtnut.com/l/_nUWc9EDmZha6
https://dl.doubtnut.com/l/_o5jO9oGkxfsi
https://dl.doubtnut.com/l/_eRch0ZqF730b


99. Expalin the role of  in producing smoke screens in

warfare.

Watch Video Solution

PH3

100. How will you preapre a sample of very pure phosphine gas

?

Watch Video Solution

101. How is  prepared from white phosphours ?

Watch Video Solution

PCl5

102.  fumes is moist air - explain.PCl3

https://dl.doubtnut.com/l/_Uc5n26FHPSKM
https://dl.doubtnut.com/l/_flQFSECmmGGX
https://dl.doubtnut.com/l/_si9BJMFyBWg2
https://dl.doubtnut.com/l/_hHBQCNZPcCdt


Watch Video Solution

103. What happens when  is heated ?

Watch Video Solution

PCl5

104. Write the reaction invloved in hydrolysis of  in  .

Watch Video Solution

PCl5 D2O

105. How is triphenylphosphine  prepared form  ?

Watch Video Solution

(PPh3) PCl3

https://dl.doubtnut.com/l/_hHBQCNZPcCdt
https://dl.doubtnut.com/l/_VnyyHS7z3kSl
https://dl.doubtnut.com/l/_3dY70rzRs8ww
https://dl.doubtnut.com/l/_Gz0zqFX7IbFE


106. Mention the shape of ions obatined when  reacts with

.

Watch Video Solution

PCl5

BCl3

107. All the P - Cl bonds in  are not equivalent - why ?

Watch Video Solution

PCl5

108. What happens when  is heated with finely divided

silver ?

Watch Video Solution

PCl5

https://dl.doubtnut.com/l/_dE09Wph4JVMA
https://dl.doubtnut.com/l/_cjTy1zUi66Xd
https://dl.doubtnut.com/l/_DYBN9GCpzqrk


109. Phosophouros acid  is a dibasic acid, even

thought it two H - atoms - why?

Watch Video Solution

(H3PO3)

110. Explain-  is a strong reducing agent.

Watch Video Solution

H3PO2

111. How many types of salts are formed by  ? Why ?

Watch Video Solution

H3PO4

112.  is a weaker reducing agent than  - why ?

Watch Video Solution

H3PO3 H3PO4

https://dl.doubtnut.com/l/_tgsBuGz9nm7u
https://dl.doubtnut.com/l/_sO46hVRdI5PV
https://dl.doubtnut.com/l/_UAE1mMOKWSH3
https://dl.doubtnut.com/l/_wfwYaXBfhFKq


113.  is a normal salt - explain.

Watch Video Solution

Na2HPO3

114. Which oxoacid is used to carry out the conversion

 ?

Watch Video Solution

C6H5N2Cl → C6H6

115. Which oxoacid produce pyrophosphoric acid on heating ?

Watch Video Solution

https://dl.doubtnut.com/l/_wfwYaXBfhFKq
https://dl.doubtnut.com/l/_4fpz2q2q0BWD
https://dl.doubtnut.com/l/_WqL91hjg8AZ1
https://dl.doubtnut.com/l/_0F27NSWju3DX


116. What happens , when silver nitrate solution is treated with

hypophosophours acid.

Watch Video Solution

117. Orthophosphorous acid is a tribasic acid but

hypophosphoric acid is a monobasic acid - Explain.

Watch Video Solution

118. Orthophosphoric acid has no reducing property - why ?

Watch Video Solution

119. What is cyclotrimetaphosphoric acid ?

https://dl.doubtnut.com/l/_WPRn8RwHYoiM
https://dl.doubtnut.com/l/_JhDf1KYBxU80
https://dl.doubtnut.com/l/_shP7AYLS8Oi8
https://dl.doubtnut.com/l/_02lJKSgXc4St


Watch Video Solution

120. The first ionisation enthalphies  of the elements of

group - 16 are unexpectedly lower while their those of the

corresponding elements of group-15 explain.

Watch Video Solution

(ΔiH1)

121. The negative electron gain enthalpy of oxgyen in less than

that of sulphur . Explain

Watch Video Solution

122. The elements of group - 16 have higher electronegative

than the corresponding elements of group -15 - why ?

https://dl.doubtnut.com/l/_02lJKSgXc4St
https://dl.doubtnut.com/l/_DH07xzsZXfnQ
https://dl.doubtnut.com/l/_hLiHtQTxBVfL
https://dl.doubtnut.com/l/_nQ92YM5F1rLN


Watch Video Solution

123. Melting point of polonium is less than of tellhurium.

Watch Video Solution

124. Why are the elements of group - 16 called chalcogens?

Write their general valence shell electronic configuration .

Watch Video Solution

125. Why is dioxygen a gas but sulphur a solid at normal

temperature ?

Watch Video Solution

https://dl.doubtnut.com/l/_nQ92YM5F1rLN
https://dl.doubtnut.com/l/_NCYv1gpRyC7G
https://dl.doubtnut.com/l/_bSWLQcFbgudO
https://dl.doubtnut.com/l/_2RiZU9VLbZOd
https://dl.doubtnut.com/l/_NDAqgSBUhgDI


126. Is  more stable than  ? Explain.

Watch Video Solution

CS2 Cse2

127. Sulphur has a stonger catenation tendency than oxygen -

why ?

Watch Video Solution

128. Se and Te conduct electricity significantly only in the

presence of light. Explain.

Watch Video Solution

129. Which group - 15 elements is radioctive ?

https://dl.doubtnut.com/l/_NDAqgSBUhgDI
https://dl.doubtnut.com/l/_TzKwdBKUZSAl
https://dl.doubtnut.com/l/_PdOmkAwCEgkL
https://dl.doubtnut.com/l/_QYQ5LvMarS69


Watch Video Solution

130. Which of the group - 16 elements does not exhibits

negative oxidation state ? Why ?

Watch Video Solution

131. Why does stability of + 6 oxidation state of group - 16

elements decrease down a group ?

Watch Video Solution

132. Why is  less acidic than ?

Watch Video Solution

H2S H2Te

https://dl.doubtnut.com/l/_QYQ5LvMarS69
https://dl.doubtnut.com/l/_g5ZHZ5Zar1Nt
https://dl.doubtnut.com/l/_RNObNDvIhBl8
https://dl.doubtnut.com/l/_uADco8p46Z2h
https://dl.doubtnut.com/l/_OTs8Exqh9tVD


133. Arrange the hydrides of the elements of group -16 in the

order of increasing thermal stability and explain.

Watch Video Solution

134. Explain the structure of  molecule.

Watch Video Solution

SO3

135.  is used as gaseous electrical insulator - why ?

Watch Video Solution

SF6

136. Which one of  and  molecules is polar? Why?

Watch Video Solution

SO2 SO3

https://dl.doubtnut.com/l/_OTs8Exqh9tVD
https://dl.doubtnut.com/l/_fVJVyPYszhVa
https://dl.doubtnut.com/l/_7wn8Bdpg3pRu
https://dl.doubtnut.com/l/_7QsG4d13sfiS


137.  does not exist - why ?

Watch Video Solution

OF6

138.  undergoes hydrolysis readly whereas does not

why ?

Watch Video Solution

TeF6 SF6

139.  acts as both Lewis acid Lewis base. Explain.

Watch Video Solution

SF4

140. Bond angle in  is lower than in . Justify.H2S H2O

https://dl.doubtnut.com/l/_7QsG4d13sfiS
https://dl.doubtnut.com/l/_cJJta4nadBaB
https://dl.doubtnut.com/l/_0lfTdDdbh2iU
https://dl.doubtnut.com/l/_hmjKsHaAEYS7
https://dl.doubtnut.com/l/_03OlAGKe5QnG


Watch Video Solution

141. At room temperature  is a gas but  is a solid -

explain.

Watch Video Solution

SO2 SeO2

142.  possess both oxidising and reducing property, while

 possess only oxidising property. Explain.

Watch Video Solution

SO2

SO3

143. Give reasons for the anomalous behaviour of oxygen.

Watch Video Solution

https://dl.doubtnut.com/l/_03OlAGKe5QnG
https://dl.doubtnut.com/l/_0ssqsMX6tb0A
https://dl.doubtnut.com/l/_DVOxXTHoiZaH
https://dl.doubtnut.com/l/_MMKde6GvbF87
https://dl.doubtnut.com/l/_BfJubGqar8yG


144. Mention some characteristics in which oxygen differs from

other members of the family.

Watch Video Solution

145. Mention the effect of heat on each of the following

compounds : 

(i)  (ii)  (iii)  (iv)  (V)  .

Watch Video Solution

Pb(NO3)2 Pb3O4 K2Cr2O7 KClO3 BaO2

146. What are the main sources of large scale perparation of 

?

Watch Video Solution

O2

https://dl.doubtnut.com/l/_BfJubGqar8yG
https://dl.doubtnut.com/l/_198NpaEcNYRj
https://dl.doubtnut.com/l/_kHU8JDFfB7gy
https://dl.doubtnut.com/l/_7f7bxMtNDTyc


147. The reactions of dioxygen require initiation by external

heating but when the reaction starts, it continous on its own.

Explain.

Watch Video Solution

148. Give three reaction in which dioxygen oxidises a metal, a

non- metal and a compound.

Watch Video Solution

149. Which one of the following does not react directly with

dioxygen ? Zn, Ti, Pt, Fe

Watch Video Solution

https://dl.doubtnut.com/l/_7f7bxMtNDTyc
https://dl.doubtnut.com/l/_izSmPwb2o46X
https://dl.doubtnut.com/l/_QyVYi9PO6urt
https://dl.doubtnut.com/l/_hhpNEVQWF4ss


150. Why are hydrocarbons used as fuels?

Watch Video Solution

151. State with equations, what happens when sodium peroxide

is treated with acidi potassium permanganate solution.

Watch Video Solution

152. Mention two important uses of dioxygen.

Watch Video Solution

153. To which class does each of the following oxides belong ?

Why ? 

https://dl.doubtnut.com/l/_hhpNEVQWF4ss
https://dl.doubtnut.com/l/_cXySvEogpqQO
https://dl.doubtnut.com/l/_HVLWkvwKW0xM
https://dl.doubtnut.com/l/_VOxPATdLH5Ga


(i)  (ii)  (iii) NO (iv) 

Watch Video Solution

SO2 Al2O3 Na2O

154.  reacts with acids to form two types of salts explain.

Watch Video Solution

Fe3O4

155. Explain the periodic trend in acid-base behaviour of the

oxides of third period elements.

Watch Video Solution

156. Arrange  and  in order of increasing acidic

strenght and explain the order.

Watch Video Solution

N2O5, N2O3 N2O

https://dl.doubtnut.com/l/_VOxPATdLH5Ga
https://dl.doubtnut.com/l/_6pw2UU8bYXNH
https://dl.doubtnut.com/l/_BT1wLrpX6FkE
https://dl.doubtnut.com/l/_zDSZMc01s23Y


Watch Video Solution

157. Why is  called peroxide whereas  is called

dioxide ?

Watch Video Solution

Na2O2 PbO2

158. Superoxides are paramagnetic in nature. Give reason.

Watch Video Solution

159. How can it be proved that ZnO ls an amphoteric oxide?

Watch Video Solution

https://dl.doubtnut.com/l/_zDSZMc01s23Y
https://dl.doubtnut.com/l/_xwWS5K4J3FTO
https://dl.doubtnut.com/l/_BCzDofqoFs5J
https://dl.doubtnut.com/l/_LBcXdyFum1cz


160. Out of  and  which one is a stronger oxidising agent?

Why?

Watch Video Solution

O2 O3

161. Why silent electric discharge is used to convert  into 

?

Watch Video Solution

O2 O3

162. The two O-O bonds in ozone are equal in length-why?

Watch Video Solution

https://dl.doubtnut.com/l/_3Zvdc1qlOqOa
https://dl.doubtnut.com/l/_clCfImeeSk9Y
https://dl.doubtnut.com/l/_I3R4J4V9XWnn


163. Give examples of oxidising action of  where  is not

formed.

Watch Video Solution

O3 O2

164. What do you mean by 'trailing of mercury'?

Watch Video Solution

165. Highly concentrated ozone can be dangerous-why?

Watch Video Solution

166. Rubber corks or pipes cannot be used in an experiment

involving ozone-why?

https://dl.doubtnut.com/l/_l2FHLX73iAnR
https://dl.doubtnut.com/l/_SnpazCQWQtRn
https://dl.doubtnut.com/l/_3z4GbeyU1FiZ
https://dl.doubtnut.com/l/_0zwha14BJljZ


Watch Video Solution

167. Ozone cannot be prepared at higher temperatures , though

the reaction is endothermic-explain.

Watch Video Solution

168. Explain why the density of rhombic sulphur is higher than

that of monoclinic sulphur.

Watch Video Solution

169. How will you distinguish between rhombic sulphur and

plastic sulphur with the help of a physical experiment?

Watch Video Solution

https://dl.doubtnut.com/l/_0zwha14BJljZ
https://dl.doubtnut.com/l/_QVm6KEFb8HuK
https://dl.doubtnut.com/l/_clOtsbEYGuhP
https://dl.doubtnut.com/l/_H3Cb6w6PebfH


170. Write a reaction of  which exhibits its acidic character

and a reaction which exibits its reducing character.

Watch Video Solution

SO2

171. What happens when excess  is passed through

transparent lime water ?

Watch Video Solution

SO2

172. Bleahing by  is temporay - why ?

Watch Video Solution

SO2

https://dl.doubtnut.com/l/_H3Cb6w6PebfH
https://dl.doubtnut.com/l/_FBAibCvWK1X6
https://dl.doubtnut.com/l/_J8cojWmADwyB
https://dl.doubtnut.com/l/_WmxVhXcpNHNO


173. Which is the most important oxoacid of sulphur? Mention

its oxidatio n state in that oxoacid.

Watch Video Solution

174. What is Marshall's acid?

Watch Video Solution

175. Write the reaction of the key step in the manufacture of

sulphuric acid by contact process. Mention the effect of

pressure and temperature on it.

Watch Video Solution

https://dl.doubtnut.com/l/_G4eRAr1lRFKg
https://dl.doubtnut.com/l/_bQpRMjZfGYrj
https://dl.doubtnut.com/l/_OqKU1h7FvDPs


176. Sulphuric acid is a high boiling viscous liquid. Explain.

Watch Video Solution

177. Why does sugar turn black when concentrated  is

added to it?

Watch Video Solution

H2SO4

178. Why is conc.  used to prepare more voltaile acids

form their corresponding salts ?

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_bKk0OcwMjqqn
https://dl.doubtnut.com/l/_ALWF3cSgRSc5
https://dl.doubtnut.com/l/_n0rPVpaN9fJF


179. Give a reaction of  in which it exhibits oxidising

nature.

Watch Video Solution

H2SO4

180. Give the geomety of . Explain.

Watch Video Solution

H2SO4

181. All S - O bonds in sulphate ions are equal in length - why ?

Watch Video Solution

182. What is oleum ?

Watch Video Solution

https://dl.doubtnut.com/l/_zIdvgzDHRD9T
https://dl.doubtnut.com/l/_czglfpnymmNk
https://dl.doubtnut.com/l/_JZoYLjZBYhku
https://dl.doubtnut.com/l/_XBLQFIE9UPki


183. Which elements are called halogens ? Why ?

Watch Video Solution

184. Write general valence shell electronic configuration of

halogens.

Watch Video Solution

185. Which elements of group - 17 is radiocative ?

Watch Video Solution

https://dl.doubtnut.com/l/_XBLQFIE9UPki
https://dl.doubtnut.com/l/_6mWh072SaJU2
https://dl.doubtnut.com/l/_zmIYPQay6bMC
https://dl.doubtnut.com/l/_amv3yg1NqxeH


186. The radius of the halide ion is always greater than the

corresponding halogen atom - why ?

Watch Video Solution

187. Why do halogens have high electron gain enthalpies `(-

Delta_H)?

Watch Video Solution

188. Halogens have high electronegativites - why ?

Watch Video Solution

189. Why do halogens exist as diatomic molecules ?

https://dl.doubtnut.com/l/_n776pTHtREyl
https://dl.doubtnut.com/l/_yCTewOnrxksE
https://dl.doubtnut.com/l/_NrB4KVo7Shcy
https://dl.doubtnut.com/l/_SnMfsXDlNpqG


Watch Video Solution

190.  is gas while  is a liquid at ordinary temperature -

why ?

Watch Video Solution

Cl2 Br2

191. Negative electron gain enthalpy of  is less than that of

 . Why ?

Watch Video Solution

F2

CI2

192. Explain with example , iodine has less non-metallic

character than chlorine .

Watch Video Solution

https://dl.doubtnut.com/l/_SnMfsXDlNpqG
https://dl.doubtnut.com/l/_6HQzF5rTQPv9
https://dl.doubtnut.com/l/_D3wj2gcwqqFI
https://dl.doubtnut.com/l/_nuDrjeYASSRZ


193. Bond dissociation ehtalpy of  is less than that of  -

why ?

Watch Video Solution

F2 CI2

194. The colour of fluorine is pale yellow while that of bromine is

reddish - borwn - explain.

Watch Video Solution

195. Fluorine exhibits only -1 oxidation state whereas other

halogens exhibit +1, +3, +5 and +7 oxidation states also. Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_nuDrjeYASSRZ
https://dl.doubtnut.com/l/_SEIYyktzBF2y
https://dl.doubtnut.com/l/_CO4SrxHStb63
https://dl.doubtnut.com/l/_i6ptYtqcfKQ5
https://dl.doubtnut.com/l/_tN20qT7elXsh


196. Explain , HF is a liquid but HCI,HBr and HI are gases at

ordinary temperature .

Watch Video Solution

197. Boling point of which hydrogen halide is the highest and

why ?

Watch Video Solution

198. HBr and HI cannot be preaped by treating bromide and

iodide salts respectively with conc.  - why ?

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_tN20qT7elXsh
https://dl.doubtnut.com/l/_2UhPQtrsXr9k
https://dl.doubtnut.com/l/_pZ2PKKfLQcDK


199. Arrage the halogen hydracids in the order of increasing

acidic strenght. Explain the order.

Watch Video Solution

200. The bond angle in  is less than that in  - why ?

Watch Video Solution

OF2 H2O

201. Name the anhydride of iodic acid. Write its structure and

one use.

Watch Video Solution

202.  forms dimer, but  does not - why ?NO2 CIO2

https://dl.doubtnut.com/l/_Itxrj3hjBhvw
https://dl.doubtnut.com/l/_z4m3QfJ2UcxY
https://dl.doubtnut.com/l/_1Yrrfd1jj1l9
https://dl.doubtnut.com/l/_xezKMSQh4Z7x


Watch Video Solution

203. Give reasons for the anomalous behaviour of fluorine.

Watch Video Solution

204. Mention the differences between  and rest of the

halogens.

Watch Video Solution

F2

205. Which halogen hydracid cannot be kept in a glass bottle ?

Why ?

Watch Video Solution

https://dl.doubtnut.com/l/_xezKMSQh4Z7x
https://dl.doubtnut.com/l/_b9H6mstKMsbS
https://dl.doubtnut.com/l/_gR57Dn7vJAzM
https://dl.doubtnut.com/l/_JbIks9GNcZtw
https://dl.doubtnut.com/l/_TsedZhSxjuXv


206. The salt  exists but  does not - why ?

Watch Video Solution

KHF2 KHCI2

207. What is chlorine - water ? Why does chlorine water lose its

yellow colour when left undisturbed ?

Watch Video Solution

208. Write balanced chemical equation for the reaction of 

with hot & conc. NaOH solution . Is this a disproportional

reactions ? Justify.

Watch Video Solution

CI2

https://dl.doubtnut.com/l/_TsedZhSxjuXv
https://dl.doubtnut.com/l/_2TndrOfizksU
https://dl.doubtnut.com/l/_stuyzK1d0SFf


209. Give reason for the bleaching action of .

Watch Video Solution

Cl2

210. Fluorine is called super halogen' - why ?

Watch Video Solution

211. What is muriatic acid? Why is it called so?

Watch Video Solution

212. How is hydrogen chloride prepared in the laboratory? HCI

gas cannot be dired with CaO, KOH or . Explain.

Watch Video Solution

P2O5

https://dl.doubtnut.com/l/_NqUzQJKLcS1J
https://dl.doubtnut.com/l/_sazr8fkB4cd5
https://dl.doubtnut.com/l/_RrrIoI09ojEz
https://dl.doubtnut.com/l/_IbqO60gyGGYF


213. Give an example of the formation of a solid compound by

the reaction between two gaseous substance.

Watch Video Solution

214. State ,with equations, what happens when : 

concentrated hydrochloric acid is heated with .

Watch Video Solution

KMnO4

215. State ,with equations, what happens when : 

dilute HCI is added to sodium bicarbonate solution.

Watch Video Solution

https://dl.doubtnut.com/l/_IbqO60gyGGYF
https://dl.doubtnut.com/l/_Of0fARBurtoy
https://dl.doubtnut.com/l/_iO5yP6wAu0VS
https://dl.doubtnut.com/l/_KnNx3qMyAJ0s


216. State ,with equations, what happens when : 

 solution is added to dilute hydrochloric acid.

Watch Video Solution

AgNO3

217. Fluorine cannot serve as the central atom in polyatomic

interhalogen compounds-why?

Watch Video Solution

218.  exists but  does not - why ?

Watch Video Solution

CIF3 FCl3

219. What are the shapes of  ,  and  molecules ?BrF3 ClF5 IF7

https://dl.doubtnut.com/l/_Xn7WINIkS2dB
https://dl.doubtnut.com/l/_HryZY6hIItrz
https://dl.doubtnut.com/l/_kDHFFTuStHbk
https://dl.doubtnut.com/l/_sesYI9wTayEH


Watch Video Solution

220.  exists but  does not - why ?

Watch Video Solution

IF7 ICI7

221. What are the compounds obtained when the interhalogen

compounds are hydrolysed ?

Watch Video Solution

222. Why is ICI more reactive than  ?

Watch Video Solution

I2

https://dl.doubtnut.com/l/_sesYI9wTayEH
https://dl.doubtnut.com/l/_5GmAGBhGVkGr
https://dl.doubtnut.com/l/_drD1Cexa4GLj
https://dl.doubtnut.com/l/_fTl4pxD4eJNF


223. Give examples of an interhalogen cation and an anion.

Watch Video Solution

224. Predict the products expected to be obtained at the

electrodes when ICl and  are separately electrolysed.

Watch Video Solution

ICI3

225. Write the general valence shell electronic configuration of

noble gases (except He).

Watch Video Solution

226. Which noble gas may be obtained from  ?226
88 Ra

https://dl.doubtnut.com/l/_ABiGN0F7mchY
https://dl.doubtnut.com/l/_wKbIGslr0Iyi
https://dl.doubtnut.com/l/_tHUlKzbCqKWq
https://dl.doubtnut.com/l/_8U71bCdsSkxj


Watch Video Solution

227. Which is the second most abundant element of group-18 in

the universe ( next to hydrogen) ?

Watch Video Solution

228. Why are the noble gases monoatomic ? How do you prove

it ?

Watch Video Solution

229. On the basis of molecular orbital theory prove that 

molecule does not exist.

Watch Video Solution

He2

https://dl.doubtnut.com/l/_8U71bCdsSkxj
https://dl.doubtnut.com/l/_cRHFNK2G04B0
https://dl.doubtnut.com/l/_4QBRrbO4iiRt
https://dl.doubtnut.com/l/_Qri1qXQ9OIvR


230. Then boiling points of noble gases are very low . Explain.

Watch Video Solution

231. what is the main commercial source of helium ?

Watch Video Solution

232. The noble gases cannot be liquefied easily - why ?

Watch Video Solution

233. Explain - noble gases are in general chemically inert.

Watch Video Solution

https://dl.doubtnut.com/l/_Qri1qXQ9OIvR
https://dl.doubtnut.com/l/_dGmTIV4e0RbR
https://dl.doubtnut.com/l/_Z34MOFx4IeSy
https://dl.doubtnut.com/l/_33MiC5a1JyhU
https://dl.doubtnut.com/l/_51fPz9nhYfX2


234. Name some stable compounds of Xe.

Watch Video Solution

235. How will you explain that  has a square planar

structure ?

Watch Video Solution

XeF4

236. How will you explain that  has a pyramidal geometry

?

Watch Video Solution

XeO3

https://dl.doubtnut.com/l/_51fPz9nhYfX2
https://dl.doubtnut.com/l/_nAlNmhaFfLjX
https://dl.doubtnut.com/l/_xRnmeSULgvLy
https://dl.doubtnut.com/l/_nSGpKQbng5zD


237.  cannot be stored in a glass bottle - why ?

Watch Video Solution

XeOF4

238. Expalin the structure of  and .

Watch Video Solution

XeOF2 XeO3F2

239. Why is helium used in diving apparatus ?

Watch Video Solution

240. Why has it been difficult to study the chemistry of radon?

Watch Video Solution

https://dl.doubtnut.com/l/_cdhzsKlDRUPE
https://dl.doubtnut.com/l/_0nzZiQZZ9pTR
https://dl.doubtnut.com/l/_PUvVA5qNdEsO
https://dl.doubtnut.com/l/_SOyezATKMK1B


VERY SHORT ANSWER TYPES (VSA )

241. Name the noble gas used in fluorescent lamps for

advertising .

Watch Video Solution

242. Show that  acts as a fluorinting agent.

Watch Video Solution

XeF4

243. Xenon fluorides must be perpared in the absence of

mositure - why ?

Watch Video Solution

https://dl.doubtnut.com/l/_a0pXFn6kTfBi
https://dl.doubtnut.com/l/_IB5UqW7Oy48i
https://dl.doubtnut.com/l/_x47Z8c8x9lk3
https://dl.doubtnut.com/l/_hbi16p0vlfCr


1. Which one among group -15 elements is a typical metals ?

Watch Video Solution

2. What are pnicogens ?

Watch Video Solution

3. Which group - 15 elements has the lowest  ?

Watch Video Solution

ΔiH1

4. Why is the tendency of catenation of the group - 15 elements

much less than that of carbons?

Watch Video Solution

https://dl.doubtnut.com/l/_hbi16p0vlfCr
https://dl.doubtnut.com/l/_WiaMXlbaFOXh
https://dl.doubtnut.com/l/_NnSzOrFB1V4r
https://dl.doubtnut.com/l/_v8NxGVfKJNUO


5. Why does the stability of + 5 oxidation state decrease on

moving down the group ?

Watch Video Solution

6. Which is the only compound of bismuth with +5 oxidation

state ?

Watch Video Solution

7. Which group- 15 hydride is soluble in water and why ?

Watch Video Solution

https://dl.doubtnut.com/l/_v8NxGVfKJNUO
https://dl.doubtnut.com/l/_Vc0OrLufqMY6
https://dl.doubtnut.com/l/_wo6Z4Jq5Al9v
https://dl.doubtnut.com/l/_LTO1MfUc4QhO


8. Which of the group -15 elements exhibits maximum number

of oxdiation states ? Why ?

Watch Video Solution

9. Which is a stronger oxidising agent ? Sb (V), Bi (V).

Watch Video Solution

10. Which of the group-15 hydrides has the (1) highest thermal

stability , (2) lowest boiling point,(3) highest reducing strenght

(4) highest basic strength ?

Watch Video Solution

https://dl.doubtnut.com/l/_51T9im0rSLMg
https://dl.doubtnut.com/l/_DdAcFWglkUND
https://dl.doubtnut.com/l/_ngrcDiOIes5V


11. Arrage the trioxide of the group - 15 elements in the order of

decerasing acidity.

Watch Video Solution

12. Which halide of nitrogen does not undergo hydrolysis ?

View Text Solution

13. Arrgae the trihalides of nitrogen in the order of increasing

as Lewis base.

Watch Video Solution

https://dl.doubtnut.com/l/_UmFsiqFOdVfo
https://dl.doubtnut.com/l/_mXUqsk9FJvGI
https://dl.doubtnut.com/l/_ELnrDDMJ4Odf


14. What is the shape of an  molecules ? Why does it behave

a a Lewis acid?

Watch Video Solution

Ex5

15. What type of multiple bond is formed (1) between N and O

and (2) between P and O ?

Watch Video Solution

16. What is nitrolim ? Give one use .

Watch Video Solution

17. Liquid ammonia is used as a refrigerant - why ?

https://dl.doubtnut.com/l/_wddJzjkDwyn9
https://dl.doubtnut.com/l/_GTI5BmwoY0uX
https://dl.doubtnut.com/l/_Zqj3FppCcAee
https://dl.doubtnut.com/l/_whdT6eEWdTjq


Watch Video Solution

18. What is amatol ?

Watch Video Solution

19. Which oxide fo nitrogen is used as an anaesthetic by

dentists for minor operation ?

Watch Video Solution

20. Identify the oxides of nitrogen obtained in each of the

following reactions : 

Watch Video Solution

Pb(NO3)2

Δ
−−→

https://dl.doubtnut.com/l/_whdT6eEWdTjq
https://dl.doubtnut.com/l/_kmfNzfW8pR9O
https://dl.doubtnut.com/l/_YWeaeBBfRZ52
https://dl.doubtnut.com/l/_0uQjHR1MQYV1


21. Identify the oxides of nitrogen obtained in each of the

following reactions : 

Watch Video Solution

NH4NO3

Δ
−−→

22. Identify the oxides of nitrogen obtained in each of the

following reactions : 

Watch Video Solution

N2O4 + NO
Δ

−−→

23. Name an oxide of nitrogen that reacts with water to

produce tow acids .

https://dl.doubtnut.com/l/_0uQjHR1MQYV1
https://dl.doubtnut.com/l/_pkP8YJ0WDisa
https://dl.doubtnut.com/l/_F3TrZJil5PR3
https://dl.doubtnut.com/l/_XspERtYn0WrZ


Watch Video Solution

24. Why does conc.  acquire a yellowish colour in the

presence of sunlight ?

Watch Video Solution

HNO3

25. Which compound is responsible for the brown ring obtained

in the ring test for nitrate ions ?

Watch Video Solution

26. Arrage red, white and black phosphours in the order of their

decreasing stability or increasing reactivity .

Watch Video Solution

https://dl.doubtnut.com/l/_XspERtYn0WrZ
https://dl.doubtnut.com/l/_suAHQadvR9dC
https://dl.doubtnut.com/l/_FbGjCc3Yhc7d
https://dl.doubtnut.com/l/_wrDahlrZ0btn


27. Which compound is involved in the formation of vortex ring

or philosopher's ring ?

Watch Video Solution

28. How can you prove that  is basic in nature ?

Watch Video Solution

PH3

29.  fumes in moist air - why ?

Watch Video Solution

PCI3

https://dl.doubtnut.com/l/_wrDahlrZ0btn
https://dl.doubtnut.com/l/_AByrH8o9d9st
https://dl.doubtnut.com/l/_nmiETFC698yU
https://dl.doubtnut.com/l/_ZjoMyo2ef6R6


30. Give example of oxoacids of phosphours having the

oxidation state of P (1) + 4 (2) + 3 and (3) + 5 each.

Watch Video Solution

31. Hypophorus acid has reducing property but phosphoric acid

does not - why ?

Watch Video Solution

32. What happens when chloroform is allowed to react with

concentrated  ?

Watch Video Solution

HNO3

https://dl.doubtnut.com/l/_Lb97cNdTgaL1
https://dl.doubtnut.com/l/_aa4KznKOFdRm
https://dl.doubtnut.com/l/_pNuPFPAQlabB


33. Write the reaction between calcium cyanamide with steam.

Watch Video Solution

34. Which compound reacts with  to give black precipitate

?

Watch Video Solution

NH3

35. Complete the chemial equation: 

Watch Video Solution

Ca3(PO4)2 + SiO2 + C
heat
−−→

36. Distingusih between  and .HN3 NH3

https://dl.doubtnut.com/l/_KYbEirldPgBG
https://dl.doubtnut.com/l/_XN6NNQTyDeox
https://dl.doubtnut.com/l/_YphM0UWYXSa0
https://dl.doubtnut.com/l/_16zY8cc8JPdW


Watch Video Solution

37. Give two example of non-aqueous solvents.

Watch Video Solution

38. Write down the name of a nitrogenous fertilize.

Watch Video Solution

39. Which nitrogenous gas is used in the perparation of nitric

acid by the Ostward's method?

Watch Video Solution

https://dl.doubtnut.com/l/_16zY8cc8JPdW
https://dl.doubtnut.com/l/_nOcxmn55PQUV
https://dl.doubtnut.com/l/_85A1YTrWOnGh
https://dl.doubtnut.com/l/_Gn5USGFQNRYh


40. How can it easily proved that ammonia is alkaline in nature ?

Watch Video Solution

41. What is obatined when excess of ammonia solution is added

to a  solution ?

Watch Video Solution

CuSO4

42.  and  ions are isolobal - explain.

Watch Video Solution

BH
−

4 NH
−

4

43. What happens when a mixture of  and 

is heated ?

(NH4)2SO4 NaNO3

https://dl.doubtnut.com/l/_ZM7ppOMOSACi
https://dl.doubtnut.com/l/_49EVFuBdmDND
https://dl.doubtnut.com/l/_84cjRFsdJCBf
https://dl.doubtnut.com/l/_dkcMIcxNEpqm


Watch Video Solution

44. Nitrous acid behave as an oxidant as well as a reductant -

why ?

Watch Video Solution

45. Arrange  and  in the order of increasing

acidic character .

Watch Video Solution

N2O5, N2O3 N2O4

46. Among the group - 16 elements ,which one is a typical metal

and radioactive ?

Watch Video Solution

https://dl.doubtnut.com/l/_dkcMIcxNEpqm
https://dl.doubtnut.com/l/_mJuHPbVsydtj
https://dl.doubtnut.com/l/_8Tsj2UuOExhR
https://dl.doubtnut.com/l/_3xg4KGsRElT4


47. Which elements are also known as chalcogens ? Why ?

Watch Video Solution

48. Name the two elements of group -16 which are metalloids

and photosensitive.

Watch Video Solution

49. Out of N and O which one has a higher  ? Why ?

Watch Video Solution

ΔiHl

https://dl.doubtnut.com/l/_3xg4KGsRElT4
https://dl.doubtnut.com/l/_VOEM5TuBJHtE
https://dl.doubtnut.com/l/_96tIaI5znPGu
https://dl.doubtnut.com/l/_BA2ETMV9FYLr


50. Which one of the group - 16 elements has the lowest

negative electron gain enthalpy ?

Watch Video Solution

51. Out of  and  which one less stable ? Why ?

Watch Video Solution

CS2 Cse2

52. Sulphur has a stronger tendency for catenation than oxygen

- why ?

View Text Solution

https://dl.doubtnut.com/l/_9L89lvk0GeAB
https://dl.doubtnut.com/l/_RatsBbfUlAo1
https://dl.doubtnut.com/l/_2awhjkUp6ZBq


53. Arrage  and  in the order of increasing bond

angle .

Watch Video Solution

H2S, H2O H2Se

54. Give example of two compounds in which oxidation state of

oxygen are +2 and -1, respectively.

Watch Video Solution

55. In which compound an element exhibits its highest

oxidation state ?

Watch Video Solution

https://dl.doubtnut.com/l/_CRWNShTQoeA9
https://dl.doubtnut.com/l/_SzHHfo07cVAN
https://dl.doubtnut.com/l/_ZyKpQD2bUOFI


56. Why does stability of +6 oxidation state decrease down the

group ?

Watch Video Solution

57. Arrage the group - 16 hydrides in the order of increasing

acidic strenght.

Watch Video Solution

58. Out of  and  which one has a higher thermal

stability ? Why ?

Watch Video Solution

H2O H2S

https://dl.doubtnut.com/l/_M7W16nhjapf5
https://dl.doubtnut.com/l/_ZP7cxGLPljFD
https://dl.doubtnut.com/l/_ReFNevYS0QYv


59. Comment on the nature of two  bonds is .

Watch Video Solution

S = O SO2

60. What is the geometery of  ? Why ?

Watch Video Solution

SCI2

61. Out of  and  , which one does not undergo

hydrolysis ?why ?

Watch Video Solution

SF6 TeF6

62.  has no existence - why ?

Watch Video Solution

OF6

https://dl.doubtnut.com/l/_d8rrWmxzVqrI
https://dl.doubtnut.com/l/_o59wb339aWxC
https://dl.doubtnut.com/l/_U17SYtIZVxKk
https://dl.doubtnut.com/l/_qtcgARKknwcF


63. Sulphur disappears when boiled with an aqueous solution of

 - Why ?

Watch Video Solution

Na2SO3

64. What happens when  is allowed to burn in a limited

supply of air  ?

Watch Video Solution

H2S

(O2)

65. What happens when an aquous solution of  is heated in

a sealed tube at 425K ?

Watch Video Solution

SO2

https://dl.doubtnut.com/l/_qtcgARKknwcF
https://dl.doubtnut.com/l/_ltrs4DPeI3UZ
https://dl.doubtnut.com/l/_GKOuLcyNK30V
https://dl.doubtnut.com/l/_ZvQha4tmep2O


66. Name the type of bonds present in sulphuric acid anhydride.

Watch Video Solution

67. What happens when (1)  is kept in an open vessel and

(2)  is kept in a closed vessel ?

Watch Video Solution

H2SO4

H2SO4

68. Why is  called lead dioxdie , not lead peroxide ?

Watch Video Solution

PbO2

69. Super oxides possess paramagnetic peroperties - why ?

Watch Video Solution

https://dl.doubtnut.com/l/_gVEpEdMOyuxR
https://dl.doubtnut.com/l/_fqcWHEPC9dgj
https://dl.doubtnut.com/l/_1VSEThNZcut2
https://dl.doubtnut.com/l/_W8OairSSUrD8


70. Why is  thermodynamically less stable than  ?

View Text Solution

O3 O2

71. It is necessary to use a silent electric dischange in the

preparation of ozone from dioxygen - why ?

View Text Solution

72. Out of rhombic and monoclinic sulphur which one is more

stable and dense at room temperature ?

Watch Video Solution

https://dl.doubtnut.com/l/_W8OairSSUrD8
https://dl.doubtnut.com/l/_iaPTjhO2DMdD
https://dl.doubtnut.com/l/_YZSAR2fFqw3f
https://dl.doubtnut.com/l/_mFSHnV1rOiD5


73. What is fuming sulphuric acid ?

Watch Video Solution

74. Give the key reaction involved in the manufacture of

sulphuric acid by contact process.

Watch Video Solution

75. Which mineral acids is used for the determination of

melting points of organic compunds ?

Watch Video Solution

76. Explain why ozone  attacks rubber pipes.(O3)

https://dl.doubtnut.com/l/_0mtdPSIiOXqM
https://dl.doubtnut.com/l/_6aAM7tp1UVA3
https://dl.doubtnut.com/l/_zrJ7pru9E4Qj
https://dl.doubtnut.com/l/_9veR3fnSo9SM


Watch Video Solution

77. Give an example of an addition reaction of .

Watch Video Solution

SO2

78. Give an exmaple of an sulphur which contains a peroxo

bond.

Watch Video Solution

79. Which is used as an oxoacid of sulphur which contains a

peroxo bond.

Watch Video Solution

https://dl.doubtnut.com/l/_9veR3fnSo9SM
https://dl.doubtnut.com/l/_Dqf8GLCEkqHb
https://dl.doubtnut.com/l/_nzTuGylZrPqJ
https://dl.doubtnut.com/l/_EkEh9M5XrgLN
https://dl.doubtnut.com/l/_hHq9svnOJe2K


80. Which gas is used for determining the position of double or

triple bond in unsatured compound ?

Watch Video Solution

81. Which one among group - 17 elements is radioactive ?

Watch Video Solution

82. Which halogen exhibits electropositive character in some in

its compounds?

Watch Video Solution

83. Fluorine does not show any +ve oxidation state - why ?

https://dl.doubtnut.com/l/_hHq9svnOJe2K
https://dl.doubtnut.com/l/_bLVP2HCEzTMX
https://dl.doubtnut.com/l/_gwTpoP22DRwa
https://dl.doubtnut.com/l/_cigEniWh9zho


Watch Video Solution

84. Which one of the hydrogen halides is a liquid at ordinary

temperature ?

Watch Video Solution

85. Arrage the halogens in the order of decreasing negative

electron gain enthalpy.

Watch Video Solution

86. Arrage the halogens in the order of decreasing negative

electron gain enthalpy.

Watch Video Solution

https://dl.doubtnut.com/l/_cigEniWh9zho
https://dl.doubtnut.com/l/_vN1cHeGEvJmK
https://dl.doubtnut.com/l/_HpGDvZikIowv
https://dl.doubtnut.com/l/_OEV4fyHzhAPi


87. Arrage the hydrogen halides in ther order of increasing

reducing power.

Watch Video Solution

88. Arrage the hydrogen halides in the order of increasing

thermal stability ?

Watch Video Solution

89. Chlorine -water on standing loses its yellow colour - why ?

Watch Video Solution

https://dl.doubtnut.com/l/_OEV4fyHzhAPi
https://dl.doubtnut.com/l/_OfIapNmVOvQA
https://dl.doubtnut.com/l/_Ck5wZJPSLywW
https://dl.doubtnut.com/l/_aaFG8tC9Q7F7


90. Which halogen hydracid cannot be stored in a glass bottle ?

Why ?

Watch Video Solution

91. Which halogen form only one oxacid ?

Watch Video Solution

92. HF is the weakest halogen hydracid even though fluorine is

the most electronegative halogen - explain.

Watch Video Solution

https://dl.doubtnut.com/l/_3oPBkuLOQoRN
https://dl.doubtnut.com/l/_gSDxCyYBdCAV
https://dl.doubtnut.com/l/_aDIOy7OaWP4z


93. Write the compound of bleacing powder and mention its

two important properties.

Watch Video Solution

94. Which hydrogen halide froms  ions ? Why ?

Watch Video Solution

HX −
2

95. Arrage  and  in the order of increasing bond

dissociation enthalpy.

Watch Video Solution

F2, CI2, Br2 I2

https://dl.doubtnut.com/l/_ADSUd57PLOhX
https://dl.doubtnut.com/l/_rgbbFqZeP2wu
https://dl.doubtnut.com/l/_iQakXrMpJIWO


96. Give two exapmle of interhalagone cation and two of

interhalogen anion.

Watch Video Solution

97. Name the substance obtained at the cathode and at the

anode when fused ICI is subjected to electrolysis.

Watch Video Solution

98. Why is iodine more soluble in KI solution than in water ?

Watch Video Solution

99. Mention the structure of  &  molecules.CIF3, CIF5 IF7

https://dl.doubtnut.com/l/_VczO36Y79tIN
https://dl.doubtnut.com/l/_2pjyCxKfVkAD
https://dl.doubtnut.com/l/_jg4p7eocqtoh
https://dl.doubtnut.com/l/_wji2dxyoz0wm


Watch Video Solution

100. Mention the state of hybridisation of the central CI atom in

the oxoacids of chlorine.

Watch Video Solution

101. Which one is the stronger oxoacid of chlorine ?

Watch Video Solution

102. What is called aqua regia ?

Watch Video Solution

https://dl.doubtnut.com/l/_wji2dxyoz0wm
https://dl.doubtnut.com/l/_EBRSwzHzFFj1
https://dl.doubtnut.com/l/_5JJmjXmJxHaR
https://dl.doubtnut.com/l/_laL0SK7M2b0U


103. Give example of two which react with HCI to give white

precipiate .

Watch Video Solution

104. Give example of two salts which react with HCI to give

white preipitate.

Watch Video Solution

105. Why the compounds of fluorine with oxygen are called

fluorides of oxygen and not the oxides of fluorine ?

Watch Video Solution

https://dl.doubtnut.com/l/_QeCvDc2fyumE
https://dl.doubtnut.com/l/_mVg9a0CJy02F
https://dl.doubtnut.com/l/_3UXBBVHr4DY4


106. Boiling points of interhalogen are little higher as compared

to pure halogens - why ?

Watch Video Solution

107. Name the most abundant noble gas in air and the noble

gas which is nearly absent in air.

Watch Video Solution

108. What is the main commerical source of helium ?

Watch Video Solution

109. What is the value of  of noble gas ?Cp /CV

https://dl.doubtnut.com/l/_A4Es5a3thSsc
https://dl.doubtnut.com/l/_Ponm2KVdxdB1
https://dl.doubtnut.com/l/_ttESHBaEm5uo
https://dl.doubtnut.com/l/_POBiVqhefcYo


Watch Video Solution

110. Which noble gas is obtained by  -decoy of Ra-226?

Watch Video Solution

α

111. How is argon produced in the atmosphere?

Watch Video Solution

112. Which element has the lowest bolling point?

Watch Video Solution

https://dl.doubtnut.com/l/_POBiVqhefcYo
https://dl.doubtnut.com/l/_LskYHfIObjZh
https://dl.doubtnut.com/l/_Q79FoaQg9sY3
https://dl.doubtnut.com/l/_5EsxdlUEjHhL


113. Mention the intermoelecular forces of attraction operating

among inert gas atoms.

Watch Video Solution

114. Explain why the noble gases cannot be liquefied easily.

Watch Video Solution

115. Give an example of a fluorinating reagent.

Watch Video Solution

116. Which compound of Xe is isostructural with  ion?

View Text Solution

https://dl.doubtnut.com/l/_0QHUTKHpXCcx
https://dl.doubtnut.com/l/_LkMOZpBR2DQl
https://dl.doubtnut.com/l/_csDot6BrnDBa
https://dl.doubtnut.com/l/_gtK0sVEMJuot


117. Mention the state of hybridisation of Xe atom in each of the

following compounds: 

Watch Video Solution

XeF2

118. Mention the state of hybridisation of Xe atom in each of the

following compounds: 

Watch Video Solution

XeF6

119. Mention the state of hybridisation of Xe atom in each of the

following compounds: 

https://dl.doubtnut.com/l/_gtK0sVEMJuot
https://dl.doubtnut.com/l/_RSH1kc7eAs30
https://dl.doubtnut.com/l/_wbMzV1lPYyiZ
https://dl.doubtnut.com/l/_gC89Cu1ZfoAS


Watch Video Solution

XeOF4

120. Mention the state of hybridisation of Xe atom in each of

the following compounds: 

Watch Video Solution

XeO3

121. Mention the state of hybridisation of Xe atom in each of the

following compounds: 

Watch Video Solution

XeF4

https://dl.doubtnut.com/l/_gC89Cu1ZfoAS
https://dl.doubtnut.com/l/_wxaxxFu7RfKH
https://dl.doubtnut.com/l/_QncpcigHYPC0


122. Give examples of two reactions, one in which xenon fluoride

acts as fluoride ion donor and the other in which it acts as

fluoride ion acceptor.

Watch Video Solution

123. Mention the type of interaction responsible for the

solubility of noble gases in water.

Watch Video Solution

124. Which out of He, Ne, Ar, Kr and Xe can be easily liquefied?

Why?

Watch Video Solution

https://dl.doubtnut.com/l/_rLpQXOMZLMqs
https://dl.doubtnut.com/l/_AY6FaQMDomWO
https://dl.doubtnut.com/l/_86M1uFrVqqnO
https://dl.doubtnut.com/l/_prmniq4lgY2H


125. Which noble gas is used for filling balloons for

meteorological observations?

Watch Video Solution

126. Which noble gas is used for the detection of meson

particles?

Watch Video Solution

127. Which oxofluoride of xenon is octahedral?

View Text Solution

https://dl.doubtnut.com/l/_prmniq4lgY2H
https://dl.doubtnut.com/l/_gAyaoOuglk64
https://dl.doubtnut.com/l/_ICOiEgsPmtQg


SHORT ANSWER TYPE (SA)

128. Which noble gas has the lowest boiling point compared to

any other liquid?

Watch Video Solution

129. Neon is generally used for warning signals-why?

Watch Video Solution

1. Why  is chemically inert? State conditon and reaction of 

and calcium carbide.

Watch Video Solution

N2 N2

https://dl.doubtnut.com/l/_zrjGwuYQntf6
https://dl.doubtnut.com/l/_DXrJdhEgR9J4
https://dl.doubtnut.com/l/_zeBLZ36pJtdx
https://dl.doubtnut.com/l/_URoXusUac8cK


2. Between white & red phosphorus which one is more reactive

& why?

Watch Video Solution

3. N and Bi do not form pentachlorides but P does- why?

Watch Video Solution

4.  exists as the ion-pair   exists as the ion pair -

explain.

View Text Solution

PCl5 PBr5

https://dl.doubtnut.com/l/_URoXusUac8cK
https://dl.doubtnut.com/l/_EPRl3dUMDp40
https://dl.doubtnut.com/l/_SC2zzTFmYQGm


5.  acts as a reducing agent while  does not-

Explain. Mention the basicities ol these two acids.

Watch Video Solution

H3PO3 H3PO4

6. In organic reactions  acts as a chlorinating agent.

Explain.

Watch Video Solution

PCl5

7.  is a better complexing agent than  - why?

Watch Video Solution

NH3 PH3

https://dl.doubtnut.com/l/_IzMCNZOAV00G
https://dl.doubtnut.com/l/_cJVx5FUutJB7
https://dl.doubtnut.com/l/_Lyy1f8w6eore


8. Which among  and  has higher value of bond angle and

why?

View Text Solution

9. How many types of salts are obtained when  reacts

with NaOH?

Watch Video Solution

H3PO4

10. Liquor ammonia bottles are to be opened only after cooling-

why?

Watch Video Solution

https://dl.doubtnut.com/l/_se6HjR9VXo1H
https://dl.doubtnut.com/l/_Hub3lSTqmSiw
https://dl.doubtnut.com/l/_1T6vV7m9agIr


11. Why does a hot Pt-wire becomes brighter when  gas is

passed over it?

Watch Video Solution

NH3

12. Mention an observation which supports that +5 oxidation

state of Bi is less stable than +3 oxidation state.

Watch Video Solution

13.  is an endothermic compound while  is an

exothermic compound. Explain.

Watch Video Solution

NCl3 NF3

https://dl.doubtnut.com/l/_NB63lFasmNtJ
https://dl.doubtnut.com/l/_i77oIXGcylTy
https://dl.doubtnut.com/l/_M676vo9sddcN


14. The electron gain enthalpy with negative sign is less for

oxygen for sulphur. Explain.

Watch Video Solution

15.  is acidic but  ls neutraJ in nature-why?

Watch Video Solution

H2S H2O

16. Sulphur is paramagnetic in the vapour state-why?

Watch Video Solution

17.  exists but  has no existence-why?

Watch Video Solution

SF6 SH6

https://dl.doubtnut.com/l/_fub1XFZsks6G
https://dl.doubtnut.com/l/_hkyEabsZcozE
https://dl.doubtnut.com/l/_j2YkpajYKEUU
https://dl.doubtnut.com/l/_l9gGkspP8SWp


18. Explain why sulphuric acid has a high boiling point. How do

chemists make practical use of the high , boiling point of this

acid? Give examples.

Watch Video Solution

19. The bleaching action of  is temporary but that of  is

permanent-why?

View Text Solution

SO2 Cl2

20. Arrange the hydrides of the elements of group-16 in the

order of increasing thermal stability and explain the order.

Watch Video Solution

https://dl.doubtnut.com/l/_l9gGkspP8SWp
https://dl.doubtnut.com/l/_3um6pAaODJ1K
https://dl.doubtnut.com/l/_8S4PiulDTd8e
https://dl.doubtnut.com/l/_Ax16bMw22DO7


21. Why is the bond angle in  less than that in ?

Watch Video Solution

H2S H2O

22. Conc.  cannot be used for drying HBr/HI-why?

Watch Video Solution

H2SO4

23. Sulphur exhibits +4 as well as +6 oxidation states but

oxygen exhibits none-explain.

Watch Video Solution

https://dl.doubtnut.com/l/_Ax16bMw22DO7
https://dl.doubtnut.com/l/_NS1E05LgmHuP
https://dl.doubtnut.com/l/_Wrx6ASYxyOZU
https://dl.doubtnut.com/l/_n9wFH8KHCllh


24. How can you prepare dilute  concentrated  in

the laboratory?

Watch Video Solution

H2SO4 H2SO4

25. Which out of  and  will undergo hydrolysis at a

faster rate and why?

Watch Video Solution

SF6 TeF6

26.  and  cannot be dried by passing it through conc. 

 - why?

Watch Video Solution

H2S H2

H2SO4

https://dl.doubtnut.com/l/_QQBZkw72kHNe
https://dl.doubtnut.com/l/_VszHUzJQQux4
https://dl.doubtnut.com/l/_yOeyCc83hf2N


27. Why is-ozone used for purifying air in crowded places like

cinema halls, underground railway stations, tunnels, slaughter

houses?

Watch Video Solution

28. How can  be measured quantitatively?

View Text Solution

O3

29. Explain why the bond dissociation enthalpy of  is less

than that of .

Watch Video Solution

F2

Cl2

https://dl.doubtnut.com/l/_fj9VHmkRTgBp
https://dl.doubtnut.com/l/_92LudFfn0g2u
https://dl.doubtnut.com/l/_cVpyDnoxsU3N


30. Why do chlorine, bromine and iodine exhibit +3, +5 and +7

oxidation states in addition to - 1 and +1 oxidation tes?

Watch Video Solution

31. Fluorine cannot be prepared by chemical oxidation of 

ion-explain.

View Text Solution

F −

32. It is not possible to prepare HI by the action of conc. 

on KI. Explain.

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_0ZT1gUxpUdTA
https://dl.doubtnut.com/l/_V2gVFEF6zUyo
https://dl.doubtnut.com/l/_TH8PBEn4uidZ


33. State,with equation, what happens when  reacts with

cold NaOH solution.

Watch Video Solution

Cl2

34. HF is a weaker acid than HI, even though fluorine is more

electronegative than iodine-explain.

Watch Video Solution

35.  exists but  does not-why?

Watch Video Solution

IF7 BrF7

https://dl.doubtnut.com/l/_DLUPBWtChVnl
https://dl.doubtnut.com/l/_KqBm39fUeLqV
https://dl.doubtnut.com/l/_2snR3FgGT7ur


36. Explain why the negative electron gain enthalpy is less for

fluorine than for chlorine.

Watch Video Solution

37. Arrange the oxoacids of chlorine in the order of increasing

acidic strength and explain the orders.

Watch Video Solution

38. Arrange the oxoacids of chlorine in the order of increasing

oxidising power and explain the orders.

Watch Video Solution

https://dl.doubtnut.com/l/_hd9MyY66L66X
https://dl.doubtnut.com/l/_0kz9SzMz5Y1R
https://dl.doubtnut.com/l/_DWg8f5e9f3wm


39. What do you mean by pseudo halide ions and pseudo

halogens? Give examples.

Watch Video Solution

40. Identify the interhalogen compound with which  ion

is isoelectronic. Does it behave as a Lewis acid?

Watch Video Solution

ClO−

41. ICI is more reactive than  -why?

Watch Video Solution

I2

42. Explain the bent T-shaped structure of .CIF3

https://dl.doubtnut.com/l/_vdltW6snwmon
https://dl.doubtnut.com/l/_tgUnbDyti76O
https://dl.doubtnut.com/l/_GTCum6xrSSGP
https://dl.doubtnut.com/l/_m8LHY7C4XEm2


Watch Video Solution

43. Iodine forms  but fluorine does not form  -why?

Watch Video Solution

I −
3 F −

3

44. Arrange HOI, HOCl, HOBr in the order of increasing acidic

strength. Justify your answer.

Watch Video Solution

45. With the help of a reaction show that the reactivity of

halogens decreases down the group from F to I.

Watch Video Solution

https://dl.doubtnut.com/l/_m8LHY7C4XEm2
https://dl.doubtnut.com/l/_web8LhKHw6js
https://dl.doubtnut.com/l/_lpfbkZySveqd
https://dl.doubtnut.com/l/_JpUb3NHCFTg1
https://dl.doubtnut.com/l/_5tpzLWVfAcz6


46. Perchloric acid is a stronger acid than sulphuric acid.

Explain.

Watch Video Solution

47. State, with equations, what happens when: 

Xenon reacts with excess of  at 673K under a pressure of 1

bar.

Watch Video Solution

F2

48. State, with equations, what happens when: 

 reacts with KI.

Watch Video Solution

XeF4

https://dl.doubtnut.com/l/_5tpzLWVfAcz6
https://dl.doubtnut.com/l/_e3lujH6fC8U0
https://dl.doubtnut.com/l/_fyF2CvOGGon9
https://dl.doubtnut.com/l/_0WHLGh0yBGsF


49. State, with equations, what happens when: 

 is kept in a glass bottle.

Watch Video Solution

XeOF4

50. State, with equations, what happens when: 

 reacts with iodobenzene.

Watch Video Solution

XeF2

51. State, with equations, what happens when: 

 is hydrolysed.

Watch Video Solution

XeF6

https://dl.doubtnut.com/l/_0WHLGh0yBGsF
https://dl.doubtnut.com/l/_zaAe06Vlrjh4
https://dl.doubtnut.com/l/_TagLYHW63H9Y


52. State, with equations, what happens when: 

Concentrated  is added to barium perxenate.

Watch Video Solution

H2SO4

53. State, with equations, what happens when: 

Xenon tetrafluoride reacts with 

Watch Video Solution

SbF5

54. State, with equations, what happens when: 

Xenon difluoride reacts with 

Watch Video Solution

PF5

https://dl.doubtnut.com/l/_wWIkpXudkhOP
https://dl.doubtnut.com/l/_mfRwIYKb8ScY
https://dl.doubtnut.com/l/_HQtFVC5tef1C


55. State, with equations, what happens when: 

 gas is passed through an aqueous solution of potassium

bromate.

Watch Video Solution

XeF2

56. State, with equations, what happens when: 

 is reduced with .

Watch Video Solution

XeOF4 H2

57. Why is the group to which the noble gases belong termed as

zero group?

Watch Video Solution

https://dl.doubtnut.com/l/_AtF4Wuf3jyjj
https://dl.doubtnut.com/l/_Exo51BwWjPLy
https://dl.doubtnut.com/l/_D2lCkm7Vl6DX
https://dl.doubtnut.com/l/_7nWO1OZJk35O


58. The atomic sizes of noble gases are by far the largest in

their respective periods-why?

Watch Video Solution

59. Most of the noble gas compounds are formed by xenon-

why?

View Text Solution

60. State, the equations, what happens when : 

Sodium azide is heated and the resulting gas is heated with

metallic Mg.

Watch Video Solution

https://dl.doubtnut.com/l/_7nWO1OZJk35O
https://dl.doubtnut.com/l/_WRp1Agu4DobY
https://dl.doubtnut.com/l/_2jj0bqcg5b7a
https://dl.doubtnut.com/l/_FOlixvxYbKFX


61. State, the equations, what happens when : 

Gaseous  is reacted with liquid  at 453-473K under a

pressure of 220 atmosphere.

Watch Video Solution

CO2 NH3

62. State, the equations, what happens when : 

Metallic copper is reacted with dilute .

Watch Video Solution

HNO3

63. State, the equations, what happens when : 

 is heated for a long time in the presence of  gas.

Watch Video Solution

BiCl5 Cl2

https://dl.doubtnut.com/l/_FOlixvxYbKFX
https://dl.doubtnut.com/l/_aMy49sINXbdR
https://dl.doubtnut.com/l/_2eJmc52cSSIF
https://dl.doubtnut.com/l/_sdIb8FxSjhpg


64. State, the equations, what happens when : 

Ammonium dichromate is heated.

Watch Video Solution

65. State, the equations, what happens when : 

Benzene diazonium chloride is allowed to react with

hypophosphorus acid.

Watch Video Solution

66. State, the equations, what happens when : 

Orthophosphoric acid is heated.

Watch Video Solution

https://dl.doubtnut.com/l/_sdIb8FxSjhpg
https://dl.doubtnut.com/l/_iOYlhw2rnGis
https://dl.doubtnut.com/l/_o8oM8gj00J6I
https://dl.doubtnut.com/l/_DW6BfyK1GBfP


67. State, the equations, what happens when : 

 gas is allowed to pass through  solution.

Watch Video Solution

PH3 CuSO4

68. State, the equations, what happens when : 

Metallic Ca is reacted with  and the resulting compound is

heated with water.

Watch Video Solution

P4

69. What happens when NaOH reacts with Phosphorous ?

Watch Video Solution

https://dl.doubtnut.com/l/_DW6BfyK1GBfP
https://dl.doubtnut.com/l/_Snnm6Zv4FOtr
https://dl.doubtnut.com/l/_y4WvaoadVC3K


70. State, the equations, what happens when : 

A freshly prepared solution of  is added to the aqueous

solution of  and then conc.  is added to the

mixture dropwise along the walls of the test tube.

Watch Video Solution

FeSO4

NaNO3 H2SO4

71. State, the equations, what happens when : 

Excess of ammonia solution is gradually added to a solution of

Watch Video Solution

CuSO4

72. An aqueous solution of a gas (X) -turns red litmus blue.

When excess of this solution is added to copper sulphate

https://dl.doubtnut.com/l/_iDqak8OtcBFk
https://dl.doubtnut.com/l/_gQ4zv9w7Fzqz
https://dl.doubtnut.com/l/_zagI9AcUNFOC


solution, it turns deep blue. When this solution is added to

 solution, a brownish precipitate soluble in  is

obtained. Identify the gas (X) and write balanced equations for

each of the reaction involved.

Watch Video Solution

FeCl3 HNO3

73. Identify: Two metals which react with  to give .

Watch Video Solution

HNO3 H2

74. Identify: An organic compound which reacts with  to

form an explosive.

Watch Video Solution

HNO3

https://dl.doubtnut.com/l/_zagI9AcUNFOC
https://dl.doubtnut.com/l/_jRygzlqOSrbR
https://dl.doubtnut.com/l/_YzuCba4imFDe


75. Identify: A nitrogen containing gas which produces hysteric

laughter.

Watch Video Solution

76. Identify: An water insoluble nitrate.

View Text Solution

77. Identify: An oxoacid of P which possesses strong reducing

property.

Watch Video Solution

78. Identify: Gr-15 hydride which has highest boiling point.

https://dl.doubtnut.com/l/_MwC7jtw6EIFC
https://dl.doubtnut.com/l/_uaBvuWRVTagD
https://dl.doubtnut.com/l/_Bder2RFghSOR
https://dl.doubtnut.com/l/_ShptsHRELFZ6


Watch Video Solution

79. Identify: A nitrogen trihalide which does not undergo

hydrolysis.

Watch Video Solution

80. Identify: A metal which dissolves in aqua regia.

Watch Video Solution

81. Identify: A tetrabasic oxoacid of P in which its oxidation state

is +4.

Watch Video Solution

https://dl.doubtnut.com/l/_ShptsHRELFZ6
https://dl.doubtnut.com/l/_lL0wtmOWfmxR
https://dl.doubtnut.com/l/_UfNv9Q8C36Ca
https://dl.doubtnut.com/l/_CAXVvwUhpkGx
https://dl.doubtnut.com/l/_uF2Tb0mk3DLp


82. Identify: An oxide of nitrogen which reacts with water to

produce two acids.

Watch Video Solution

83. P reacts with  to form two types of halides (A and B). The

halide A is a yellowish-white powder and the halide B is a

colourless oily Iiquid. ldentify A and B and predict the products

obtained on their hydrolysis.

Watch Video Solution

Cl2

84. State, with equations, what happens when Carbon

disulphide is burnt in dioxygen.

Watch Video Solution

https://dl.doubtnut.com/l/_uF2Tb0mk3DLp
https://dl.doubtnut.com/l/_OKYcNLuc1ETC
https://dl.doubtnut.com/l/_ToQl7DKAvMK5


85. State, with equations, what happens when Acetylene is

burnt in air.

Watch Video Solution

86. State, with equations, what happens when Dilute HCI is

added to .

Watch Video Solution

Al2O3

87. State, with equations, what happens when  gas is passed

through an aqueous solution of Kl.

Watch Video Solution

O3

https://dl.doubtnut.com/l/_ToQl7DKAvMK5
https://dl.doubtnut.com/l/_dcSKThVZGFZ8
https://dl.doubtnut.com/l/_9aK80rUc7A1d
https://dl.doubtnut.com/l/_ayCDo9DlqNCv
https://dl.doubtnut.com/l/_m20zLkx0qjnt


88. State, with equations, what happens when Ozone is allowed

to react with moist phosphorus.

Watch Video Solution

89. State, with equations, what happens when  is allowed

to react with  in the presence of conc. HCl.

Watch Video Solution

SnCl2

O3

90. State, with equations, what happens when  gas is

passed through an orange coloured  solution acidifed

with .

Watch Video Solution

SO2

K2Cr2O7

H2SO4

https://dl.doubtnut.com/l/_m20zLkx0qjnt
https://dl.doubtnut.com/l/_G7uCv0PP7pJJ
https://dl.doubtnut.com/l/_VjGFDi0XdcSm
https://dl.doubtnut.com/l/_nmvWHpBmlplC


91. State, with equations, what happens when  gas is

passed through an aqueous solution of .

Watch Video Solution

SO2

FeCl3

92. State, with equations, what happens when  gas is

allowed to react with phosphorus pentachloride.

Watch Video Solution

SO2

93. State, with equations, what happens when  gas is

passed through conc. .

Watch Video Solution

SO3

H2SO4

https://dl.doubtnut.com/l/_nmvWHpBmlplC
https://dl.doubtnut.com/l/_vxh1YhbTBGlR
https://dl.doubtnut.com/l/_S5f1OP3jwAkU


94. Concentrated  is added to each of the five test tubes

containing (i) NaBr, (ii) sugar, (iii) sulphur powder, (iv) KCl and

(v) copper turnings. The test tubes are then heated. Identify in

which of the test tubes the following changes will be observed.

The observations are: evolution of a colourless gas. 

Support your answer with the help of a chemical equation in

this case.

View Text Solution

H2SO4

95. Concentrated  is added to each of the five test tubes

containing (i) NaBr, (ii) sugar, (iii) sulphur powder, (iv) KCl and

(v) copper turnings. The test tubes are then heated. Identify in

which of the test tubes the following changes will be observed.

The observations are: evolution of a brown gas. 

H2SO4

https://dl.doubtnut.com/l/_K6syRgdPOhLh
https://dl.doubtnut.com/l/_ekKqL2CvVvlB


Support your answer with the help of a chemical equation in

this case.

View Text Solution

96. Concentrated  is added to each of the five test tubes

containing (i) NaBr, (ii) sugar, (iii) sulphur powder, (iv) KCl and

(v) copper turnings. The test tubes are then heated. Identify in

which of the test tubes the following changes will be observed.

The observations are: formation of a black substance. 

Support your answer with the help of a chemical equation in

this case.

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_ekKqL2CvVvlB
https://dl.doubtnut.com/l/_YBckksTmPaCW


97. Concentrated  is added to each of the five test tubes

containing (i) NaBr, (ii) sugar, (iii) sulphur powder, (iv) KCl and

(v) copper turnings. The test tubes are then heated. Identify in

which of the test tubes the following changes will be observed.

The observations are: disappearance of yellow powder along

with liberation of a pungent colourless gas. 

Support your answer with the help of a chemical equation in

this case.

Watch Video Solution

H2SO4

98. Concentrated  is added to each of the five test tubes

containing (i) NaBr, (ii) sugar, (iii) sulphur powder, (iv) KCl and

(v) copper turnings. The test tubes are then heated. Identify in

which of the test tubes the following changes will be observed.

The observations are: formation of a brown substance which on

H2SO4

https://dl.doubtnut.com/l/_QWPn8hpJurHV
https://dl.doubtnut.com/l/_AIn9HCqX54zD


dilution becomes blue. 

Support your answer with the help of a chemical equation in

this case.

Watch Video Solution

99. An aqueous solution of a gas 'A ' gives the following

reactions along with same observations: 

It decolorises pink coloured acidified  solution.

Watch Video Solution

KMnO4

100. An aqueous solution of a gas 'A ' gives the following

reactions along with same observations: 

When the solution is boiled with  , cooled and an aqueousH2O2

https://dl.doubtnut.com/l/_AIn9HCqX54zD
https://dl.doubtnut.com/l/_ns0XNi4enLc5
https://dl.doubtnut.com/l/_oANufhVPqsUe


solution of  is added to the mixture, a white precipitate

insoluble in dilute HCl is obtained.

Watch Video Solution

BaCl2

101. An aqueous solution of a gas 'A ' gives the following

reactions along with same observations: 

When  is passed through the solution, it becomes turbid.

Identify the gas 'A' , and give equation of the reaction involved

in each case.

Watch Video Solution

H2S

102. A pale yellow substance (A), when heated with conc. 

, produces a brown gas (B).

Watch Video Solution

HNO3

https://dl.doubtnut.com/l/_oANufhVPqsUe
https://dl.doubtnut.com/l/_BgCAu2gwonCo
https://dl.doubtnut.com/l/_KUec8oFZNCjv


103. (A)dissolves in sodium sulphite  solution on

heating and a clear solution of compound ( C) is formed.

Watch Video Solution

(Na2SO3)

104. This solution on acidification becomes turbid and a

pungent smelling gas (D) is formed. (D) is also formed by

burning (A) in air.

Watch Video Solution

105. Decolorises iodine solution. Identify (A) to (D) and give the

reaction involved in each case.

View Text Solution

https://dl.doubtnut.com/l/_KUec8oFZNCjv
https://dl.doubtnut.com/l/_F7HFbfr9iZEf
https://dl.doubtnut.com/l/_jwO3m1yJVtNR
https://dl.doubtnut.com/l/_1s5E5CPSHU0W


106. Gradual addition of KI solution to  solution

initially produces a dark brown precipitate which dissolves in

excess of KI to give a clear yellow solution. Write the chemical

equations for the above reactions.

Watch Video Solution

Bi(NO3)3

107. A liquid A is treated with  solution. A mixture of

two salts B and C are produced in the solution. The mixture on

acidification with  and distillation produces the liquid A

again. Identify A, B and C and write the equations involved.

Watch Video Solution

Na2CO3

H2SO4

https://dl.doubtnut.com/l/_1s5E5CPSHU0W
https://dl.doubtnut.com/l/_F6C8Foc05xm0
https://dl.doubtnut.com/l/_mLrnyijJytkk


108. Identify the halogen (F, Cl, Br or I). 

which has the lowest ionisation enthalpy,

Watch Video Solution

109. Identify the halogen (F, Cl, Br or I). 

which is the strongest oxidising agent,

Watch Video Solution

110. Identify the halogen (F, Cl, Br or I). 

which has the highest electronegativity,

Watch Video Solution

https://dl.doubtnut.com/l/_2DnTDOE55C6R
https://dl.doubtnut.com/l/_2ECdH6po5sJW
https://dl.doubtnut.com/l/_zfy7KuKjP7le


111. Identify the halogen (F, Cl, Br or I)

which has the highest ionisation enthalpy,

Watch Video Solution

112. Identify the halogen (F, Cl, Br or I) 

which has the highest negative electron gain enthalpy

Watch Video Solution

113. Identify the halogen (F, Cl, Br or I) 

which is a liquid at ordinary temperature

Watch Video Solution

https://dl.doubtnut.com/l/_XvYHIW73K1d8
https://dl.doubtnut.com/l/_3iZ4olLKAHvt
https://dl.doubtnut.com/l/_78Kdm1QvKCwg


114. Identify the halogen (F, Cl, Br or I) 

which forms a hydrogen halide which is a low boiling liquid.

Watch Video Solution

115. Arrange the hydrogen halides in the increasing order of 

dipole moment.

Watch Video Solution

116. Arrange the hydrogen halides in the increasing order of 

thermal stability

Watch Video Solution

https://dl.doubtnut.com/l/_ZFppwcf85YzE
https://dl.doubtnut.com/l/_SjmkNY6JfwuF
https://dl.doubtnut.com/l/_HHLWeMCoYeyH


117. Arrange the hydrogen halides in the increasing order of 

reducing power

Watch Video Solution

118. Arrange the hydrogen halides in the increasing order of 

bond length

Watch Video Solution

119. Arrange the hydrogen halides in the increasing order of 

ionic character.

Watch Video Solution

https://dl.doubtnut.com/l/_DKO432kRl4FI
https://dl.doubtnut.com/l/_zQlFgwmlcHXh
https://dl.doubtnut.com/l/_xwvGbczriS54


120. State, with equations, what happens when : 

Fluorine is allowed to react with water at ordinary temperature.

Watch Video Solution

121. State, with equations, what happens when : 

An acidified KI solution is kept in open air.

Watch Video Solution

122. State, with equations, what happens when : 

Concentrated  is added to NaI.

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_ROvUwNzI5IEu
https://dl.doubtnut.com/l/_TVq5ip9NzkUs
https://dl.doubtnut.com/l/_441tIdabrRNU


123. State, with equations, what happens when : 

A mixture of  and hydrazine is heated at 573K.

Watch Video Solution

I2

124. State, with equations, what happens when : 

 gas is allowed to pass through a dilute (2%) solution of

NaOH.

Watch Video Solution

F2

125. State, with equations, what happens when : 

A mixture of sodium chlorate and oxalic acid is heated at 363K

Watch Video Solution

https://dl.doubtnut.com/l/_0hEQJ1EbKwuF
https://dl.doubtnut.com/l/_5hGOhcXbQCTc
https://dl.doubtnut.com/l/_xEdyjzGcuBmJ
https://dl.doubtnut.com/l/_RucIIvsqX3RV


126. State, with equations, what happens when : 

Chlorine is allowed to react with dry slaked lime at 313K.

Watch Video Solution

127. State, with equations, what happens when : 

A mixture of KI and  is heated at 625K.

Watch Video Solution

F2

128. State, with equations, what happens when : 

 is hydrolysed.

Watch Video Solution

BrF5

https://dl.doubtnut.com/l/_RucIIvsqX3RV
https://dl.doubtnut.com/l/_HBCoguNUx4rw
https://dl.doubtnut.com/l/_7pCtbR4urQHA


129. State, with equations, what happens when : 

Fused ICI is electrolysed.

Watch Video Solution

130. State, with equations, what happens when : 

 is heated with concentrated HCl.

Watch Video Solution

K2Cr2O7

131. State, with equations, what happens when : 

 is treated with  .

Watch Video Solution

UO2 BrF3

https://dl.doubtnut.com/l/_WWizrYsCPIe5
https://dl.doubtnut.com/l/_YoMvZP6i4vX1
https://dl.doubtnut.com/l/_lMeHvi7Nydj9


SLOVED WBCHSE SCANNER

1. On what condition does chlorine bleach coloured materials by

oxidation?

Watch Video Solution

2. Arrange aqueous solutions of hydracids of halogen in

descending order of their acidity.

Watch Video Solution

3. Why fluorine does not form any oxyacid?

Watch Video Solution

https://dl.doubtnut.com/l/_IBV5e8bYaiCk
https://dl.doubtnut.com/l/_tb0nnlZBNIoW
https://dl.doubtnut.com/l/_Q2cangxPqEKs
https://dl.doubtnut.com/l/_0j5rUUYKsS6W


4. Why HI and HBr cannot be prepared by adding conc. 

to their corresponding halide salts?

Watch Video Solution

H2SO4

5. Write with balanced equation what happens when. : 

copper pyrites is heated in air and the produced gas is passed

through aqueous solution of bromine.

Watch Video Solution

6. Write with balanced equation what happens when. : 

Nitric acid vapour is passed over heated copper metal.

Watch Video Solution

https://dl.doubtnut.com/l/_0j5rUUYKsS6W
https://dl.doubtnut.com/l/_JFKsIfW5ICoq
https://dl.doubtnut.com/l/_cFnTDXN5pK0V
https://dl.doubtnut.com/l/_KedxGIyuOnAu


7. Write with balanced equation what happens when. : 

Calcium metal is dissolved in liquid ammonia and is evaporated.

Watch Video Solution

8. Balance the equation: 

Watch Video Solution

Na2O2 + Cl2O2 →

9. Write with balanced equation what happens when potassium

iodide solution is added to an aqueous solution of copper

sulphate.

Watch Video Solution

https://dl.doubtnut.com/l/_KedxGIyuOnAu
https://dl.doubtnut.com/l/_CJ5qWLQ3xOH5
https://dl.doubtnut.com/l/_2XW4GO7MuOWp


10. Indicate the type to which the following reaction belongs:

A. oxidation reaction

B. reduction reaction

C. disproportionation reaction

D. decomposition reaction

Answer: C

Watch Video Solution

4ClO−
3 (aq) → ClO

−
4 (aq) + Cl− (aq)

11. Fluorine is a strong oxidising agent than chlorine, even

though its negative electron gain enthalpy is less than chlorine.

Explain.

W t h Vid S l ti

https://dl.doubtnut.com/l/_o3s5s48NwqEL
https://dl.doubtnut.com/l/_jR72YNfCBogE


Watch Video Solution

12. Which one between  and  molecules is more polar?

Explain.

Watch Video Solution

N2O NO2

13. What is the hybridization state of xenon in . What is

the shape of this molecule?

Watch Video Solution

XeOF4

14. Which of the following gases has odour but no colour-

A. 

B. 

NO2

SO2

https://dl.doubtnut.com/l/_jR72YNfCBogE
https://dl.doubtnut.com/l/_XjCkNO0nY3Yf
https://dl.doubtnut.com/l/_df5VP530pU8i
https://dl.doubtnut.com/l/_rttgiJ2dcUl7


C. 

D. 

Answer: B

Watch Video Solution

N2

Cl2

15. First ionisation enthalpies of group-15 elements are, in

general, greater than those of group-16 elements- explain.

Watch Video Solution

16. State with balanced chemical equation what happens when

sulphur trioxide gas is passed through conc. Sulphuric acid.

Watch Video Solution

https://dl.doubtnut.com/l/_rttgiJ2dcUl7
https://dl.doubtnut.com/l/_QDTgha7vWvP0
https://dl.doubtnut.com/l/_Bz9TB2VAGoLT


17. Explain why moist chlorine can bleach dry coloured articles

but dry chlorine cannot.

Watch Video Solution

18. Write down the structure of  and state with reason

whether it is polar or non-polar.

Watch Video Solution

SO2

19. Write down the name and formula of the stable

paramagnetic allotrope among the allotropes of oxygen and

sulphur.

Watch Video Solution

https://dl.doubtnut.com/l/_vdCR5kAEVVrF
https://dl.doubtnut.com/l/_IEomGmOswrdr
https://dl.doubtnut.com/l/_vRLEdNKePL8F
https://dl.doubtnut.com/l/_JnNahlRnXylR


20. What is the formula of the oxide formed on burning

potassium in oxygen-

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

K2O

K2O2

KO2

K4O2

21. How will you distinguish chemically between  and 

?

Watch Video Solution

HN3 NH3

https://dl.doubtnut.com/l/_JnNahlRnXylR
https://dl.doubtnut.com/l/_RzMuI3MjCpVd


22. Write down the balanced chemical equation for the reaction

of  with aqueous solution of  and write the roles,

(oxidant/reductant) of the reactants in the reaction.

Watch Video Solution

H2S SO2

23. How does  undergo hydrolysis?

Watch Video Solution

PCl3

24. Write with balanced chemical equation, what happens when

chlorine gas is passed through hot concentrated KOH solution.

Watch Video Solution

https://dl.doubtnut.com/l/_X3woCVmxRr7T
https://dl.doubtnut.com/l/_6mrR0Y5Gbz8b
https://dl.doubtnut.com/l/_UyU9kMuRnXa3


25. Write the thermal stability order of hydrogen halides.

Watch Video Solution

26. Which of the following is required to liberate bromine from

aqueous solution of HBr -

A. 

B. 

C. 

D. 

Watch Video Solution

Cl2

N2

CO2

I2

https://dl.doubtnut.com/l/_0NoCql6iWgsz
https://dl.doubtnut.com/l/_HfRAo8uBdSdp


27. Write with balanced chemical equation, what happens when

chlorine gas is passed into aqueous solution of sulphur dioxide.

Watch Video Solution

28. Write with balanced chemical equation, what happens when

white phosphorus Is boiled with caustic soda solution.

Watch Video Solution

29. Why helium does not form any compound?

Watch Video Solution

https://dl.doubtnut.com/l/_4Cb9BgQugfan
https://dl.doubtnut.com/l/_HXUg7X9yf0If
https://dl.doubtnut.com/l/_zrfRh6hzvNlI


SOLVED CBSE SCANNER

30. Give an example of mixed oxide. Why is it called mixed

oxide?

Watch Video Solution

31. Draw the structure of ?

Watch Video Solution

H2SO3

1. Which one of  &  is not likely to exist, why?

Watch Video Solution

PCl
+
4 PCl

−
4

https://dl.doubtnut.com/l/_bttklEzaf9QL
https://dl.doubtnut.com/l/_WCyegSyWq7lR
https://dl.doubtnut.com/l/_QBKZ8sjO5TCN


2. Explain the following giving an appropriate reason in each

case. 

 and  both stabilise higher oxidation states of metals but 

 exceeds  in doing so.

Watch Video Solution

O2 F2

O2 F2

3. Explain the following giving an appropriate reason in each

case. 

Structure of xenon fluorides cannot be explained by valence

bond approach.

Watch Video Solution

https://dl.doubtnut.com/l/_hda5khy4Urrc
https://dl.doubtnut.com/l/_FtjZ1Iqgpi9t


4. Complete the following chemical reactions: 

Watch Video Solution

P4 + SO2Cl2 →

5. Complete the following chemical reactions: 

Watch Video Solution

XeF2 + H2O →

6. Predict the shape and the asked angle (90° or more or less) in

each of the following cases: 

 and the angle O-S-O

Watch Video Solution

SO2 −
3

https://dl.doubtnut.com/l/_CESw6ZuKs95V
https://dl.doubtnut.com/l/_gCR1eZ8cECVX
https://dl.doubtnut.com/l/_ybTMXXRQha07
https://dl.doubtnut.com/l/_ATmwjWxYayKC


7. Predict the shape and the asked angle (90° or more or less) in

each of the following cases: 

 and the angle F-CI-F

Watch Video Solution

CIF3

8. Predict the shape and the asked angle (90° or more or less) in

each of the following cases: 

 and the angle F-Xe- F

Watch Video Solution

XeF2

9. Write structures of the following molecules: 

Watch Video Solution

H3PO2

https://dl.doubtnut.com/l/_ATmwjWxYayKC
https://dl.doubtnut.com/l/_OIoziIKQxdBL
https://dl.doubtnut.com/l/_wh9P8VArdgsH


10. Write structures of the following molecules: 

Watch Video Solution

H2S2O7

11. Write structures of the following molecules: 

Watch Video Solution

XeOF4

12. Complete the following chemical equations: 

NaOH(hot, conc.)+

Watch Video Solution

Cl2 →

https://dl.doubtnut.com/l/_wh9P8VArdgsH
https://dl.doubtnut.com/l/_omriZ1oVpN1Z
https://dl.doubtnut.com/l/_CnpijTyorJKz
https://dl.doubtnut.com/l/_VXpTieRdcdOJ
https://dl.doubtnut.com/l/_SdGI9vJMXYOg


13. Complete the following chemical equations: 

Watch Video Solution

XeF4 + O2F2 →

14. Why does  act as a Lewis base?

Watch Video Solution

NH3

15. Complete the following equations: 

Watch Video Solution

C + conc.H2SO4 →

https://dl.doubtnut.com/l/_SdGI9vJMXYOg
https://dl.doubtnut.com/l/_fw739YRc0Xlh
https://dl.doubtnut.com/l/_rmeTqNWGpi3h


16. Complete the following equations: 

Watch Video Solution

XeF2 + H2O →

17. Draw the structures: 

Watch Video Solution

XeO3

18. Draw the structures: 

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_J8nRezcFKYTW
https://dl.doubtnut.com/l/_0xuP1HQkfXIc
https://dl.doubtnut.com/l/_Cwb1L2DBjQ94


19. Give reasons for the following: 

 exists but  does not.

Watch Video Solution

(CH3)3P = O (CH3)3N = O

20. Give reasons for the following: 

Oxygen has less electron gain enthalpy with negative sign than

sulphur.

Watch Video Solution

21. Give reasons for the following: 

 is a stronger reducing agent than 

Watch Video Solution

H3PO2 H3PO3

https://dl.doubtnut.com/l/_a4w6ItytJ1M3
https://dl.doubtnut.com/l/_U1ufxTEK9CIX
https://dl.doubtnut.com/l/_oCwSQwirVZ7y
https://dl.doubtnut.com/l/_zvBtYAG7MwWZ


22. Draw the structures of the following: 

Watch Video Solution

H2SO4

23. Draw the structures of the following: 

Watch Video Solution

XeF2

24. Complete the following chemical reaction: 

 (dilute)

Watch Video Solution

Cu + HNO3 →

https://dl.doubtnut.com/l/_zvBtYAG7MwWZ
https://dl.doubtnut.com/l/_vzc4KGin589W
https://dl.doubtnut.com/l/_YixfGYW564UT


25. Complete the following chemical reaction: 

Watch Video Solution

P4 + NaOH + H2O →

26. Why does  exist but  does not? (R = alkyl

group)

Watch Video Solution

R3P = O R3N = O

27. Oxygen is gas whereas sulphur is solid at room temperature

.Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_rhAmw12a5zyx
https://dl.doubtnut.com/l/_qdeCtzCqi5q6
https://dl.doubtnut.com/l/_xQnN15AAOf0S


28. Write balanced equations for the following reactions: 

Chlorine reacts with dry slaked lime.

Watch Video Solution

29. Write balanced equations for the following reactions: 

Carbon reacts with concentrated 

Watch Video Solution

H2SO4

30. Describe the contact process for the manufacture of

sulphuric acid with special reference to the reaction conditions,

catalyst used and the yield in the process.

Watch Video Solution

https://dl.doubtnut.com/l/_6iGx5t25ID8x
https://dl.doubtnut.com/l/_gsi3XSy8zKgD
https://dl.doubtnut.com/l/_OoD7U0pu9NlT
https://dl.doubtnut.com/l/_DXGlqbZoK9KI


31. Explain the following: 

Nitrogen is much less reactive than phosphorus.

Watch Video Solution

32. Explain the following: 

 is an exothermic compound but  is an endothermic

compound.

Watch Video Solution

NF3 NCl3

33. Elements of gr-16 generally show lower value of first

ionisation enthalpy compared to the corresponding periods of

gr-15. Why?

Watch Video Solution

https://dl.doubtnut.com/l/_DXGlqbZoK9KI
https://dl.doubtnut.com/l/_BKmDWkLFBJAy
https://dl.doubtnut.com/l/_vyRJPG7tXKgM


34. What happens when- concentrated  is added to 

?

Watch Video Solution

H2SO4

CaF2

35. What happens when- sulphur dioxide reacts with chlorine in

the presence of charcoal?

Watch Video Solution

36. What happens when- ammonium chloride is treated with

 ?

Watch Video Solution

Ca(OH)2

https://dl.doubtnut.com/l/_vyRJPG7tXKgM
https://dl.doubtnut.com/l/_mCmmXU8oLyKm
https://dl.doubtnut.com/l/_URFQQWHSZ1fC
https://dl.doubtnut.com/l/_GPCTfD9K5hNr
https://dl.doubtnut.com/l/_sYEhyNAAKX5g


37. Draw the structure of the following: 

Watch Video Solution

BrF3

38. Draw the structure of the following: 

Watch Video Solution

XeO3

39. Answer the following: 

Why is  more basic than  ?

Watch Video Solution

NH3 PH3

https://dl.doubtnut.com/l/_sYEhyNAAKX5g
https://dl.doubtnut.com/l/_ZvJrPItguUCG
https://dl.doubtnut.com/l/_O9ObLEey5SiT


40. Answer the following: 

Why are halogens strong oxidising agents?

Watch Video Solution

41. Answer the following: 

Draw the structure of .

Watch Video Solution

XeOF4

42. Account for the following: 

Ozone is thermodynamically unstable.

Watch Video Solution

https://dl.doubtnut.com/l/_QPjbmX4CXzVJ
https://dl.doubtnut.com/l/_IjQxeaLpFwjJ
https://dl.doubtnut.com/l/_D3TNFk2JhLtF


43. Account for the following: 

Solid  is ionic in nature.

Watch Video Solution

PCl5

44. Account for the following: 

Fluorine forms only one oxoacid HOF.

Watch Video Solution

45. Draw the structure of- 

Watch Video Solution

BrF5

46. Draw the structure of- XeF4

https://dl.doubtnut.com/l/_gzQBHDofqcON
https://dl.doubtnut.com/l/_hwd0Isj5I2S4
https://dl.doubtnut.com/l/_7hWMxRs26cyM
https://dl.doubtnut.com/l/_w8SYFTlsNOuh


Watch Video Solution

47. Compare the oxidising action of  and  by considering

parameters such as bond dissociation enthalpy, electron gain

enthalpy and hydration enthalpy.

Watch Video Solution

F2 Cl2

48. Write the conditions to maximise the yield of  by

contact process.

Watch Video Solution

H2SO4

49. Arrange the following in the increasing order of property

mentioned: 

https://dl.doubtnut.com/l/_w8SYFTlsNOuh
https://dl.doubtnut.com/l/_MFrxju44h0yl
https://dl.doubtnut.com/l/_UAPsBYa5gp0a
https://dl.doubtnut.com/l/_xIFWC6TsrvL8


 (reducing character)

Watch Video Solution

H3PO3, H3PO4, H3PO2

50. Arrange the following in the increasing order of property

mentioned: 

 (base strength)

Watch Video Solution

NH3, PH3, AsH3, SbH3, BiH3

51. Write the structures of the following molecules: 

Watch Video Solution

H2S2O8

https://dl.doubtnut.com/l/_xIFWC6TsrvL8
https://dl.doubtnut.com/l/_qSvsM9rPCq79
https://dl.doubtnut.com/l/_s5SEmUsPBqPu


52. Write the structures of the following molecules: 

Watch Video Solution

XeF6

53. Give reasons: 

Red phosphorus is less reactive than white phosphorus.

Watch Video Solution

54. Give reasons: 

Sulphur shows greater tendency for catenation than oxygen.

Watch Video Solution

https://dl.doubtnut.com/l/_4l1s0BuHOv3u
https://dl.doubtnut.com/l/_56ayNNNZ2Pry
https://dl.doubtnut.com/l/_pNdVr73rr60U


55. Give reasons: 

 is known but  is not known.

Watch Video Solution

CIF3 FCl3

56. Complete the following reactions: 

(excess)

Watch Video Solution

NH3 + 3Cl2 →

57. Complete the following reactions: 

Watch Video Solution

XeF6 + 2H2O →

https://dl.doubtnut.com/l/_PTZTe8eZY8s1
https://dl.doubtnut.com/l/_Zr4Z4L2zDL89
https://dl.doubtnut.com/l/_sACekUmFllVF


58. What happens when-  is heated? 


Write the equations.

Watch Video Solution

(NH4)2Cr2O7

59. What happens when-  is heated? 


Write the equations.

Watch Video Solution

H3PO3

60. Draw the structures of the following: 

Watch Video Solution

H2S2O7

https://dl.doubtnut.com/l/_N22C3T5tcRiD
https://dl.doubtnut.com/l/_yrELsXTTAxik
https://dl.doubtnut.com/l/_x1Uw4hzTRPK6


61. Draw the structures of the following: 

Watch Video Solution

XeF6

62. Give reasons: 

Thermal stability decreases from  to  Te.

Watch Video Solution

H2O H2

63. Give reasons: 

Fluoride ion has higher hydration enthalpy than chloride ion.

Watch Video Solution

https://dl.doubtnut.com/l/_qskf6h1YPj9i
https://dl.doubtnut.com/l/_7KUunbOyb6zd
https://dl.doubtnut.com/l/_nbeC3ZQgCZcV


64. Give reasons: 

Nitrogen does not form pentahalide.

Watch Video Solution

65. Draw the structures of the following: 

Watch Video Solution

H3PO2

66. Draw the structures of the following: 

Watch Video Solution

XeF4

https://dl.doubtnut.com/l/_rk0lvuGBqcoh
https://dl.doubtnut.com/l/_a4buwCXjPQB1
https://dl.doubtnut.com/l/_qVb7wK0HSis0


67. Complete the following reaction : 

Watch Video Solution

Cl2 + H2O →

68. Complete the following reactions: 

Watch Video Solution

XeF6 + 3H2O →

69. What happens when- 

conc.  is added to Cu ? 


Write the equations.

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_xV6b7bGLt9pI
https://dl.doubtnut.com/l/_XfrHt17Rmbso
https://dl.doubtnut.com/l/_CHpO0IStlxTk
https://dl.doubtnut.com/l/_RhJyLsOjszi1


70. What happens when- 

 is passed through water? 


Write the equations.

Watch Video Solution

SO3

71. Draw the structures of the following: 

Watch Video Solution

H4P2O7

72. Draw the structures of the following: 

Watch Video Solution

XeOF4

https://dl.doubtnut.com/l/_RhJyLsOjszi1
https://dl.doubtnut.com/l/_l9YD4LJVNWMI
https://dl.doubtnut.com/l/_hRWNOCI6MtkV
https://dl.doubtnut.com/l/_slbgWNot6wds


73. Complete the following chemical equations: 

Watch Video Solution

F2 + 2Cl− →

74. Complete the following chemical equations: 

Watch Video Solution

2XeF2 + 2H2O →

75. What happens when- 

HCl is added to  ? 


Write the equations involved.

Watch Video Solution

MnO2

https://dl.doubtnut.com/l/_slbgWNot6wds
https://dl.doubtnut.com/l/_ccwxzNdiJ1fc
https://dl.doubtnut.com/l/_W4xjDAcwsh3x
https://dl.doubtnut.com/l/_hoPEVEGsr1j1


76. What happens when- 

 is heated? 


Write the equations involved.

Watch Video Solution

PCl5

77. Write the formula of the compound of phosphorus which is

obtained when conc.  oxidises .

Watch Video Solution

HNO3 P4

78. Draw the structures of the following: 

Watch Video Solution

H2SO3

https://dl.doubtnut.com/l/_hoPEVEGsr1j1
https://dl.doubtnut.com/l/_nC19avjWTkhQ
https://dl.doubtnut.com/l/_izuy2cOGrnJJ
https://dl.doubtnut.com/l/_dZpL4JQzrYXn


79. Draw the structures of the following: 

HClO_(3)`

Watch Video Solution

80. Give reasons for the following: 

Red phosphorus is less reactive than white phosphorus.

Watch Video Solution

81. Give reasons for the following: 

Electron gain enthalpies of halogens are largely negative.

Watch Video Solution

https://dl.doubtnut.com/l/_dZpL4JQzrYXn
https://dl.doubtnut.com/l/_XgLLCp5luwmQ
https://dl.doubtnut.com/l/_TXqZr40VF2oG


82. Give reasons for the following: 

 is more acidic than .

Watch Video Solution

N2O5 N2O3

83. Write the formula of the compound of sulphur which is

obtained when conc.  oxidises .

Watch Video Solution

HNO3 S8

84. Draw the structures of the following: 

Watch Video Solution

H2S2O8

https://dl.doubtnut.com/l/_YjMNnPDoy7ry
https://dl.doubtnut.com/l/_50NinALkZhnp
https://dl.doubtnut.com/l/_svYoVyzebSUl


85. Draw the structures of the following: 

Watch Video Solution

CIF3

86. Write the formula of the compound of iodine which is

obtained when conc.  oxidises .

Watch Video Solution

HNO3 I2

87. Draw the structures of the following: 

Watch Video Solution

XeF4

https://dl.doubtnut.com/l/_4zMc1o1TLhtI
https://dl.doubtnut.com/l/_ZKF5BM2Gn6oU
https://dl.doubtnut.com/l/_u7d2s1WVDlAz


88. Draw the structures of the following: 

Watch Video Solution

BrF5

89. Among the hydrides of Gr-15 elements, which have the

lowest boiling point?

Watch Video Solution

90. Among the hydrides of Gr-15 elements, which have the

maximum basic character?

Watch Video Solution

https://dl.doubtnut.com/l/_p89lgA0Ttc3T
https://dl.doubtnut.com/l/_QIfhMTCIcFrG
https://dl.doubtnut.com/l/_Db8uJWjrqEKm


91. Among the hydrides of Gr-15 elements, which have the

highest bond angle?

Watch Video Solution

92. Among the hydrides of Gr-15 elements, which have the

maximum reducing character?

Watch Video Solution

93. Give reasons: 

 undergoes disproportionation reaction, but 

does not.

Watch Video Solution

H3PO3 H3PO4

https://dl.doubtnut.com/l/_D1W5ebvB8nH8
https://dl.doubtnut.com/l/_YJhqeO1KWcBF
https://dl.doubtnut.com/l/_ahiHTPs9pqQT
https://dl.doubtnut.com/l/_oaXy0C525bsk


94. Give reasons: 

When  reacts with excess of  ,  is formed and not 

.

Watch Video Solution

Cl2 F2 ClF3

FCl3

95. Give reasons: 

Dioxygen is a gas while sulphur is a solid at room temperature.

Watch Video Solution

96. Draw the structures of the following: 

Watch Video Solution

XeF4

https://dl.doubtnut.com/l/_oaXy0C525bsk
https://dl.doubtnut.com/l/_bTWxwRuajGHp
https://dl.doubtnut.com/l/_kjxHrP3ReKFB
https://dl.doubtnut.com/l/_yC2sRg5AfTFt


97. Draw the structures of the following: 

Watch Video Solution

HClO3

98. When concentrated sulphuric acid was added to an

unknown salt present in a test tube a brown gas A was evolved.

This gas intensified when copper turnings were added to this

test tube. On cooling, gas A changed into a colourless solid B . 

Identify A and B.

Watch Video Solution

99. When concentrated sulphuric acid was added to an

unknown salt present in a test tube a brown gas A was evolved.

This gas intensified when copper turnings were added to this

https://dl.doubtnut.com/l/_yC2sRg5AfTFt
https://dl.doubtnut.com/l/_5DISyVUc2KpW
https://dl.doubtnut.com/l/_o1Pnr5auCCG3


test tube. On cooling, gas A changed into a colourless solid B . 

Write the structures of A and B .

Watch Video Solution

100. When concentrated sulphuric acid was added to an

unknown salt present in a test tube a brown gas A was evolved.

This gas intensified when copper turnings were added to this

test tube. On cooling, gas A changed into a colourless solid B . 

Why does gas A change to solid on cooling?

Watch Video Solution

101. Arrange the following in the decreuing ordeT of their

reducing character: HF, HCl, HBr, HI

Watch Video Solution

https://dl.doubtnut.com/l/_o1Pnr5auCCG3
https://dl.doubtnut.com/l/_YAK6dslurl1H
https://dl.doubtnut.com/l/_sNZIFGbLePAV


SOLVED NCERT TEXTBOOK PROBLEMS

102. Complete the following reaction: to

Watch Video Solution

XeF4 + SbF5

1. Though nitrogen exhibits +5 oxidation state it does not form

pentahalide. Give reason.

Watch Video Solution

2.  has lower boiling point than  . Why?

Watch Video Solution

PH3 NH3

https://dl.doubtnut.com/l/_sNZIFGbLePAV
https://dl.doubtnut.com/l/_MrQtDaz8XGyr
https://dl.doubtnut.com/l/_cDvnHQ24GMZJ
https://dl.doubtnut.com/l/_2a49YmMbXsMl
https://dl.doubtnut.com/l/_P5kpRfBHBE5j


3. Why are pentahalides more covalent than trihalides?

Watch Video Solution

4. Why is  the strongest reducing agent amongst all the

hydrides of Group-15 elements?

Watch Video Solution

BiH3

5. Write the reaction of thermal decomposition of sodium azide.

Watch Video Solution

6. Why is  less reactive at room temperature?

Watch Video Solution

N2

https://dl.doubtnut.com/l/_P5kpRfBHBE5j
https://dl.doubtnut.com/l/_DMeKjb2h8aie
https://dl.doubtnut.com/l/_P6QX8sb1ETJt
https://dl.doubtnut.com/l/_xdVu4yGM9Yan


7. Why does  act as a Lewis base?

Watch Video Solution

NH3

8. Mention the conditions requlred to maximise the yield of

ammonia.

Watch Video Solution

9. How does ammonia react with a solution of ?

Watch Video Solution

Cu2+

10. Why does  dimerise?NO2

https://dl.doubtnut.com/l/_xdVu4yGM9Yan
https://dl.doubtnut.com/l/_DPY7ILvEMJ9E
https://dl.doubtnut.com/l/_FD6sjp9LSQbq
https://dl.doubtnut.com/l/_tPJxprsGpJwL
https://dl.doubtnut.com/l/_recnHRKwIaBJ


Watch Video Solution

11. What is the covalence of nitrogen in  ?

Watch Video Solution

N2O5

12. In what way can it be proved that  is basic in nature?

Watch Video Solution

PH3

13. Bond angle in  is higher than that in . Why?

Watch Video Solution

PH
+

4 PH3

https://dl.doubtnut.com/l/_recnHRKwIaBJ
https://dl.doubtnut.com/l/_AN3Y9IroyIHf
https://dl.doubtnut.com/l/_ZVGss0pTLKvz
https://dl.doubtnut.com/l/_R425Lmuix6kV


14. What happens when white phosphorus is heated with

concentrated NaOH solution in an inert atmosphere of  ?

Watch Video Solution

CO2

15. Why does  fume in moisture?

Watch Video Solution

PCl3

16. Are all the five bonds in  molecule equivalent? Justify

your answer.

Watch Video Solution

PCl5

17. What happens when  is heated?PCl5

https://dl.doubtnut.com/l/_nX0M8TeSHgEa
https://dl.doubtnut.com/l/_UJfzaXA44G6F
https://dl.doubtnut.com/l/_0zoJ0zdQKxeB
https://dl.doubtnut.com/l/_FgVvmyOWmS2S


Watch Video Solution

18. Write a balanced equation for the hydrolytic reaction of

 in heavy water.

Watch Video Solution

PCl5

19. How do you account for the reducing behaviour of 

on the basis of its structure?

Watch Video Solution

H3PO2

20. What is the basicity of  ?

Watch Video Solution

H3PO4

https://dl.doubtnut.com/l/_FgVvmyOWmS2S
https://dl.doubtnut.com/l/_bEcYAlyrfAdE
https://dl.doubtnut.com/l/_faoOL8xQRujR
https://dl.doubtnut.com/l/_HP0d6nPrpDmr
https://dl.doubtnut.com/l/_16mas7UqlVT1


21. What happens when  is heated?

Watch Video Solution

H3PO3

22. Elements of group-16 generally show lower value of first

ionisation enthalpy compared to the corresponding periods of

group-15. Why?

Watch Video Solution

23.  less acidic than . Why?

Watch Video Solution

H2S H2Te

24. List the important sources of sulphur.

https://dl.doubtnut.com/l/_16mas7UqlVT1
https://dl.doubtnut.com/l/_5Uc2yCHlnXV3
https://dl.doubtnut.com/l/_VjCf5PQiYypH
https://dl.doubtnut.com/l/_msqs7tyumpa1


Watch Video Solution

25. Write the order of thermal stability of the hydrides of group-

16 elements.

Watch Video Solution

26. Why is  a liquid and  a gas?

Watch Video Solution

H2O H2S

27. Which of the following does not react with oxygen directly?

Zn, Ti, Pt, Fe

Watch Video Solution

https://dl.doubtnut.com/l/_msqs7tyumpa1
https://dl.doubtnut.com/l/_FNUNK9taJ6dR
https://dl.doubtnut.com/l/_0xvjathrZOGY
https://dl.doubtnut.com/l/_v9hlFbnhSRim
https://dl.doubtnut.com/l/_HzYpWg1omSIL


28. Complete the following reactions: 

Watch Video Solution

C2H4 + O2 →

29. Complete the following reactions: 

Watch Video Solution

4Al + 3O2 →

30. Why does  act as a powerful oxidising agent?

Watch Video Solution

O3

31. How is  estimated quantitatively?O3

https://dl.doubtnut.com/l/_HzYpWg1omSIL
https://dl.doubtnut.com/l/_B17tA5Tm4aSJ
https://dl.doubtnut.com/l/_iceldLMGVF1L
https://dl.doubtnut.com/l/_S8ovrie1WWTF


Watch Video Solution

32. Which form of S shows paramagnetic behaviour?

Watch Video Solution

33. What happens when sulphur dioxide is passed through an

aqueous solution of Fe (III) salt?

Watch Video Solution

34. Comment on the nature of two S-O bonds formed in 

molecule. Are the two S-O bonds in this molecule equal?

Watch Video Solution

SO2

https://dl.doubtnut.com/l/_S8ovrie1WWTF
https://dl.doubtnut.com/l/_nTYpIuiXYZmV
https://dl.doubtnut.com/l/_QnbmDGDbqZbl
https://dl.doubtnut.com/l/_8L0l5vbd8A71
https://dl.doubtnut.com/l/_V6ZFjhsxPpo7


35. How is the presence of  detected?

Watch Video Solution

SO2

36. What happens when-Conc.  is added to calcium

fluoride.

Watch Video Solution

H2SO4

37. What happens when-  is passed through water.

Watch Video Solution

SO3

38. Mention three areas in which  plays an important

role.

H2SO4

https://dl.doubtnut.com/l/_V6ZFjhsxPpo7
https://dl.doubtnut.com/l/_HQ7P8B9JGrIF
https://dl.doubtnut.com/l/_4PiAhhrEQObS
https://dl.doubtnut.com/l/_5U7vxl234s3R


Watch Video Solution

39. Write the conditions to maximise the yield of  by

Contact process.

Watch Video Solution

H2SO4

40. Why is  for  in water?

Watch Video Solution

Ka2 < < Ka1 H2SO4

41. Halogens have maximum negative electron gain enthalpy in

the respective periods of the periodic table. Why?

Watch Video Solution

https://dl.doubtnut.com/l/_5U7vxl234s3R
https://dl.doubtnut.com/l/_wElwPYwRRQaA
https://dl.doubtnut.com/l/_9IdwuTX8dS2y
https://dl.doubtnut.com/l/_OiBFUgzpwsJK
https://dl.doubtnut.com/l/_A1sZ700b3hUL


42. Although electron gain enthalpy of fluorine is less negative

as compared to chlorine, fluorine is a stronger oxidising agent

than chlorine. Why?

Watch Video Solution

43. Fluorine exhibits only -1 oxidation state whereas other

halogens exhibit +1, +3, +5 and +7 oxidation states also. Explain.

Watch Video Solution

44. Considering the parameters such as bond dissociation

enthalpy, electron gain enthalpy and hydration enthalpy,

compare the oxidising power of  and .

Watch Video Solution

F2 Cl2

https://dl.doubtnut.com/l/_A1sZ700b3hUL
https://dl.doubtnut.com/l/_ldzuRDgtVWWI
https://dl.doubtnut.com/l/_ECGn39eMnig8


45. Give two examples to show the anomalous behaviour of

fluorine.

Watch Video Solution

46. Sea is the greatest source of some halogens. Comment.

Watch Video Solution

47. Write the balanced chemical equation for the reaction of

 with hot and concentrated NaOH. Is this reaction a

disproportionation reaction? Justify.

Watch Video Solution

Cl2

https://dl.doubtnut.com/l/_ECGn39eMnig8
https://dl.doubtnut.com/l/_XU9iOk2s8atW
https://dl.doubtnut.com/l/_9SiO0irUGWbm
https://dl.doubtnut.com/l/_1u4ZpJ3LCfRf
https://dl.doubtnut.com/l/_mI7kS1alkKJC


48. Give the reason for bleaching action of .

Watch Video Solution

Cl2

49. Name two poisonous gases which can be prepared from

chlorine gas.

Watch Video Solution

50. When HCl reacts with finely powdered iron, it forms ferrous

chloride and not ferric chloride. Why?

Watch Video Solution

https://dl.doubtnut.com/l/_mI7kS1alkKJC
https://dl.doubtnut.com/l/_Dis0rEtFvBEj
https://dl.doubtnut.com/l/_geQtYV4woHOT


51. Deduce the molecular shape of  on the basis of VSEPR

theory.

Watch Video Solution

BrF3

52. Why is ICI more reactive than  ?

Watch Video Solution

I2

53. Why are elements of Group-18 known as noble gases?

Watch Video Solution

54. Noble gases have very low boiling points. Why?

Watch Video Solution

https://dl.doubtnut.com/l/_PLngq8zTZv3l
https://dl.doubtnut.com/l/_I4vRLr4ZUrh0
https://dl.doubtnut.com/l/_SsAhql0GnvOq
https://dl.doubtnut.com/l/_iOfSmnpwAyz6


55. Does the hydrolysis of  lead to a redox reaction?

Watch Video Solution

XeF6

56. Why is helium used in diving apparatus?

Watch Video Solution

57. Balance the equation: 

Watch Video Solution

XeF6 + H2O → XeO2F2 + HF

58. Why has it been difficult to study the chemistry of Rn?

Watch Video Solution

https://dl.doubtnut.com/l/_iOfSmnpwAyz6
https://dl.doubtnut.com/l/_3KA8Cprh0ze0
https://dl.doubtnut.com/l/_OG5LHAkgM2bW
https://dl.doubtnut.com/l/_bNrgd0Y5nGZj
https://dl.doubtnut.com/l/_CdEortmHYTwG


NCERT EXERCISE QUESTIONS

1. Discuss the general characteristics of Group-15 elements with

reference to their electronic configuration, oxidation state,

atomic size, ionisation enthalpy and electronegativity.

Watch Video Solution

2. Why does the reactivity of N differ from phosphorus?

Watch Video Solution

3. Discuss trends in chemical reactivity of Gr-15 elements.

Watch Video Solution

https://dl.doubtnut.com/l/_CdEortmHYTwG
https://dl.doubtnut.com/l/_wOMUBHObceG7
https://dl.doubtnut.com/l/_KV49vyvPanPt
https://dl.doubtnut.com/l/_q2Db8SzHZkY4


Watch Video Solution

4. Why does  form H-bond but  does not?

Watch Video Solution

NH3 PH3

5. How is nitrogen prepared in the laboratory? Write the

chemical equations of the reactions involved.

Watch Video Solution

6. How is ammonia manufactured industrially?

Watch Video Solution

https://dl.doubtnut.com/l/_q2Db8SzHZkY4
https://dl.doubtnut.com/l/_fwY0jVZoUcB5
https://dl.doubtnut.com/l/_h5r3myMgdQuX
https://dl.doubtnut.com/l/_AwoMBKcV8yjf


7. Illustrate how copper metal can give different products on

reaction with .

Watch Video Solution

HNO3

8. Give the resonating structures of  and 

Watch Video Solution

NO2 N2O5

9. The HNH angle value is higher than HPH, HAsH and HSbH

angles. Why? [Hint: Can be explained on the basis of  -

hybridisation in  and only s-p bonding between H and

other elements of the group].

Watch Video Solution

sp3

NH3

https://dl.doubtnut.com/l/_xhHYFljyF2vc
https://dl.doubtnut.com/l/_ZAz45W1oalML
https://dl.doubtnut.com/l/_bMXiGCmbn8hZ
https://dl.doubtnut.com/l/_BWuTBCwEXfyZ


10. Why does  exist but  does not (R = alkyl

group)?

Watch Video Solution

R3P = O R3N = O

11. Explain:  is basic while  is only feebly basic.

Watch Video Solution

NH3 BiH3

12. Nitrogen exists as diatomic molecule and phosphorus as .

Why?

Watch Video Solution

P4

https://dl.doubtnut.com/l/_BWuTBCwEXfyZ
https://dl.doubtnut.com/l/_BVhGOenV5HfE
https://dl.doubtnut.com/l/_madgM12lhTzh


13. Write main differences between the properties of white

phosphorus and red phosphorus.

Watch Video Solution

14. Why does nitrogen show catenation properties less than

phosphorus?

Watch Video Solution

15. Give the disproportionation reaction of .

Watch Video Solution

H3PO3

https://dl.doubtnut.com/l/_igouaVofcUa0
https://dl.doubtnut.com/l/_vr3trNwcrTyF
https://dl.doubtnut.com/l/_I4y7bzAzYEau


16. Can  act as an oxidising as well as a reducing agent?

Justify.

Watch Video Solution

PCl5

17. Justify the placement of O, S, Se, Te and Po in the same group

of the periodic table in terms of electronic configuration,

oxidation state and hydride formation.

Watch Video Solution

18. Why is dioxygen a gas but sulphur a solid?

Watch Video Solution

https://dl.doubtnut.com/l/_7mVkPQj5sXad
https://dl.doubtnut.com/l/_Pp2OEdCEGBzF
https://dl.doubtnut.com/l/_VFMI2caDMwxs


19. Knowing the electron gain enthalpy values for  and

 as -141 and  respectively, how can you

account for the formation of a large number of oxides having

 species and not  ? (Hint: Consider lattice energy factor

in the formation of compounds).

Watch Video Solution

O → O−

O → O2 − 702kJ ⋅ mol− 1

O2 − O−

20. Which aerosols deplete ozone?

Watch Video Solution

21. Describe manufacture of  by contact process.

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_7vwkrvVUEesf
https://dl.doubtnut.com/l/_qh4Vx3NrQ7Gr
https://dl.doubtnut.com/l/_3NnEqsVkbw7c
https://dl.doubtnut.com/l/_6RaUxXXlgx0R


22. How is  an air pollutant?

Watch Video Solution

SO2

23. Why are halogens strong oxidising agents?

Watch Video Solution

24. Explain why fluorine forms only one oxoacid, HOF.

Watch Video Solution

25. Explain why inspite of nearly the same electronegativity,

oxygen forms hydrogen bonding while chlorine does not.

Watch Video Solution

https://dl.doubtnut.com/l/_6RaUxXXlgx0R
https://dl.doubtnut.com/l/_WJ9BtcLj9RhH
https://dl.doubtnut.com/l/_uA0Gh5nUcpfa
https://dl.doubtnut.com/l/_GhhnCesSgQ6K


26. Write two uses of .

Watch Video Solution

ClO2

27. Why are halogens coloured?

Watch Video Solution

28. Write the reactions of  and  with water.

Watch Video Solution

F2 Cl2

29. How can you prepare  from HCl and HCl from ? Write

reactions only.

Cl2 Cl2

https://dl.doubtnut.com/l/_GhhnCesSgQ6K
https://dl.doubtnut.com/l/_jdeJ1uHjQ2fj
https://dl.doubtnut.com/l/_CnaLNveVMla5
https://dl.doubtnut.com/l/_qpAIwEzNuvb8
https://dl.doubtnut.com/l/_O6vjh50iLvyd


Watch Video Solution

30. What inspired N. Bartlett for carrying out reaction between

Xe and ?

Watch Video Solution

PtF6

31. What are the oxidation states of P in the following: 

Watch Video Solution

H3PO3

32. What are the oxidation states of P in the following: 

Watch Video Solution

PCl3

https://dl.doubtnut.com/l/_O6vjh50iLvyd
https://dl.doubtnut.com/l/_hZRsvwFhaswm
https://dl.doubtnut.com/l/_4eBg2gFnduIy
https://dl.doubtnut.com/l/_axaelK7rRSsA


33. What are the oxidation states of P in the following: 

Watch Video Solution

Ca3P2

34. What are the oxidation states of P in the following: 

Watch Video Solution

Na3PO4

35. What are the oxidation states of P in the following: 

 ?

Watch Video Solution

POF3

https://dl.doubtnut.com/l/_axaelK7rRSsA
https://dl.doubtnut.com/l/_84mITPMhV9C2
https://dl.doubtnut.com/l/_FI2joldsLAkB
https://dl.doubtnut.com/l/_jWMboSfb9afd
https://dl.doubtnut.com/l/_JNZLawIh4pH8


36. Write balanced equations for the following: 

NaCl is heated with sulphuric acid in the presence of 

Watch Video Solution

MnO2

37. Write balanced equations for the following: 

 gas is passed into a solution of Nal in water.

Watch Video Solution

Cl2

38. How are xenon fluorides  and  obtained?

Watch Video Solution

XeF2, XeF4 XeF6

https://dl.doubtnut.com/l/_JNZLawIh4pH8
https://dl.doubtnut.com/l/_Dl03N77BXRKB
https://dl.doubtnut.com/l/_sVutwHF0kC1j


39. With what neutral molecule is  isoelectronic? Is that

molecule a Lewis base ?

Watch Video Solution

CIO−

40. How are  and  prepared?

Watch Video Solution

XeO3 XeOF4

41. Arrange the following in the order of property indicated for

each set:  - increasing bond dissociation

enthalpy.

Watch Video Solution

F2, Cl2, Br2, I2

https://dl.doubtnut.com/l/_1JHjxt8JBzrj
https://dl.doubtnut.com/l/_jaQ9sABFXGGT
https://dl.doubtnut.com/l/_UkB7lRAFKbVe


42. Arrange the following in the order of property indicated for

each set: HF, HCl, HBr, HI - increasing acid strength.

Watch Video Solution

43. Arrange the following in the order of property indicated for

each set:  - increasing base

strength.

Watch Video Solution

NH3, PH3, AsH3, SbH3, BiH3

44. Which one of the following does not exist? 1.  2. 

3.  4. 

Watch Video Solution

XeO4 NeF2

XeF2 XeF6

https://dl.doubtnut.com/l/_v6JHB5KnaAzd
https://dl.doubtnut.com/l/_X7vNjjsBY9Ji
https://dl.doubtnut.com/l/_HCNU52u1krer
https://dl.doubtnut.com/l/_8GFWDAqT2dso


45. Give the formula and describe the strncture of a noble gas

species which is isostructural with: 

Watch Video Solution

ICI
−

4

46. Give the formula and describe the strncture of a noble gas

species which is isostructural with: 

Watch Video Solution

IBr−
2

47. Give the formula and describe the strncture of a noble gas

species which is isostructural with: 

Watch Video Solution

BrO−
3

https://dl.doubtnut.com/l/_8GFWDAqT2dso
https://dl.doubtnut.com/l/_zqhUG6s2XX9R
https://dl.doubtnut.com/l/_per5UkeedjpU


HIGHER ORDER THINKING SKILL (HOTS) QUESTIONS

48. Why noble gases have comparatively large atomic sizes?

Watch Video Solution

49. List the uses of neon and argon gases.

Watch Video Solution

1. Give the composition of Devarda's alloy. Which gas is evolved

when it reduces nitrates in alkaline solutions?

Watch Video Solution

https://dl.doubtnut.com/l/_n76NcrTSpl6d
https://dl.doubtnut.com/l/_vx1MCEKlWynH
https://dl.doubtnut.com/l/_vgtnrFzHIgJ9


2. Why does molten  conduct electricity?

Watch Video Solution

PCl5

3. Arrange the following as directed: 

 ( decreasing acid strength)

Watch Video Solution

As2O3, P2O3, N2O3

4. Arrange the following as directed: 

 (increasing Lewis base strength)

Watch Video Solution

NI3, NBr3, NCl3, NF3

https://dl.doubtnut.com/l/_mxVQ9QZU6ABv
https://dl.doubtnut.com/l/_U2UiHEEjV2mW
https://dl.doubtnut.com/l/_CHQoXW7Oj3xG


5. Arrange the following as directed: 

 (increasing acid strength)

Watch Video Solution

N2O5, N2O4, N2O3, NO

6. Arrange the following as directed: 

 ( decreasing Lewis acid strength)

Watch Video Solution

PF3, PCl3, PBr3, PI3

7. Give the equations for the preparation of  from the

following:  and .

Watch Video Solution

N2O

NH3, O2, Pt H2O

https://dl.doubtnut.com/l/_DtNMV6wROkuJ
https://dl.doubtnut.com/l/_6lNzSjKQIPDS
https://dl.doubtnut.com/l/_LH5sm4OmwxDY


8. Name the compounds of group-15 elements which are

covalent in the vapour state but ionic in the solid state.

Watch Video Solution

9.  ion is known but  ion is unknown-why?

Watch Video Solution

CN − CP −

10. Phosphorus shows greater tendency for catenation than

nitrogen. Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_eTheMcX6X1uJ
https://dl.doubtnut.com/l/_FcIOmpTcgA0J
https://dl.doubtnut.com/l/_yWxaR99Zssnh


11. Draw structures of the ions responsible for the electrical

conductance of molten .

Watch Video Solution

PCl5

12.  should not be dissolved in conc. . Why?

Watch Video Solution

KMnO4 H2SO4

13. When  is passed through an acidified solution of an

inorganic mixture ( which contains no group-II cation), yellowish

turbidity appears. Explain.

Watch Video Solution

H2S

https://dl.doubtnut.com/l/_B8N7ZJuSvl5y
https://dl.doubtnut.com/l/_aRKs2xjpIrO5
https://dl.doubtnut.com/l/_yoIXeFxcswBP


14. In the manufacture of  by the contact process,  is

not directly dissolved in water-- why?

Watch Video Solution

H2SO4 SO3

15. A large number of oxides can be formed with  species

but not with  species-explain. 


[Given, 

]

Watch Video Solution

O2 −

O−

ΔegHO→O− = − 141kJ ⋅ mol− 1, ΔegHO→O2 − = 702kJ ⋅ mol− 1

16.  undergoes hydrolysis but  does not-why?

Watch Video Solution

SF4 SF6

https://dl.doubtnut.com/l/_10PbCQuUZPsw
https://dl.doubtnut.com/l/_kwU37v0Zz27m
https://dl.doubtnut.com/l/_CnW2RqLDZyth


17. Why does liquid oxygen stick to the magnet but liquid

nitrogen does not?

Watch Video Solution

18. Sulphur dioxide is a stronger reducing agent in alkaline

medium than in acidic medium-explain.

Watch Video Solution

19. Why the ozone layer is depleted by chlorofluoro-carbons

(CFC's) which have been used as aerosol propellants and

refrigerants? Illustrate with example.

Watch Video Solution

https://dl.doubtnut.com/l/_CnW2RqLDZyth
https://dl.doubtnut.com/l/_hIR6ILcDKcaT
https://dl.doubtnut.com/l/_0fLRa2GoMc34
https://dl.doubtnut.com/l/_xTLFSoS0chFd


20. Complete the following equations: 

Watch Video Solution

SO2 + H2S →

21. Complete the following equations: 

Watch Video Solution

O3(g) + I − (aq) + H2O(l) →

22. Complete the following equations: 

Watch Video Solution

P4 + SOCl2 →

https://dl.doubtnut.com/l/_xTLFSoS0chFd
https://dl.doubtnut.com/l/_oVDqMQY6h3UF
https://dl.doubtnut.com/l/_sxYcLRvRCmTu
https://dl.doubtnut.com/l/_TmSZUPNZFFjv
https://dl.doubtnut.com/l/_olOYhURqpvvD


23. Complete the following equations: 

Watch Video Solution

SO2 + NaClO3

H +

−−→

24. Complete the following equations: 

Watch Video Solution

Cr2O
2 −
7 + H + + SO2 →

25. Complete the following equations: 

Watch Video Solution

I2 + SO2 + H2O →

https://dl.doubtnut.com/l/_olOYhURqpvvD
https://dl.doubtnut.com/l/_E5Ok2pJzmYsI
https://dl.doubtnut.com/l/_so6U4SmbeecJ


26. Complete the following equations: 

Watch Video Solution

H2S + HNO3 →

27. Complete the following equations: 

Watch Video Solution

H2S2O7 + H2O →

28. Write down a chemical reaction in support of the fact that

sulphuric acid has low volatility.

Watch Video Solution

https://dl.doubtnut.com/l/_l6mpXLEWAK98
https://dl.doubtnut.com/l/_txpIkUkFxwwI
https://dl.doubtnut.com/l/_qO5OZCf6iX2Y


29. In concentrated sulphuric acid,  behaves as a base.

Write the ionisation steps.

Watch Video Solution

HNO3

30.  reacts with alkali under cold conditions to give bromide

and hypobromite. It reacts with alkali at room temperature and

above to produce bromide and bromate. However, iodine reacts

with alkali at all conditions to give iodide and iodate. Explain.

Watch Video Solution

Br2

31. What is Wij's reagent? Mention one important use.

Watch Video Solution

https://dl.doubtnut.com/l/_3FKWAXKmSoFp
https://dl.doubtnut.com/l/_iNwvnVdRIPmx
https://dl.doubtnut.com/l/_o1kz6Oa4c9AX
https://dl.doubtnut.com/l/_oW1Ip6yQ8xZo


32.  exists but  does not-why?

Watch Video Solution

CIF3 FCl3

33. Explain: covalent fluorides are chemically more inert than

other covalent halides.

Watch Video Solution

34.  exists while  do not-why?

Watch Video Solution

KHF2 KHCl2, KHBr2, KHI2

35. What is the geometry and hybridisation of the central atom

of the following molecules/ions? 

https://dl.doubtnut.com/l/_oW1Ip6yQ8xZo
https://dl.doubtnut.com/l/_Y6DVGf9k7MGe
https://dl.doubtnut.com/l/_V0KmLZOM99Zs
https://dl.doubtnut.com/l/_gs8jo0lNdwRX


Watch Video Solution

CIO−
2

36. What is the geometry and hybridisation of the central atom

of the following molecules/ions? 

Watch Video Solution

CIO−
3

37. What is the geometry and hybridisation of the central atom

of the following molecules/ions? 

Watch Video Solution

ICI
−

4

https://dl.doubtnut.com/l/_gs8jo0lNdwRX
https://dl.doubtnut.com/l/_vEMvaewcTLJl
https://dl.doubtnut.com/l/_YHAwMDeQP3s5


38. What is the geometry and hybridisation of the central atom

of the following molecules/ions? 

Watch Video Solution

ICl−
2

39. What is the geometry and hybridisation of the central atom

of the following molecules/ions? 

Watch Video Solution

IF7

40. What is the geometry and hybridisation of the central atom

of the following molecules/ions? 

Cl2O

https://dl.doubtnut.com/l/_l23pyds8Y4ka
https://dl.doubtnut.com/l/_dgG6SUXxlopp
https://dl.doubtnut.com/l/_8NB7Xl4v33K2


Watch Video Solution

41. What is the geometry and hybridisation of the central atom

of the following molecules/ions? 

Watch Video Solution

IF3

42. What is the geometry and hybridisation of the central atom

of the following molecules/ions? 

Watch Video Solution

ClO2

https://dl.doubtnut.com/l/_8NB7Xl4v33K2
https://dl.doubtnut.com/l/_2hX3apmtj6sr
https://dl.doubtnut.com/l/_IxF04n2Q8UxX


43. When moist blue litmus paper is dipped in a solution of

hypochlorous acid, it first turns red and then it gets

decolorised. Explain.

Watch Video Solution

44. Explain why  can displace  from  but not from

KCl.

Watch Video Solution

I2 Cl2 KClO3

45. Arrange the following as directed: 

 (increasing thermal stability)

Watch Video Solution

HOCl, HClO2, HClO3, HClO4

https://dl.doubtnut.com/l/_5oZsX7wQz8ap
https://dl.doubtnut.com/l/_rQWSfZaqjqih
https://dl.doubtnut.com/l/_LZLIWQk4VXob
https://dl.doubtnut.com/l/_pqnxWX3gRHOQ


46. Arrange the following as directed: 

 (increasing reducing power)

Watch Video Solution

F − , Cl− , Br− , I −

47. Arrange the following as directed: 

 (increasing nucleophili-city)

Watch Video Solution

F − , Cl− , Br− , I −

48. Arrange the following as directed: 

 (decreasing nucleophilicity in protic

solvent)

Watch Video Solution

F − , Cl− , Br− , I −

https://dl.doubtnut.com/l/_pqnxWX3gRHOQ
https://dl.doubtnut.com/l/_9VUrt1HsSaA6
https://dl.doubtnut.com/l/_oeC8VDSUI36Q
https://dl.doubtnut.com/l/_5C9cKlJC7X0E


49. Arrange the following as directed: 

 (increasing reactivity towards )

Watch Video Solution

F2, Cl2, Br2, I2 H2O

50. Arrange the following as directed: 

HOCl, HOBr, HOI (increasing tendency of O-H bond cleavage

heterolytically)

Watch Video Solution

51. Arrange the following as directed: 

 (increasing oxidation state of iodine)

Watch Video Solution

I2, HI, HIO4, ICl

https://dl.doubtnut.com/l/_5C9cKlJC7X0E
https://dl.doubtnut.com/l/_xALbMCMSBDhM
https://dl.doubtnut.com/l/_jiWq4TM6shLB
https://dl.doubtnut.com/l/_EId2IopiHWI9


52. The dipole moment of a violet solution of iodine in

cyclohexane is zero. When benzene, dioxane or pyridine is

added to it, its colour changes and the dipole moment of  in

the presence of these solvents becomes 1.8, 3.0 and 4.5D,

respectively. Explain.

Watch Video Solution

I2

53. When  is passed through KI solution, the solution

becomes brown in colour. However, when excess of  is used,

the solution becomes colourless. Explain.

Watch Video Solution

Cl2

Cl2

54. Which neutral molecules are isoelectronic with ?

View Text Solution

https://dl.doubtnut.com/l/_EId2IopiHWI9
https://dl.doubtnut.com/l/_mv8Y6msdaAZh
https://dl.doubtnut.com/l/_BRpHigkxd9bx


55. Explain why  acts as an explosive.

Watch Video Solution

NI3

56. Helium and neon do not form compounds with fluorine-why?

Watch Video Solution

57. How can  be estimated?

Watch Video Solution

XeF4

58. Suggest the most suitable noble gas for each of the

following uses: 

https://dl.doubtnut.com/l/_BRpHigkxd9bx
https://dl.doubtnut.com/l/_fqpRiSsLs6OW
https://dl.doubtnut.com/l/_NT1WBeCjKMHE
https://dl.doubtnut.com/l/_Mzl1XHR2qKH0
https://dl.doubtnut.com/l/_rcdke1RAn4Xb


for providing the least expensive inert atmosphere

Watch Video Solution

59. Suggest the most suitable noble gas for each of the

following uses: 

a liquid refrigerant through which we can achieve the lowest

temperature

Watch Video Solution

60. Suggest the most suitable noble gas for each of the

following uses: 

in testing, metal casting and in radiation therapy.

Watch Video Solution

https://dl.doubtnut.com/l/_rcdke1RAn4Xb
https://dl.doubtnut.com/l/_x9xxXYxA5oJM
https://dl.doubtnut.com/l/_NaRYwvWCaOuP
https://dl.doubtnut.com/l/_N2l9kNf3FXF6


61. Hydrolysis of  is not a redox reaction-explain.

Watch Video Solution

XeF6

62. Which is the only known halide of krypton ? How can it be

prepared?

Watch Video Solution

63. Helium and neon do not form clathrate compounds with

quinol-why?

Watch Video Solution

https://dl.doubtnut.com/l/_N2l9kNf3FXF6
https://dl.doubtnut.com/l/_CQ6ivCZVDYh0
https://dl.doubtnut.com/l/_nWPeknxnoQct


64. Give an example each of oxidative and reductive

fluorinations caused by .

Watch Video Solution

XeF2

65. Unlike xenon, helium does not form any chemical compound.

Explain.

Watch Video Solution

66. Xenon does not form fluorides such as  and  -

why?

Watch Video Solution

XeF3 XeF5

https://dl.doubtnut.com/l/_uIiW25Q050Jz
https://dl.doubtnut.com/l/_nnzUQKQ9zd7D
https://dl.doubtnut.com/l/_vfg2LYC0uMV4


ENTRANCE QUESTION BANK

1. Which one of the following compounds does not liberate

 on heating-

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

NO2

AgNO3

KNO3

Cu(NO3)2

Pb(NO3)2

2. Which of the following is not correct at room temperature

and pressure-

https://dl.doubtnut.com/l/_1kba5wCzlhpp
https://dl.doubtnut.com/l/_7R9cAODdHO1R


A.  is a white solid substance

B.  is a colourless gas

C.  is a colourless gas

D.  is a brown coloured gas

Answer: C

Watch Video Solution

P4O10

SO2

SO3

NO2

3. The number of acidic proton in  is-

A. 0

B. 1

C. 2

D. 3

H3PO3

https://dl.doubtnut.com/l/_7R9cAODdHO1R
https://dl.doubtnut.com/l/_sa7UNH4H0rc7


Answer: C

Watch Video Solution

4. When chloric acid is heated, it produces-

A.  and 

B.  and 

C.  and 

D.  and 

Answer: A

Watch Video Solution

HClO4, Cl2, O2 H2O

HClO2, Cl2, O2 H2O

HClO, Cl2O H2O2

Cl, HClO, Cl2O H2O

5. 'Sulphan' is-

https://dl.doubtnut.com/l/_sa7UNH4H0rc7
https://dl.doubtnut.com/l/_VvJGWgp3Pwig
https://dl.doubtnut.com/l/_uGl92AcodoNM


A. a mixture of  and 

B. 100% conc. 

C. a mixture of gypsum and conc. 

D. 100% oleum (mixture of 100%  & 100 % )

Answer: B

Watch Video Solution

SO3 H2SO5

H2SO4

H2SO4

SO3 H2SO4

6. Chlorine reacts with red hot calcium oxide to yield-

A. bleaching powder and dichlorine monoxide

B. bleaching powder and water

C. calcium chloride and chlorine dioxide

D. calcium chloride and oxygen

https://dl.doubtnut.com/l/_uGl92AcodoNM
https://dl.doubtnut.com/l/_RUCiuu6IxGyQ


Answer: D

Watch Video Solution

7. The compounds through which nitric acid is obtained from

ammonia are-

A. nitric oxide and nitrogen dioxide

B. nitrogen and nitric oxide

C. nitric oxide and dinitrogen pentoxide

D. nitrogen and nitrous oxide

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_RUCiuu6IxGyQ
https://dl.doubtnut.com/l/_yNtjEO2iFwLx


8. The bond angle of   is less than that of  

 because-

A. F is larger in size compared to H

B. N is larger in size compared to F

C. opposite polarity of nitrogen in the two molecules

D. smaller size of H compared to N

Answer: C

Watch Video Solution

NF3 (102.3∘ ) NH3

(107.2∘ )

9. The experimentally determined shape of  is distorted

octahedral. However, according to VSEPR theory its shape is-

A. octahedral

XeF6

https://dl.doubtnut.com/l/_UKkN4ZutBSEQ
https://dl.doubtnut.com/l/_88sFyLY1BE4e


B. pentagonal bipyramidal

C. tetragonal bipyramidal

D. trigonal bipyramidal

Answer: B

Watch Video Solution

10. The hydrides of the first elements in group 15-17, namely

 and HF respectively show abnormally high values

for melting and boiling points. This is due to-

A. small size of N, O and F

B. the ability to form extensive intermolecular H-bonding

C. the ability to form extensive intramolecular H-bonding

D. effective van der Waals interaction

NH3, H2O

https://dl.doubtnut.com/l/_88sFyLY1BE4e
https://dl.doubtnut.com/l/_upR7Ij1wMGTA


Answer: B

Watch Video Solution

11. Among the following observations, the correct one that

differentiates between  and  is-

A. both form precipitate with  dissolves in HCl

but  does not

B.  forms precipitate with  does not

C.  forms precipitate with  does not

D. both form precipitate with  dissolves in HCl

but  does not

Answer: B

W t h Vid S l ti

SO2 −
3 SO

2 −
4

BaCl2, SO2 −
3

SO
2 −
4

SO2 −
3 BaCl2, SO2 −

4

SO
2 −
4 BaCl2, SO2 −

3

BaCl2, SO2 −
4

SO2 −
3

https://dl.doubtnut.com/l/_upR7Ij1wMGTA
https://dl.doubtnut.com/l/_bdYEUiZ83zmp


Watch Video Solution

12. Ionisation potential of inert gases decrease with increase in

atomic size. Xenon react directly with fluorine to form binary

compounds. The correct statement (s) are -

A. only the heavy inert gases form such compounds

B. this occurs because of high ionisation of inert gases

C. this occurs due to formation of compounds with

electronegative ligands

D. the compounds become stable because of complete

electron octet

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_bdYEUiZ83zmp
https://dl.doubtnut.com/l/_vJuRzOculhIA


13. Which set of salts are completely insoluble in water -

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Hg2Cl2, CuCl, AgCI

HgCl2, CuCImAgCl

Hg2Cl2, CuCl2, AgCl

Hg2Cl2, CuCl, NaCl

14. The number of lone pairs of electrons on the central atoms

of  respectively are-

A. 2,1,1,3

B. 2,2,1,3

H2O, SnCl2, PCl3 and XeF2

https://dl.doubtnut.com/l/_DGUgKa54E77Y
https://dl.doubtnut.com/l/_MA1kH4ErXgdV


C. 3,1,1,3

D. 2,1,2,3

Answer: A

Watch Video Solution

15. The brown solution obtained when nitric oxide (NO) is

absorbed in cold ferrous sulphate  solution is due to

formation of -

A. paramagetic 

B. diamagetic 

C. paramagentic 

D. diamgnetic 

(FeSO4)

[Fe(H2O)5(NO)]SO4

[Fe(H2O)5(N3)]SO4

[Fe(H2O)5(NO)3](SO)4

[Fe(H2O)4(SO4)]NO3

https://dl.doubtnut.com/l/_MA1kH4ErXgdV
https://dl.doubtnut.com/l/_IsZlVhudi4w2


Answer: A

Watch Video Solution

16. The compounds obtained when sulphuryl chloride 

reacts with phosphorus  are -

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(SO2Cl2)

(P4)

PCl5, SO2

POCl3, SOCl2

PCl5SO2, S2Cl2

POCl3, SO2, Cl2

https://dl.doubtnut.com/l/_IsZlVhudi4w2
https://dl.doubtnut.com/l/_CpNrhHItPWmR


17. The acid in which  bonding is present is -

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

O − O

H2S2O3

H2S2O6

H2S2O8

H2S4O6

18. In solid state ,  exists are -

A.  and  ions

B. covalet  molecules only

PCl5

[PCl4] − [PCl6] +

PCl5

https://dl.doubtnut.com/l/_HHHbZ8doVoSL
https://dl.doubtnut.com/l/_VLTbcNgf44Jv


C.  and  ions

D. covalent  molecules only

Answer: C

Watch Video Solution

[PCl4] + [PCl6] −

P2Cl10

19. The boling points of HF, HCI ,HBr and HI follow the order -

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HF > HCl > HBr > HI

HF > HI > HBr > HCI

HI > HBr > HCI > HF

Hci > HF > HBr > HI

https://dl.doubtnut.com/l/_VLTbcNgf44Jv
https://dl.doubtnut.com/l/_SfajENIJVtp5


20. Nitrogen dioxide is not produced on heating -

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

KNO3

Pb(NO3)2

Cu(NO3)2

AgNO3

21. Compound X is tested and the result are shown in the table .

 

Which ions are persent in compound X -

https://dl.doubtnut.com/l/_SfajENIJVtp5
https://dl.doubtnut.com/l/_TVldV0v4KUGr
https://dl.doubtnut.com/l/_6AvGYG426RiK


A. ammonium ions are sulphite ions

B. ammonium mixture of KI and 

C. sodium mixture of NaI and KI

D. ammonium ions and sulphate ions

Answer: A

View Text Solution

NaIO3

22. Which of the following solutions will turn violet when a drop

of lime juice is added to it -

A. a solution of NaI

B. a solution mixture of KI and 

C. a solution mixture of NaI and KI

NaIO3

https://dl.doubtnut.com/l/_6AvGYG426RiK
https://dl.doubtnut.com/l/_HQ4DwC3UXiNl


D. a solution mixture of  and 

Answer: B

Watch Video Solution

KIO3 NaIO3

23. Of the following compounds, which one is the strongest

Bronsted acid in an aqueous solution -

A. 

B. 

C. 

D. HOBr

Answer: A

Watch Video Solution

HClO3

HClO2

HOCl

https://dl.doubtnut.com/l/_HQ4DwC3UXiNl
https://dl.doubtnut.com/l/_Hvb2vV1i0ijA


24. Which of the set of oxides are arranged in the proper order

of basic, amphoteri , acidic -

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

SO2, P2O5, CO

BaO, Al2O3, SO2

CaO, SiO2, Al2O3

CO2, Al2O3, CO

25. What phosphour,  has the following characteristic-

A. 6P - P single bonds

P4

https://dl.doubtnut.com/l/_Hvb2vV1i0ijA
https://dl.doubtnut.com/l/_2ILikSMIKCgK
https://dl.doubtnut.com/l/_WcCkxstBxWVf


B. 4P - P single bonds

C. 4 lone - pair of electrons

D. P-P-P angle of 

Answer: C

Watch Video Solution

60∘

26.  colourless suffocating gas

 Green colouration of solution .

Then [X] and [Y] are -

A. 

B. 

C. 

D. 

[X] + dil. H2SO4 → [Y ],

[Y ] + K2Cr2O7 + H2SO4 →

SO2 −
3 , SO2

Cl− , HCl

S2 − , H2S

CO2 −
3 , CO2

https://dl.doubtnut.com/l/_WcCkxstBxWVf
https://dl.doubtnut.com/l/_rTD6iUmDqGtc


Answer: A

Watch Video Solution

27.  is the anhydride of -

A. HOCl

B. 

C. 

D. 

Answer: D

Watch Video Solution

Cl2O7

HClO2

HClO3

HCIO4

https://dl.doubtnut.com/l/_rTD6iUmDqGtc
https://dl.doubtnut.com/l/_toxCcQBfnL84


JEE - MAIN

28. At room temperature , the reaction between water and

fluroine produces -

A. HF and 

B. 

C. 

D. HOF and HF

Answer: C

Watch Video Solution

H2O2

HF , O2 and F2O2

F ө , O2 and H ө

1. The structure of  is -IF7

https://dl.doubtnut.com/l/_TGLbq5Tz3NZt
https://dl.doubtnut.com/l/_EW4xxAqlENth


A. trigonal bipyramidal

B. octahedral

C. pentagonal bipyramidal

D. square pyramidal

Answer: C

Watch Video Solution

2. Which of the following statements redarding sulphur is

incorrect -

A. the vapour at  C consists mostly of  rings

B. at  the gas mainly consists of  molecules

200∘ S8

600∘C S2

https://dl.doubtnut.com/l/_EW4xxAqlENth
https://dl.doubtnut.com/l/_gLwVN3UIyMWf


C. the oxidation state of sulphur is never less than + 4 in its

compounds

D.  molecule is paramagentic

Answer: C

Watch Video Solution

S2

3. Which of the following statements is wrong -

A. nitrogen cannot form  bond

B. single  bond is weaker than single P - P bond

C.  has two resonance structures

D. the stability of hydrides increases form  to  in

group - 15 of the periodic table

dπ − dπ

N − N

N2O4

NH3 BiH3

https://dl.doubtnut.com/l/_gLwVN3UIyMWf
https://dl.doubtnut.com/l/_k4L38zc0AZ2F


Answer: D

Watch Video Solution

4. Which two species of the following pairs are not isoelectronic

-

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CO2 −
3 and NO−

3

PCl
+
4 and SiCl4

PF5 and BrF5

AIF 3 −
6 and SF6

https://dl.doubtnut.com/l/_k4L38zc0AZ2F
https://dl.doubtnut.com/l/_oWNqCVC344yi


5. In which of the following molecules, the bond angle is the

lowest -

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NCl3

AsCl3

SbCl3

PCl3

6. Which of one the following statements is incorrect -

A. in the solid state , the colour of  is blackish - violet

B. ozone is a diamgnetic gaseous substance

O3

https://dl.doubtnut.com/l/_1iA8SIcnZ64f
https://dl.doubtnut.com/l/_NlXvRx50lyaj


C. ONCl and  are not isoelectronic

D.  is a bent or angular molecule

Answer: D

Watch Video Solution

ONOө

O3

7. In which of the following reaction  acts as a reducing

agent - 

(I)  

(II)  


(III)  


(IV) 

A. (II),(IV)

B. (I),(II)

H2O2

H2O2 + 2H + + 2e− → 2H2O

H2O2 − 2e− → O2 + 2H +

H2O2 + 2e− → O2 + 2H +

H2O2 + 2OH − → 2H2O + O2 + 2e−

https://dl.doubtnut.com/l/_NlXvRx50lyaj
https://dl.doubtnut.com/l/_ehUP4c7OK2ie


C. (III) , (IV)

D. (I),(III)

Answer: A

Watch Video Solution

8. Among the following oxoacids, the correct decreasing order

of acid strength is -

A. 

B. 

C. 

D. 

Answer: D

HClO2 > HClO4 > HClO3 > HOCl

HOCl > HClO2 > HClO3 > HClO4

HClO4 > HOCl > HClO2 > HClO3

HClO4 > HClO3 > HClO2 > HOCl

https://dl.doubtnut.com/l/_ehUP4c7OK2ie
https://dl.doubtnut.com/l/_KStI8jGv80Qj


Watch Video Solution

9. Which of the following properties is not shown by NO -

A. its bond order is 2.5

B. it is diamagnatic in gaseous state

C. it is a netural oxide

D. it combines with oxygen to from 

Answer: B

Watch Video Solution

NO2

10. Which one of the following elements has the highest

melting point -

https://dl.doubtnut.com/l/_KStI8jGv80Qj
https://dl.doubtnut.com/l/_ox6BG9QBKbfG
https://dl.doubtnut.com/l/_R6lAjkOCM2QK


A. He

B. Ne

C. Kr

D. Xe

Answer: D

Watch Video Solution

11. Which one is the most reactive -

A. 

B. 

C. 

D. 

Cl2

Br2

I2

ICI

https://dl.doubtnut.com/l/_R6lAjkOCM2QK
https://dl.doubtnut.com/l/_bvxoWS7N5kUH


Answer: D

Watch Video Solution

12. Statement - 1 : The main constituents of air is nitrogen and

oxygen . However, nitrogen does not react with oxygen to form

nitrogen oxides. 

Statements - 2 : It requires much higher temperature for the

reaction between nitrogne and oxygen to take place.

A. both the two statements are correct and the statements

2 is the correct reason of the statemenet 1.

B. both the tow statements are correct , but the statement 2

is not the correct reason of the s statement 1.

https://dl.doubtnut.com/l/_bvxoWS7N5kUH
https://dl.doubtnut.com/l/_ICAxxjlfL8Pq


C. the statement 1 is not correct, but the statement 2 is

correct.

D. both the statements are wrong.

Answer: A

Watch Video Solution

13. The pair in which phosphours atoms have a formal oxidation

state of + 3 is -

A. orthophosphorous and pyrophosphours acids

B. pyrophosphorus and hypophosphoric acids

C. orthophosphorus and hypophosphoric acids

D. pyrophosphorus and pyrophosphoric acids

https://dl.doubtnut.com/l/_ICAxxjlfL8Pq
https://dl.doubtnut.com/l/_yZVfUl1bHotR


Answer: A

Watch Video Solution

14. The reaction of zinc dilute and concentrated nitric acid,

respectively produces -

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

N2O and NO2

NO2 and NO

NO and N2O

NO2 and N2O

https://dl.doubtnut.com/l/_yZVfUl1bHotR
https://dl.doubtnut.com/l/_sPJ5jarsSK2E


15. Which of the following reac tion is an example of a redox

reaction -

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

XeF6 + H2O → XeOF4 + 2HF

XeF6 + 2H2O → XeO2F2 + 4HF

XeF4 + O2F2 → XeF6 + O2

XeF2 + PF5 → [XeF ] +
PE −

6

16. In the following reaction, ZnO is respectively acting as a/an - 

I.  


II.  .

ZnOn + Na2O → Na2ZnO2

ZnO + CO2 → ZnCO3

https://dl.doubtnut.com/l/_JiPTsC37VHnE
https://dl.doubtnut.com/l/_pyZERIgWQeDB


A. acid and acid

B. base and acid

C. acid and base

D. base and base

Answer: C

Watch Video Solution

17. The product obtained when chlorine gas reacts with cold

and dilute aqueous NaOH are -

A. 

B. 

C. 

Cl− and ClO−

Cl− and ClO−
2

ClO− and ClO−
2

https://dl.doubtnut.com/l/_pyZERIgWQeDB
https://dl.doubtnut.com/l/_BMusaMtzKYo0


D. 

Answer: A

Watch Video Solution

ClO−
2 and ClO−

3

18. The compound that does not produce nitrogen gas by the

thermal decomposition is -

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

NH4NO2

(NH4)2SO4

Ba(N3)2

(NH4)2Cr2O7

https://dl.doubtnut.com/l/_BMusaMtzKYo0
https://dl.doubtnut.com/l/_mpaP62UIzE32


NEET

19. Total compound is present in bleaching powder as a

disinfectant -

A. 9

B. 12

C. 3

D. 6

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_mpaP62UIzE32
https://dl.doubtnut.com/l/_SNk3Vgt5OHZs


1. Which compound is present is bleaching powder as a

disinfectant -

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CaO2Cl

CaCl2

CaOCl2

Ca(OCI)2

2. Which one of the following statements is not applicable to

the oxoacids of phosphorus -

https://dl.doubtnut.com/l/_dKgqgC2UMGQg
https://dl.doubtnut.com/l/_ouYAXcj8YWwq


A. in each oxoacid, tetrahedral 4 coordinated phosphorous

atom is present

B. in each oxoacid, there is at least one P = O unit and one P -

OH group

C. orthophosphoric acid is used to prepare triple super

phosphate

D. hypophosphorus acid is a diprotic aicd

Answer: D

Watch Video Solution

3. In which of the following compounds the oxidation state of

nitrogen is the highest -

https://dl.doubtnut.com/l/_ouYAXcj8YWwq
https://dl.doubtnut.com/l/_UqbOXmDqLFc1


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

N3H

NH2OH

N2H4

NH3

4. The change of oxidation state of chlorine that take place

whne  is allowed to react with hot and concentrated NaOH

solution are -

A. 0 to -1 and 0 to + 3

B. 0 to + 1 and 0 to -3

C. 0 to +1 and 0 to - 5

Cl2

https://dl.doubtnut.com/l/_UqbOXmDqLFc1
https://dl.doubtnut.com/l/_PhMsqVCxnq3H


D. 0 to -1 and 0 to + 5

Answer: D

Watch Video Solution

5. The central atom of which compound contains three bond -

pairs one lone pair -

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

BF3

NH
ө

2

PCl3

H2O

https://dl.doubtnut.com/l/_PhMsqVCxnq3H
https://dl.doubtnut.com/l/_xt3eKFvc0zfF


6. Which pairs is isostructural -

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NH3 and NO
ө

3

NF3 and BF3

BF
ө

4 and NH
ө

4

BCl3 and BrCl3

7. Which one is a polar compound -

A. 

B. 

BF3

NH
ө

2

https://dl.doubtnut.com/l/_xt3eKFvc0zfF
https://dl.doubtnut.com/l/_SkoMEOIudAOJ
https://dl.doubtnut.com/l/_PJ6z9eh3i3uN


C. 

D. 

Answer: B

Watch Video Solution

PCl3

H2O

8. Which one is isostructural with -

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

XeF2

TeF4

ICI
ө

2

SbCl3

BaCl2

https://dl.doubtnut.com/l/_PJ6z9eh3i3uN
https://dl.doubtnut.com/l/_7UGrBV1SBIuv


9. In which of the following compounds , there is no  - bond -

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

π

CO2

H2O

SO2

NO2

10. Which one is paramagnetic species -

A. 

B. 

CO

O−
2

https://dl.doubtnut.com/l/_7UGrBV1SBIuv
https://dl.doubtnut.com/l/_m6KjSOLyyW33
https://dl.doubtnut.com/l/_MrZuLaSURCF5


C. 

D. 

Answer: B

Watch Video Solution

CN −

NO+

11. Which one of the following is most acidic -

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

H2SO3

H2SO4

HCIO3

HCIO4

https://dl.doubtnut.com/l/_MrZuLaSURCF5
https://dl.doubtnut.com/l/_NTt4yUsVsImv


12. The gas X is obtained on combustion of sulphide . It is a

colourless gas with pungent , suffocating odour. It is harmful to

our respiratory organs and is a constituent of acid rain. Its as .

Solution is acids, it is a reducing agent and its acidis availble . X

is -

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

SO3

H2S

SO2

CO2

https://dl.doubtnut.com/l/_NTt4yUsVsImv
https://dl.doubtnut.com/l/_0nzXlNxE6kcI


13. Acidity of diprotic acids in aqueous solutions increases in

the order -

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2S < H2 < H2Te

H2Se < H2S < H2Te

H2Te < H2S < H2Se

H2Se < H2Te < H2S

14. Which one of the following species has planar triangular

shape -

A. N −
3

https://dl.doubtnut.com/l/_r0SkNFndNrED
https://dl.doubtnut.com/l/_4DNgNfEjHgN5


B. 

C. 

D. 

Answer: B

Watch Video Solution

NO−
3

NO−
2

CO2

15. The variation of the boiling point of the hydrogen halides is

in the order  . What explains the

higher boiling point of hydrogen fluride -

A. the electronegative of fluorine is much higher than for

other elements in the group

B. there is a strong hydrogen bonding between HF

molecules

HF > HI > HBr > HCI

https://dl.doubtnut.com/l/_4DNgNfEjHgN5
https://dl.doubtnut.com/l/_kvUgErCvTN1w


C. there is a strong hydrogen bonding between HF

molecules

D. the effect of nucler shielding is much reduced in fluorine

which polarieses the HF molecule .

Answer: D

Watch Video Solution

16. Which of the statements give below in incorrect -

A.  is an anhydride of perchloric acid

B.  molecule is bent

C. ONF is isoelectronic with 

D.  is an oxide of fluorine

Cl2O7

O3

O2N
−

OF2

https://dl.doubtnut.com/l/_kvUgErCvTN1w
https://dl.doubtnut.com/l/_mmF5ZiFFNzec


Answer: A

Watch Video Solution

17. Strong reducing behaviour of  is due to -

A. persence of one - OH group and two P - H group

B. high electron gain enthalpy of phosphour

C. high oxidation state of phosphours

D. presence of two - OH group and one P - H bond

Watch Video Solution

H3PO2

https://dl.doubtnut.com/l/_mmF5ZiFFNzec
https://dl.doubtnut.com/l/_NEmeK1tFOnPs


18. Which one of the following order is correct for the bond

dissociation enthalpy of halogen molecules -

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

F2 > Cl2 > Br2 > I2

I2 > Br2 > Cl2 > F2

Cl2 > Br2 > F2 > I2

Br2 > I2 > F2 > Cl2

19. The product obtained as a result of a reaction of nitrogen

with  is -

A. 

CaC2

Ca2CN

https://dl.doubtnut.com/l/_VnEfhbQ3ZTPe
https://dl.doubtnut.com/l/_XuquRsBOxQcD


B. 

C. 

D. 

Answer: C

Watch Video Solution

Ca(CN)

CaCN

CaCN3

20. Which one of the following statements is correct when 

is passed through acidified  solution -

A. green  is formed .

B. the solution turns blue

C. the solution is decolourised

D.  is reduced

SO2

K2Cr2O7

Cr2(SO4)3

SO2

https://dl.doubtnut.com/l/_XuquRsBOxQcD
https://dl.doubtnut.com/l/_SyFKJMmJ0VkE


Answer: A

Watch Video Solution

21. Among the following , the correct order of acidity is -

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

HCIO4 < HCIO2 < HClO < HClO3

HClO3 < HClO4 < HClO2 < HClO

HClO < HClO2 < HClO3 < HClO4

HClO2 < HClO < HClO4

22. Which is the correct statement for the give acids -

https://dl.doubtnut.com/l/_SyFKJMmJ0VkE
https://dl.doubtnut.com/l/_Lt1LojGoOpzb
https://dl.doubtnut.com/l/_bMiXP6LhwA7u


A. phosphinic acid is a diportic acid while phosphoic acid is a

monoporotic aicd.

B. phosphinic acid is a monoprotic acid while phosphonic

acid is a diprotic acid

C. both are diprotic aids

D. both are triprotic acids

Answer: B

Watch Video Solution

23. When copper is heated with conc.  if produces-

A.  and 

B.  and 

HNO3

Cu(NO3)2 N2O

Cu(NO3)2 NO2

https://dl.doubtnut.com/l/_bMiXP6LhwA7u
https://dl.doubtnut.com/l/_jUNHYbkJDoO3


C.  and NO

D.  NO and 

Answer: B

Watch Video Solution

Cu(NO3)2

Cu(NO3)2 NO2

24. Hot concentrated sulphur acid is a moderately strong

oxidising agent. Which of the following reactions does not

show oxidising behaviour -

A. 

B. 

C. 

D. 

CaF2 + H2SO4 → CaSO4 + 2HF

Cu + 2H2SO4 → CuSO4 + SO + 2H2O

2S + 2H2SO4 → 2SO2 + 2H2O

C + 2H2SO4 → CO2 + 2SO2 + 2H2O

https://dl.doubtnut.com/l/_jUNHYbkJDoO3
https://dl.doubtnut.com/l/_0dgj1GDy2p53


Answer: A

Watch Video Solution

25.  and  both when dissolved in water containing 

ions the pair of species formed is -

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HgCl2 I2 I −

HgI2, I −

HgI
2 −
4 , I −

3

Hg2I2, I −

HgI2, I −
3

https://dl.doubtnut.com/l/_0dgj1GDy2p53
https://dl.doubtnut.com/l/_aot9bLRuX57e


26. Which of the following pairs of compounds is isoelectronic

and isostructural -

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

TeI2, XeF2

IBr−
2 , XeF2

IF3, XeF2

BeCI2, XeF2

27. In which pair of ions both the species contain S - S bond -

A. 

B. 

S4O
2 −
6 , S2O

2 −
3

S2O
2
7, S2O

2 −
8

https://dl.doubtnut.com/l/_CIAvvr11dhVR
https://dl.doubtnut.com/l/_Np1SRqLLLmia


C. 

D. 

Answer: A

Watch Video Solution

S4O
2 −
6 , S2O

2
7

S4O
2 −
7 , S2O

2 −
3

28. Name the gas that can readly decolourise acidified 

solution -

A. 

B. 

C. 

D. 

Answer: A

KMnO4

SO2

NO2

P2O5

CO2

https://dl.doubtnut.com/l/_Np1SRqLLLmia
https://dl.doubtnut.com/l/_LN1gyZqlhZEI


Watch Video Solution

29. In the structure of  , the number of lone pairs of

electrons on central atom  is -

A. 3

B. 1

C. 4

D. 2

Answer: D

Watch Video Solution

CIF3

Cl

30. Which oxide of nitrogen is not a common pollutant

introduced into the atmosphere both due to the natural and

https://dl.doubtnut.com/l/_LN1gyZqlhZEI
https://dl.doubtnut.com/l/_m1gO9N94Aumd
https://dl.doubtnut.com/l/_7jsdEve0WTsu


human activity 0

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NO

NO2

N2O5

N2O

31. The correct order of N - compound in its decreasing order of

oxidation states is -

A. 

B. 

NH4Cl > N2 > NO > HNO3

HNO3 > NO > N2 > NH4Cl

https://dl.doubtnut.com/l/_7jsdEve0WTsu
https://dl.doubtnut.com/l/_vNcJzmLE30kd


C. 

D. 

Answer: B

Watch Video Solution

HNO3 > NH4Cl > NO > N2

HNO3 > NO > NH4Cl > N2

32. Which of the following statements is not true for halogens -

A. chlorine has the highest electron gain enthalpy

B. all form momobasic oxyacids

C. all but fluroine show positive oxidation states

D. all are oxidising agents

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_vNcJzmLE30kd
https://dl.doubtnut.com/l/_gE9uAZyxoIL5


33. First compound of  synthesised was -

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Xe

[XeF ] + [XePtF5] −

[XeO2]

Xe[PtF6]

O2[XeF6]

34.  on hydrolysis give fumes of -

A. 

B. 

PCl3

H3PO3 + HCl

H3PO4 + HCl

https://dl.doubtnut.com/l/_gE9uAZyxoIL5
https://dl.doubtnut.com/l/_zId5TvEXyAvF
https://dl.doubtnut.com/l/_Sba6rSvgDdY5


C. 

D. 

Answer: A

Watch Video Solution

H3PO2 and H3PO3

H3PO2 + HCl

35. Which of the following is the correct statements for  -

A. it is less poisonous than 

B. it is less baisc than 

C. electronegative of 

D. it does not show reducing properites.

Answer: B

Watch Video Solution

PH3

NH3

NH3

PH3 > NH3

https://dl.doubtnut.com/l/_Sba6rSvgDdY5
https://dl.doubtnut.com/l/_iTq7r73457lX


36. N - N bond length is minium is -

A. 

B. 

C.  has two resonance structures

D. 

Answer: A

Watch Video Solution

N2O

N2O3

N2O4

N2O5

37.  has -

A. S- S bond

B. S- O bond

S2O
2 −
8

https://dl.doubtnut.com/l/_iTq7r73457lX
https://dl.doubtnut.com/l/_g6APL9Anjfu0
https://dl.doubtnut.com/l/_zJmkhGf0zZL8


C. O- O bridge

D. all S - O bond lenghts are same

Answer: C

Watch Video Solution

38. How many P = O bonds present in  -

A. 0

B. 3

C. 6

D. 9

Answer: B

Watch Video Solution

(HPO3)3

https://dl.doubtnut.com/l/_zJmkhGf0zZL8
https://dl.doubtnut.com/l/_wNg1ebsoweaT


39. Which of the following statements is not ture for hydrolysis

of  -

A.  and is formed

B.  is formed

C. it is a redox reaction

D.  is formed

Answer: C

Watch Video Solution

XeF6

XeOF4

XeO2F2

XeO3

40. Which is correct regarding acidity -

A. H2S < H2Se

https://dl.doubtnut.com/l/_wNg1ebsoweaT
https://dl.doubtnut.com/l/_pQx1FZwczdSq
https://dl.doubtnut.com/l/_Dt2cUMIbNUdp


B. 

C. 

D. none of these

Answer: A

Watch Video Solution

H2S > H2Se

H2Se > H2Te

41. Which halogen forms only one oxoacid (HOX).

A. F

B. Cl

C. Br

D. I

Answer: A

https://dl.doubtnut.com/l/_Dt2cUMIbNUdp
https://dl.doubtnut.com/l/_zy3ERCC0za93


Watch Video Solution

42. Enrichment of  is done by -

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

U 235

IF7

CIF3

IF5

CIF5

43. Rhombic sulphur dissolves best in -

A. CS2

https://dl.doubtnut.com/l/_zy3ERCC0za93
https://dl.doubtnut.com/l/_Z2juaQVwIPjd
https://dl.doubtnut.com/l/_8POOKARfXapU


B. 

C. ethanol

D. ether

Answer: A

Watch Video Solution

H2O

44. The true statement for the acids of phosphorus,

 and  is -

A. the order of their acidity is 

B. all of them are reducing in nature

C. all of them are tribasic acid

D. the geometry of phosphorus is tetrahedral in all the three

H3PO2, H3PO3 H3PO4

H3PO4 > H3PO3 > H3PO2

https://dl.doubtnut.com/l/_8POOKARfXapU
https://dl.doubtnut.com/l/_Ld40rIr7Goar


Answer: D

Watch Video Solution

45. Which of the following can be oxidised by  -

A. 

B. 

C. 

D. all of these

Answer: B

Watch Video Solution

SO2

K2Cr2O7

Mg

H2O

46. Large difference in boiling points is observed in -

https://dl.doubtnut.com/l/_Ld40rIr7Goar
https://dl.doubtnut.com/l/_o7e5EMwWR6v2
https://dl.doubtnut.com/l/_qCO5psXX1l0h


A. N and P

B. P and As

C. As and Sb

D. Sb and Bi

Answer: C

Watch Video Solution

47. Best reagent for the conversion of  to Ag -

A. 

B. 

C. 

D. 

AgNO3

HCIO4

H3PO2

HIO4

I2

https://dl.doubtnut.com/l/_qCO5psXX1l0h
https://dl.doubtnut.com/l/_gM3Mn1EWxLbq


Answer: B

Watch Video Solution

48. For which of the following elements it is difficult to

disproportionate in +3 oxidation state -

A. N

B. As

C. Sb

D. Bi

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_gM3Mn1EWxLbq
https://dl.doubtnut.com/l/_zcS0CgMUo5KX


49. Which of the following oxoacids of phosphorous is a

reducing agent and a monobsic as well -

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

H4P2O5

HPO3

H3PO3

H3PO2

50. Which of the following contains atleast one lone - pair in all

of its halides -

A. Xe

https://dl.doubtnut.com/l/_gD38LZdWgEhv
https://dl.doubtnut.com/l/_cCvB4LDUWvyO


B. Se

C. Cl

D. N

Answer: A

Watch Video Solution

51. Which of the following in true for  -

A. it is paramagentic

B. it is an anhydirde of 

C. it is a brown gas

D. it exists in solid state in the forms of 

Answer: D

N2O5

HNO2

[NO+
2 ][NO−

3 ]

https://dl.doubtnut.com/l/_cCvB4LDUWvyO
https://dl.doubtnut.com/l/_WS3lCoMEzhvF


Watch Video Solution

52. Which of the following statements is incorrect -

A.  - black phosphorus is formed by heating red

phosphours

B.  - black phosphorus does not burn in air uptp 875K

C. white phosphorus readity catches fir in air to give dense

fumes of 

D. red phosphorus does not react with caustic alkalies

Answer: B

Watch Video Solution

α

β

P4O10

https://dl.doubtnut.com/l/_WS3lCoMEzhvF
https://dl.doubtnut.com/l/_8Pkr8Hm8U6uX


SOLVED NCERT EXMPLAR PROBLEMS

1. When conc.  is added to a chloride salt, white fumes

are evolved but in the case of iodide salts brown fumes are

evolved . This is because -

A. HI is reduced to yield  by 

B. The colour of HI is brown

C. HI is oxidised to gives 

D. HI becomes converted to .

Answer: C

Watch Video Solution

H2SO4

I2 H2SO4

I2

HIO3

https://dl.doubtnut.com/l/_wfJheiv6VvP0


2. In qualitative analysis, a black precipitate is obtained when

 is passed through an acidified aqueous solution of a salt .

A blue coloured solution is obtained on boiling the preciptate

with dilute . The substance obtained on addition of

excess of ammonia solution to this blue solution is -

A. deep blue preciptate of 

B. deep blue solution of 

C. deep blue solution of 

D. deep blue solution of 

Answer: B

Watch Video Solution

H2S

HNO3

Cu(OH)2

[Cu(NH3)4]
2 +

Cu(NO3)2

Cu(OH)2. Cu(NO3)2

https://dl.doubtnut.com/l/_m5pdEjI16peD


3. How many single and double bonds are present in

cyclotrimetaphosphoric acid ?

A. 3 double bond and 9 single bonds

B. 6 double bonds and 6 single bonds

C. 3 double bonds and 15 single bonds

D. zero double and 12 single bonds .

Answer: C

Watch Video Solution

4. Which one of the following elements is able to form 

bond -

A. carbon

pπ − dπ

https://dl.doubtnut.com/l/_ykMR3UXqM2t0
https://dl.doubtnut.com/l/_YcKfUna5UpaW


B. nitrogen

C. phosphorous

D. boron

Answer: C

Watch Video Solution

5. In which of the following ionic pairs, the two ions are

isoelectronic and isostructural.

A. 

B. 

C. 

D. 

CO2 −
3 , NO−

3

CIO−
3 , CO2 −

3

SO2 −
3 , NO−

3

CIO−
3 , SO3 −

2

https://dl.doubtnut.com/l/_YcKfUna5UpaW
https://dl.doubtnut.com/l/_2uRZBwfL5jxZ


Answer: A

Watch Video Solution

6. Hydrogen-affinity of halogens decreases down the group

form F to I . Which one of the hydrogen halides has the highest

bond dissociation enthalpy -

A. HF

B. HCI

C. HBr

D. HI

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_2uRZBwfL5jxZ
https://dl.doubtnut.com/l/_H5DBZZ4N45us


7. A gas is evolved when white phosphours is heated with

concentrated NaOH solution in an inert atmosphere of .

Which one of the following statements about the gas in correct

-

A. the gas is highly poisonous and its odour is similar to

that of rotten fish

B. the aqeuos solution of the gas dissociates in the presence

of light

C. the gas is more basic than 

D. the gas is less basic than 

Answer: A

Watch Video Solution

CO2

NH3

NH3

https://dl.doubtnut.com/l/_sqhyK2ckahn7
https://dl.doubtnut.com/l/_vK1wL0qjIck8


8. Which one of the following acids form 3 types of salts -

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H3PO2

H3BO3

H3PO4

H3PO4

9. The strong reducing property of  is due to -

A. low oxidation state of phosphorus

B. presence of two - OH groups and one P - H bonds

C. present one - OH group and two P - H bonds

H3PO2

https://dl.doubtnut.com/l/_vK1wL0qjIck8
https://dl.doubtnut.com/l/_BfZAdvV8Zfp5


D. high electron gain enthalpy of phosphorus

Answer: C

Watch Video Solution

10. When lead nitrate is heated , oxides fo nitrogen and lead are

obatined . These oxides are -

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

N2O, PbO

NO2, PbO

NO, PbO

NO, PbO2

https://dl.doubtnut.com/l/_BfZAdvV8Zfp5
https://dl.doubtnut.com/l/_FYii93hhSp9p


11. Which one of the following elements does not exhibits

allotrophy -

A. nitrogen

B. bismuth

C. antimony

D. arsenic

Answer: A

Watch Video Solution

12. The highest covlency of nitrogen is -

A. 3

https://dl.doubtnut.com/l/_FYii93hhSp9p
https://dl.doubtnut.com/l/_qixTSP9D0DBi
https://dl.doubtnut.com/l/_WNefQx4ORl13


B. 5

C. 4

D. 6

Answer: C

Watch Video Solution

13. Which of the following statements is not correct -

A. the N-N single bond is stronger than the P-P single bond

B.  acts as a ligand in forming addition compounds with

transition metals

C.  is paramagnetic

D. the covalency of nitrogen in  is 4

PH3

NO2

N2O4

https://dl.doubtnut.com/l/_WNefQx4ORl13
https://dl.doubtnut.com/l/_UrGSCENgGFnT


Answer: A

Watch Video Solution

14. The substance responsible for the appearance of a brown

ring in the ring test for  ions is -

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NO−
3

[Fe(H2O)5(NO)]
2 +

FeSO4NO2

[Fe(H2O)4(NO2)]
2 +

FeSO4. HNO3

https://dl.doubtnut.com/l/_UrGSCENgGFnT
https://dl.doubtnut.com/l/_UarB7G5QDNQS


15. The elements of group-15 form compounds In +5 oxidation

state. However, bismuth forms only one compound In +5

oxidation s tate. The compound is -

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Bi2O5

BiF5

BiCl5

Bi2S5

16. The substances obtained on heating ammonium dichromate

and barium azide separately are-

https://dl.doubtnut.com/l/_UElFuOmu9bF3
https://dl.doubtnut.com/l/_qFZl6HEjG9ag


A.  in both the case

B.  form ammonium dichromate and NO from barium

azide

C.  from ammonium dichromate and  from barium

azide

D.  from ammonium dichromate and  from barium

azide

Answer: A

Watch Video Solution

N2

N2

N2O N2

N2O NO2

17. In the manufacture of  NO is prepared by the catalytic

oxidation of ammonia . The number of moles of NO obained

from 2 moles of  is -

HNO3

NH3

https://dl.doubtnut.com/l/_qFZl6HEjG9ag
https://dl.doubtnut.com/l/_bqcfeNnBqlq8


A. 2

B. 3

C. 4

D. 6

Answer: A

Watch Video Solution

18. The oxidation number of the central atom of the anion of

the compound  is -

A. 

B. 

C. 

NaH2PO2

+3

+5

+1

https://dl.doubtnut.com/l/_bqcfeNnBqlq8
https://dl.doubtnut.com/l/_CILHHdlzdjux


D. 

Answer: C

Watch Video Solution

−3

19. Which one of the following is not tetrahedral In shape -

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NH
+

4

SiCl4

SiF4

SO
2 −
4

https://dl.doubtnut.com/l/_CILHHdlzdjux
https://dl.doubtnut.com/l/_6cyLytNH8wWM
https://dl.doubtnut.com/l/_rEpYqn8phecP


20. Which one of the following is a peroxoacld of sulphur -

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H2SO5 and H2S2O8

H2SO5 and H2S2O7

H2S2O7 and H2S2O8

H2S2O6 and H2S2O7

21. Hot and concentrated  is a strong oxidising agent. It

oxidises both metals and non-metals. Which one of the

following elements forms two gaseous products on oxidation

with conc.  -

H2SO4

H2SO4

https://dl.doubtnut.com/l/_rEpYqn8phecP
https://dl.doubtnut.com/l/_TJsC5Iq9V0WA


A. Cu

B. S

C. C

D. Zn

Answer: C

Watch Video Solution

22. A black compound of Mn reacts with a halogen acid to form

a greenish yellow gas. When  reacts with excess of that

gas, an unstable trihalide is obtained. The change of oxidation

state of nitrogen in this process is -

A.  to 

B.  to 

NH3

−3 +3

−3 0

https://dl.doubtnut.com/l/_TJsC5Iq9V0WA
https://dl.doubtnut.com/l/_wZv7ljNiX0ak


C.  to 

D.  to 

Answer: A

Watch Video Solution

−3 +5

0 −3

23. Preparation of xenon compounds by Neil Bartlett ls based

on the compound  because -

A.  and Xe are similar in size

B. the electron gain enthalpy of  and Xe are the same

C. the ionisaiton enthalpies of  and Xe are the same

D. both Xe and  are gases

Answer: C

O+
2 [PtF6] −

O2

O2

O2

O2

https://dl.doubtnut.com/l/_wZv7ljNiX0ak
https://dl.doubtnut.com/l/_3TMStrPEc5Cy


Watch Video Solution

24. In the solid state,  is -

A. covalent solid

B. octahedral

C. an ionic solid which contains octahedral  ion and

tetrahedral  ions

D. an ionic solid which contains tetrahedral  ion and

octahedral  ions

Answer: D

Watch Video Solution

PCl5

[PCl6] +

[PCl4] −

[PCl4] +

[PCl6] −

https://dl.doubtnut.com/l/_3TMStrPEc5Cy
https://dl.doubtnut.com/l/_lda5H055llzh


25. Reduction potential values of some Ions are given below.

Arrange them in order of decreasing oxidising power-

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CIO
−
4 > IO

−
4 > BrO

−
4

IO
−
4 > BrO

−
4 > CIO

−
4

BrO
−> IO

−
4 >CIO

−
4

4

BrO
−
4 > CIO

−
4 > IO

−
4

26. Which one of the following pair ls isoelectronic -

A. 

B. 

ICI2, CIO2

BrO−
2 , BrF +

2

https://dl.doubtnut.com/l/_H2BUETy0RWgR
https://dl.doubtnut.com/l/_vwdjQzGmogXW


MULTIPLE CHOICE QUESTION

C. 

D. 

Answer: B

Watch Video Solution

CIO2, BrF

CN − , O3

1. H chlorine gu la paued through hot NaOH solution, two

changes are observed in the oxidation number of chlorine

during the reaction. These are ____ and ______.

A. 0 to +5

B. 0 to -3

C. 0 to - 1

https://dl.doubtnut.com/l/_vwdjQzGmogXW
https://dl.doubtnut.com/l/_7ePygyfAgBPp


D. 0 to +1

Answer: A::C

Watch Video Solution

2. Which of the following options are not in accordance with

the property mentioned against them -

A.  (oxidising power )

B.  (ionic character)

C.  ( bond dissociation enthalpy)

D.  (H - X bond strenght)

Answer: B::C

Watch Video Solution

F2 > Cl2 > Br2 > I2

MI > MBr > MCI > MI

F2 > Cl2 > Br > I2

HI < HBr < HCl < HF

https://dl.doubtnut.com/l/_7ePygyfAgBPp
https://dl.doubtnut.com/l/_AcwadTQrNM9O


3. Which of the following are correct for  molecule of white

phosphorus -

A. it has 6 lone pair of electrons

B. it has six P- P single bonds

C. it has three P - P single bonds

D. it has four lone pairs of electrons

Answer: B::D

Watch Video Solution

P4

4. Which of the following statements are correct -

https://dl.doubtnut.com/l/_AcwadTQrNM9O
https://dl.doubtnut.com/l/_9gdGngiKvRFb
https://dl.doubtnut.com/l/_w7zLxq7QiJcW


A. among halogens, radius ratio between iodine and fluorine

is maximum

B. leaving F-F bond, all halogens have weaker X - X bond than

X - X' bond in interhalogens

C. among interhalogen compounds, maximum number of

atoms are present in iodine fluoride

D. interhalogen compounds are more reactive than halogen

compounds

Answer: A::C::D

Watch Video Solution

5. Which of the following statements are correct for  -SO2

https://dl.doubtnut.com/l/_w7zLxq7QiJcW
https://dl.doubtnut.com/l/_I7MlfCBYOTHf


A. it acts as bleaching agent in moist conditions

B. its molecule has linear geometry

C. its dilute solution is used as disinfectant

D. it can be prepared by the reaction of dilute  with

metal sulphide

Answer: A::C

Watch Video Solution

H2SO4

6. Which of the following statements are correct -

A. all the three N- O bond lenghts in  are equal

B. all P- Cl bond lenghts in  molecule in gaseous state

are equal

HNO3

PCl5

https://dl.doubtnut.com/l/_I7MlfCBYOTHf
https://dl.doubtnut.com/l/_knIpFWL1UJWt


C.  molecule in white phosphorus have angular strain

therefore, white phosphorus have angular strain

therefore , white phosphorus is very reaction

D.  is ionic is solid state in which cation is tetrahedral

and anion is octahedral

Answer: C:D

Watch Video Solution

P4

PCl5

7. Which of the following orden are correct as per the

properties mentioned against each-

A.  (acid strength)

B.  (enthalpy of vapourisation )

As2O3 < SiO2 < P2O3 < SO2

AsH3 < PH3 < NH3

https://dl.doubtnut.com/l/_knIpFWL1UJWt
https://dl.doubtnut.com/l/_4hTO04SQ5czO


C.  (more negative electron gain enthalpy)

D.  (thermal stability )

Answer: A

Watch Video Solution

S < O < Cl < F

H2O > H2S > H2Se > H2Te

8. Which of the following statements are correct-

A. S -S bond is present in 

B. in peroxosulphuric acid  Sulphur is in +6

oxidation state

C. iron powder along with  and  is used as a

catalyst in the preparation of  by Haber's process

H2S2O8

(H2SO5)

Al2O3 K2O

NH3

https://dl.doubtnut.com/l/_4hTO04SQ5czO
https://dl.doubtnut.com/l/_5MJ79xo0DqCy


D. change in ethalpy is posititve for th preparation of 

by catalytic oxidation of 

Answer: A

View Text Solution

SO3

SO2

9. In whlch of the following reactions cone.  is used as an

oxidising reagent -

A. 

B. 

C. 

D. 

Answer: B

H2SO4

CaF2 + H2SO4 → CaSO4 + 2HF

2HI + H2SO4 → I2 + SO2 + 2H2O

Cu + 2H2SO4 → CuSO4 + SO2 + 2H2O

NaCl + H2SO4 → NaHSO4 + HCl

https://dl.doubtnut.com/l/_5MJ79xo0DqCy
https://dl.doubtnut.com/l/_UYBF9VTgExmD


Watch Video Solution

10. Which of the following statements are ture -

A. only type of interations between particles particle of

noble gases are due to weak disperison force

B. ionisation enthalpy of molecular oxygen is very close to

that of xenon

C. hydrolysis of  is a redox reaction

D. xenon fluorides are not reactive

Answer: A

Watch Video Solution

XeF6

https://dl.doubtnut.com/l/_UYBF9VTgExmD
https://dl.doubtnut.com/l/_9XG2W7KN5sNc


SHORT ANSWER TYPE

1. In the preparation of  by Contact Process, why is 

not absorbed directly in water to from  >

Watch Video Solution

H2SO4 SO3

H2SO4

2. Write a balanced chemical equation for the reaction showing

catalytic oxidation of  by atmospheric oxygen.

Watch Video Solution

NH3

3. Write the structure of pyrophoric acid.

Watch Video Solution

https://dl.doubtnut.com/l/_vJqGXoXtLJPo
https://dl.doubtnut.com/l/_3LQzmJ24nr85
https://dl.doubtnut.com/l/_8lSed1iOvEvI
https://dl.doubtnut.com/l/_9uEciraHHrPa


4.  forms buddles when passed slowly in water but 

dissolves. Explain why ?

Watch Video Solution

PH3 NH3

5. In  phosphorus is in  hybridised state but all its five

bonds are not equivalent. Justify your answer with reason.

Watch Video Solution

PCl5 sp3

6. Why is nitric oxide paramagnetic in gaseous state but the

solid obtained on coollng it is diamagnetic?

Watch Video Solution

https://dl.doubtnut.com/l/_9uEciraHHrPa
https://dl.doubtnut.com/l/_64F56L2eL5sV
https://dl.doubtnut.com/l/_zWs92LlUzEfR


7. Explain why  exists but  does not

Watch Video Solution

CIF3 FCI3

8. Out of  and , which one has higher bond angle and

why ?

Watch Video Solution

H2O H2S

9.  is known but  is not . Why ?

Watch Video Solution

SF6 SCl6

10. On reaction with  phosphorous forms two types of

halides 'A' and 'B'. Halide A is yellowish - white powder but halide

Cl2

https://dl.doubtnut.com/l/_lOH3mQClJ8f4
https://dl.doubtnut.com/l/_hfwpgP6ynC9b
https://dl.doubtnut.com/l/_y30NTvmTPSsJ
https://dl.doubtnut.com/l/_s6oF5lfMj4C6


'B' is colourless only liquid. Identify A and B and wirte the

formulas fo their hydrolysis products.

Watch Video Solution

11. In the ring test of  ion ,  ion reduces nitrate ion

to nitric oxide, which combines with  to form brown

complex . Write the reactions involved in the formation of

brown ring .

Watch Video Solution

NO−
3 Fe2 +

Fe2 +

12. Explain why the stability of oxoacids of chlorine increases in

the order give below. 

.

Watch Video Solution

HClO < HClO2 < HCIO3 < HCIO4

https://dl.doubtnut.com/l/_s6oF5lfMj4C6
https://dl.doubtnut.com/l/_tz1fOy42wmzB
https://dl.doubtnut.com/l/_y7NJG15O5Qty


13. Explain why ozone is themodynamically less stable than

oxygen .

Watch Video Solution

14.  reacts with water according to equation 

. Calculate the volume of 0.1 M

NaOH solution required to neutrallise the acid formed by

dissolving 1.1 g of  in .

Watch Video Solution

P4O6

P4O6 + 6H2O → 4H3PO3

P4O6 H2O

15. White phosphorus reacts with chlorine and the product

hydrolyses In the presence of water, Calculate the mass of HCI

https://dl.doubtnut.com/l/_y7NJG15O5Qty
https://dl.doubtnut.com/l/_YsgpOHpyVO2V
https://dl.doubtnut.com/l/_cnPqAHj2lgd3
https://dl.doubtnut.com/l/_AGvXH005afvp


obtained by the hydrolysis of the product formed by the

reaction of 62 g of white phosphorus with chlorine in the

presence of water.

Watch Video Solution

16. Name three oxoacids of nitrogen . Write the disproportion

reaction of that oxoacids of nitrogen in which nitrogen is in +3

oxidation state .

Watch Video Solution

17. Nitric acid forms an oxide of nitrogen on reaction with

. Write the reaction involved . Also write the reasonating

structures of the oxides of nitrogen formed.

Watch Video Solution

P4O10

https://dl.doubtnut.com/l/_AGvXH005afvp
https://dl.doubtnut.com/l/_6cuBlMa9Xl3e
https://dl.doubtnut.com/l/_ujvo0kIk6AF6


18. Phosphorus has three allotropic forms - (i) white phosphorus

(ii) red phosphorus and (iii) black phosphorus. Write the

difference between white and red phosphorus on the basis of

structure and reactivity .

Watch Video Solution

19. Give an example to show the effect of concentration of nitric

acid on the formation of oxidation product .

Watch Video Solution

20.  reacts with finely divided silver on heating and a white

silver salts is obtaine d , which dissolved on adding excess

PCl5

https://dl.doubtnut.com/l/_ujvo0kIk6AF6
https://dl.doubtnut.com/l/_nhBngKUK6OfH
https://dl.doubtnut.com/l/_WFS81H9aBu4G
https://dl.doubtnut.com/l/_kqf2AvGpWlTX


MATCHING TYPE

aqueous  solution . Write the reactions involved to explain

what happens .

Watch Video Solution

NH3

21. Phosphorus form a number of oxoacids . Out of these

oxoacids phosphinic acid has strong reduction showing its

reducing behaviour .Write its structure and also write a

reaction showing its reducing behaviour.

Watch Video Solution

1. 

View Text Solution

https://dl.doubtnut.com/l/_kqf2AvGpWlTX
https://dl.doubtnut.com/l/_Icy9yLRERQFw
https://dl.doubtnut.com/l/_NuO9vqSkCboO


ASSERTION - REASON TYPE

1. Assertion (A) :  is less reactive than . 


Reason (R) : Nitrogen has more electron gain enthalpy than

phosphorus.

A. (A) and (R) both are correct statements and (R) is correct

explanation for (A).

B. (A) and (R) both are correct statements but (R) is not

correct explanation for (A).

C. (A) is correct statement but (R) is wrong statement.

D. (A) and (R) both are incorrect statements.

Answer: C

N2 P4

https://dl.doubtnut.com/l/_NuO9vqSkCboO
https://dl.doubtnut.com/l/_WDPyx6YOVOSl


Watch Video Solution

2. Assertion (A) :  makes iron passive. 


Reason (R) :  forms a protective layer of ferric nitrate on

the surface of iron.

A. (A) and (R) both are correct statements and (R) is correct

explanation for (A).

B. (A) and (R) both are correct statements but (R) is not

correct explanation for (A).

C. (A) is correct statement but (R) is wrong statement.

D. (A) and (R) both are incorrect statements.

Answer: C

Watch Video Solution

HNO3

HNO3

https://dl.doubtnut.com/l/_WDPyx6YOVOSl
https://dl.doubtnut.com/l/_lZiQmmkqGWhm


3. Assertion (A) : HI cannot be prepared by the reaction of KI

with concentrated . 


Reason (R) : HI has lowest H - X bond strength among halogen

acids .

A. (A) and (R) both are correct statements and (R) is correct

explanation for (A).

B. (A) and (R) both are correct statements but (R) is not

correct explanation for (A).

C. (A) is correct statement but (R) is wrong statement.

D. (A) and (R) both are incorrect statements.

Answer: B

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_lZiQmmkqGWhm
https://dl.doubtnut.com/l/_AAveFsjlXygW


4. Assertion (A) : both rhombic and monoclinic sulphur exist as

 but oxygen exists as . 


Reason (R) : Oxygen forms  multiple bond due to samll

size and small bond length but  bonding is not

possible in sulphur .

A. (A) and (R) both are correct statements and (R) is correct

explanation for (A).

B. (A) and (R) both are correct statements but (R) is not

correct explanation for (A).

C. (A) is correct statement but (R) is wrong statement.

D. (A) and (R) both are incorrect statements.

Answer: A

Watch Video Solution

S8 O2

pπ − pπ

pπ − pπ

https://dl.doubtnut.com/l/_COuMDCw3oju1


5. Assertion (A) : NaCl reacts with concentrated  to give

coloured fumes with pungent smell. But on adding  the

fumes become greenish - yellow. 

Reason (R) :  oxidises HCl to chlorine gas which is

greenish -yellow. 

Reason (R) :  oxidises  to chlorine gas which

greenish- yellow.

A. (A) and (R) both are correct statements and (R) is correct

explanation for (A).

B. (A) and (R) both are correct statements but (R) is not

correct explanation for (A).

C. (A) is correct statement but (R) is wrong statement.

D. (A) and (R) both are incorrect statements.

H2SO4

MnO2

MnO2

MnO2 HCI

https://dl.doubtnut.com/l/_COuMDCw3oju1
https://dl.doubtnut.com/l/_sCRvr7yVczVj


Answer: A

Watch Video Solution

6. Assertion(A) :  cannot be hydroluysed but  can be . 


Reason (R) : Six F atoms in  prevent the attack of  on

sulphur atom of .

A. (A) and (R) both are correct statements and (R) is correct

explanation for (A).

B. (A) and (R) both are correct statements but (R) is not

correct explanation for (A).

C. (A) is correct statement but (R) is wrong statement.

D. (A) and (R) both are incorrect statements.

Answer: A

SF6 SF4

SF6 H2O

SF6

https://dl.doubtnut.com/l/_sCRvr7yVczVj
https://dl.doubtnut.com/l/_mVVn3p4gyj9O


Watch Video Solution

7. An amorphous solid A burns in air to form a gas B which

turns lime water milky . The gas is also produced during

roasting of sulphide ore. This gas decolourises acidifed aqueous

 solution and reduces  to  . Identify the

solid 'A' and the gas B and write the reactions involved .

View Text Solution

KMnO4 Fe3 + Fe2 +

8. On heating lead (II) nitrate gives a brown gas 'A' . The gas 'A'

on cooling changes to colourisess solid 'B'. Solid 'B' on heating

with NO change to a blue solid 'C'. Identify 'A' ,'B' and 'C' and also

write reactions involved and draw the structures of 'B' and 'C'.

View Text Solution

https://dl.doubtnut.com/l/_mVVn3p4gyj9O
https://dl.doubtnut.com/l/_0CRdAS6U93vu
https://dl.doubtnut.com/l/_0tIAVi1xlDhq


MCQ( SINGLE CORRECT TYPE)

9. On heating compound 'A ' gives a gas 'B' which is a

constituent of air. This gas when treated with 3 mol of

hydrogen  in the presence of a catalyst gives another gas

'C' which is basic in nature. Gas 'C', on further oxidation Jn moist

condition gives a compod 'D' and also give necessary equations

of the steps involved .

Watch Video Solution

(H2)

1. The catalyst used in the manufacture of ammonia by Haber's

process is -

A. Fe/Mo

https://dl.doubtnut.com/l/_0tIAVi1xlDhq
https://dl.doubtnut.com/l/_KjPyg2vrJlpz
https://dl.doubtnut.com/l/_mGRxLTVh91wG


B. 

C. 

D. 

Answer: A

Watch Video Solution

P2O5

Pt

NiO

2. If acidified  solution is added dropwise into sodium

peroxide solution the gas evolved is -

A. dinitrogen

B. dioxygen

C. dihydrogen

D. hydrogen peroxide

KMNO4

https://dl.doubtnut.com/l/_mGRxLTVh91wG
https://dl.doubtnut.com/l/_dJJnaUszBfAe


Answer: B

Watch Video Solution

3. Which one of the following oxides reacts with water to

produce oxygen -

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

KCIO3

Na2O2

CaO

SO3

https://dl.doubtnut.com/l/_dJJnaUszBfAe
https://dl.doubtnut.com/l/_jCtbPmQKdO1R


4. The ions present in  are -

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

KHF2

K + , F − , H +

K + , F − , HF −

K + and [HF2] −

[KHF ] + and F −

5. Which one of the following ions is not a pseudohalogen-

A. 

B. 

CNO−

RCOO−

https://dl.doubtnut.com/l/_gguJR0FeWoJE
https://dl.doubtnut.com/l/_PyPilSmK0Uvp


C. 

D. 

Answer: B

Watch Video Solution

OCN −

N −
3

6. The geometrical shape of  ion is -

A. trigonal pyramidal

B. tetrahedral

C. trigonal planar

D. trigonal bipyramidal

Answer: B

Watch Video Solution

CIO−
3

https://dl.doubtnut.com/l/_PyPilSmK0Uvp
https://dl.doubtnut.com/l/_7Gbixi1eXyQg


7. Which one of the following does not undergo hydrolysis-

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

AsCl3

PF3

SbCl3

NF2

8. Which one of the following is the correct sequence of their

melting points-

A. HF > HI > HBr > HCI

https://dl.doubtnut.com/l/_7Gbixi1eXyQg
https://dl.doubtnut.com/l/_fbN4Wu7bIGdP
https://dl.doubtnut.com/l/_cfQaHSAsHkA7


B. 

C. 

D. 

Answer: A

Watch Video Solution

HF > HBr > HI > HCI

HCl > HBr > HI > HF

HCl > HI > HBr > HF

9. In which one of the following P - H bond is absent -

A. 

B. 

C. 

D. 

Answer: D

H3PO2

H3PO3

H4P2O5

H3PO4

https://dl.doubtnut.com/l/_cfQaHSAsHkA7
https://dl.doubtnut.com/l/_BmnNYc6NsWHv


Watch Video Solution

10. Hydrolysis of  and CaNCN gives respectively-

A.  and 

B.  and 

C.  and 

D.  and 

Answer: D

Watch Video Solution

XeF4

XeO3 CaCO3

XeO2 CaCN2

XeOF3 CaCN2

XeOF2 CaCO3

11. Which one of the following exists as a molecule in the

gaseous state and remains ionised in the solid state -

https://dl.doubtnut.com/l/_BmnNYc6NsWHv
https://dl.doubtnut.com/l/_pQcJbHY4BPRa
https://dl.doubtnut.com/l/_hndjRidy6YJH


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

PCl5

CCl4

PCl4

POCl3

12. The salt produced by the neutralisation of hypophosphours

acid with NaOH is -

A. 

B. 

C. 

Na3PO2

Na3PO3

NaH2PO2

https://dl.doubtnut.com/l/_hndjRidy6YJH
https://dl.doubtnut.com/l/_IEpi1SOXEw65


D. 

Answer: C

Watch Video Solution

Na2HPO2

13. The percentage of  - character of the P - P bonds present in 

 is -

A. 25

B. 33

C. 50

D. 75

Answer: D

Watch Video Solution

π

P4

https://dl.doubtnut.com/l/_IEpi1SOXEw65
https://dl.doubtnut.com/l/_MENJqnO7iaO9


14. Which one of the following represents the correct sequence

of acidic character -

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HOClO3 < HOClO2 < HOCIO < HOCl

HOCl < HOClO < HOClO2 < HOClO3

HOCl < HOClO2 < HOClO < HOClO3

HClO2 < HOClO3 < HOClO < HOCl

15.  is a -

A. disproportionation reaction

P4 + 3NaOH + 3H2O → 3NaH2PO2 + PH3

https://dl.doubtnut.com/l/_MENJqnO7iaO9
https://dl.doubtnut.com/l/_K23VoADSeRjG
https://dl.doubtnut.com/l/_OUM5SNZY9dKm


B. neutralisation reaction

C. double decomposition reaction

D. pyrolytic reaction

Answer: A

Watch Video Solution

16. A compound reacts withs excess nitric acid and ammonium

molibdate to give a yellow prepcipitate and with  a red

preciptate. The compound si -

A. orthophosphate

B. pyrophosphate

C. metaphosphate

D. hydpophosphate

AgN3

https://dl.doubtnut.com/l/_OUM5SNZY9dKm
https://dl.doubtnut.com/l/_NEGiiPXl4SK0


Answer: A

Watch Video Solution

17. Liver of sulphur is a mixture of -

A. potassium chloride and potassium thiosulphate

B. potassium carbonate and potassium thiosulphate

C. potassium nitrate and potassium thiosulphate

D. potassium thiosulphate and potassium disulphide

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_NEGiiPXl4SK0
https://dl.doubtnut.com/l/_YoHcVkNZQzBC


18. Which one of the following represents the correct sequence

of bond order -

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

N +
2 > N2 > N −

2

N −
2 > N2 > N +

2

N2 > N +
2 > N −

2

N −
2 > N +

2 > N2

19. In contact with conc.  skin turns yellow because -

A. protein is converted to xanthoprotein

B.  acts as a dehydrating agent

HNO3

HNO3

https://dl.doubtnut.com/l/_iokeQosojGtC
https://dl.doubtnut.com/l/_20wN2PTmCx90


C. nitrocellulose is produced

D.  serves as an oxidising agent

Answer: A

Watch Video Solution

HNO3

20. The correct sequence of O - O bond order in  ,  and 

 is -

A. 

B. 

C. 

D. 

Answer: B

O2 H2O2

O3

H2O2 < O3 < O2

O2 < O3 < H2O2

O3 < O2 < H3O2

O3 < H2O2 < O2

https://dl.doubtnut.com/l/_20wN2PTmCx90
https://dl.doubtnut.com/l/_teqGOG2Dcjj3


Watch Video Solution

21. The colour of the gas evolved by the reaction between

chloroplatinic acid and ammonia is -

A. white

B. yellow

C. green

D. violent

Answer: B

Watch Video Solution

22. The number of S - S bonds in sulphur trioxide trimer 

is -

(S3O9)

https://dl.doubtnut.com/l/_teqGOG2Dcjj3
https://dl.doubtnut.com/l/_ifEo6q32MpGI
https://dl.doubtnut.com/l/_K6I8Kz329Ied


A. 3

B. 2

C. 1

D. 0

Answer: D

Watch Video Solution

23. The colour of a flower is bleached by the reducing action of

a gas and by the oxidising action of another gas. The gases are -

A. 

B. 

C. 

CO and CO2

H2S and Br2

SO2 and CI2

https://dl.doubtnut.com/l/_K6I8Kz329Ied
https://dl.doubtnut.com/l/_vHuZ0RJxONAz


D. 

Answer: C

Watch Video Solution

NH3 and SO3

24. The most stable noble gas hydrate is -

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Kr − 4H2O

Kr.6H2O

Xe.4H2O

Xe.6H2O

https://dl.doubtnut.com/l/_vHuZ0RJxONAz
https://dl.doubtnut.com/l/_EcQxECrppqh0
https://dl.doubtnut.com/l/_0Ymt0eeUX3Rc


25. Which of the following nitrogen oxides in ionic -

A. nitrogen trioxide

B. nitrogen pentoxide

C. dinitrogen tetroxide

D. ntric oxide

Answer: B

Watch Video Solution

26. The hybridisation state of iodine in  is -

A. 

B. 

C. 

ICI −
2

sp3d

sp3d2

sp2

https://dl.doubtnut.com/l/_0Ymt0eeUX3Rc
https://dl.doubtnut.com/l/_KNZkseH01GKZ


D. 

Answer: B

Watch Video Solution

sp3

27. The number of lone pair of electrons on the Xe - atom in

 and  molecules are respectively -

A. 3,2,1

B. 4,3,2

C. 2,3,1

D. 3,2,0

Answer: A

View Text Solution

XeF2, XeF4 XeF6

https://dl.doubtnut.com/l/_KNZkseH01GKZ
https://dl.doubtnut.com/l/_VSm1xK4VqMpU


28. Which one of the following does not give any precipitate on

reaction with lead acetate -

A. HI

B. HBr

C. HCI

D. HF

Answer: B

Watch Video Solution

29. In Fischer - Ringe's method , which of the following is used

to separate the mixture of noble gases from air -

https://dl.doubtnut.com/l/_VSm1xK4VqMpU
https://dl.doubtnut.com/l/_9XvJU2O1w1SB
https://dl.doubtnut.com/l/_Q1ZYyww8nAAJ


A. 

B. coconut charcoal

C. sodalime + potash solution

D.  + 10% urea

Answer: A

Watch Video Solution

90 % CaC2 + 10 % CaCl2

90 % CaCO3

30. The bottle of liqure ammonia is cooled before opening the

cork because it -

A. is a mild explosive

B. is a corrosive liquid

C. is harmful to lung

https://dl.doubtnut.com/l/_Q1ZYyww8nAAJ
https://dl.doubtnut.com/l/_EdtLjF5kxweA


D. exerts high vapour pressure

Answer: D

Watch Video Solution

31. With increase in the number of - OH group in

 acidic nature -

A. gradually increases

B. gradully decreases

C. remains the same

D. no difference

Answer: C

Watch Video Solution

H2PO2, H3PO3 and H3PO4

https://dl.doubtnut.com/l/_EdtLjF5kxweA
https://dl.doubtnut.com/l/_S03Kz3XXG0Kr


32. In which of the following reactions , does not act as

an oxidising agent -

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

HNO3

I2 + 10HNO3 → 2HIO3 + 10NO2 + 4H2O

3Cu + 8HNO3 → 3Cu(NO3)2 + 2NO + 4H2O

2HNO3 + P2O5 → 2HPO3 + N2O5

NO3 + 3Fe2 + + 4H + → NO + 3Fe3 + + 2H2O

33. The main reason behind fluorine to be the strongest

oxidising agent is its -

https://dl.doubtnut.com/l/_S03Kz3XXG0Kr
https://dl.doubtnut.com/l/_qBaf4rlP28zd
https://dl.doubtnut.com/l/_PkmDH9EULiAy


A. electron affinity

B. ionisation enthalpy

C. hydration enthalpy

D. bond dissociation energy

Answer: C

Watch Video Solution

34. In spite of the presence of unpaired electron,  does

not form dimer because -

A. the unpaired electron gets delocalised

B. the unpaired electron gets deloclised over chlorine

C. two  bonds are of unequal lenghts

CIO2

CI − O

https://dl.doubtnut.com/l/_PkmDH9EULiAy
https://dl.doubtnut.com/l/_Ykta5IjRzXIa


D.  bond is present in chlorine

Answer: A

Watch Video Solution

px − px

35. Which of the following is baisc as well as reducing.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

SO2 −
3

SO
2 −
4

S2O
2 −
4

HSO
−
4

https://dl.doubtnut.com/l/_Ykta5IjRzXIa
https://dl.doubtnut.com/l/_iaJapdDNQyBC
https://dl.doubtnut.com/l/_pA8EKDVTOQAD


36. Which one of the following is used as the photosenitive

substance in xerox machines -

A. Hg

B. black P

C. Se

D. Te

Answer: C

Watch Video Solution

37. Which is not correct -

A.  is a strong oxidant

B. under high pressure Xe react with  to give 

XeF2

F2 XeF2

https://dl.doubtnut.com/l/_pA8EKDVTOQAD
https://dl.doubtnut.com/l/_BG8eM210WYyC


C. alkaline hydrolysis of  gives Xe and 

D. there are 2 bond pairs and 3 lone pairs in 

Answer: A

Watch Video Solution

XeF2 O2

XeF2

38. In which one of the following  bond is present -

A. 

B. 

C. 

D. `CO,NO,CO_(2)

Answer: B

View Text Solution

dπ − pπ

NO−
3 , NO−

2 , N 3 − , CN −

P2O3, P2O4, PO3 −
4

NH3, PH3, BiH3

https://dl.doubtnut.com/l/_BG8eM210WYyC
https://dl.doubtnut.com/l/_YFp78Lx77yw3


39. Which one of the following is known as glacial phosphoric

acid -

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H3PO4

HPO4

H4P2O7

H3PO2

40. Which of the following is used to prepare  from a

sample of 

UF6

235
92 U −

https://dl.doubtnut.com/l/_YFp78Lx77yw3
https://dl.doubtnut.com/l/_M5hhZDtw1egy
https://dl.doubtnut.com/l/_h4TE5kdh329Z


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

AIF3

CaF2

HF

CIF5

41. In impure state , phosphine is not combustible due to the

presence of -

A. 

B. 

C. 

P2H4

N2

PH5

https://dl.doubtnut.com/l/_h4TE5kdh329Z
https://dl.doubtnut.com/l/_DS6XKiZEe97n


D. 

Answer: A

View Text Solution

P2O5

42. Which of the following statements is not correct -

A. on heating ,  gives 

B.  is a brown coloured gas

C.  is diamagetic in nature

D.  readily forms dimer 

Answer: C

Watch Video Solution

Pb(NO3)2 NO2

NO2

NO2

NO2 N2O4

https://dl.doubtnut.com/l/_DS6XKiZEe97n
https://dl.doubtnut.com/l/_lSETCQxwucIn
https://dl.doubtnut.com/l/_yktzZo9qoIKX


43. At - , coconut charcoal absorbs the mixture of -

A. He and Kr

B. Ar, Kr and Xe

C. Kr and Xe

D. He and Ne

Answer: B

Watch Video Solution

100∘C

44. In the reaction ,  -

A. 

B. 

C. 

IO−
3 + aI − + bH + → cH2O + dI2

a = 5, b = 6, c = 3, d = 3

a = 5, b = 3, c = 6, d = 3

a = 3, b = 5, c = 3, d = 6

https://dl.doubtnut.com/l/_yktzZo9qoIKX
https://dl.doubtnut.com/l/_jDzDinwpxiGV


D. 

Answer: A

View Text Solution

a = 5, b = 6, c = 5, d = 5

45. Order of nucleophilic character of  is -

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

I − , CI − , Br−

I − < Br− < Cl−

Cl− < Br− < I −

I − < Cl− < Br−

Br− < Cl− < I −

https://dl.doubtnut.com/l/_jDzDinwpxiGV
https://dl.doubtnut.com/l/_2upQdDhrZbom
https://dl.doubtnut.com/l/_b9zsdsPWNO4t


46.  is treated with excess KI and then  is

added to the reaction mixture. Which of the following is not

correct -

A.  is produced

B.  is produced

C.  is oxidised

D.  gets reduced

Answer: B

Watch Video Solution

CuSO4 Na2S2O3

Cu2I2

CuI2

Na2S2O3

I2

47. The oxidation state of Fe in the brown ring

 is -[Fe(H2O)5NO]
2 +

https://dl.doubtnut.com/l/_b9zsdsPWNO4t
https://dl.doubtnut.com/l/_2ZajNVoCfC4H


A. 0

B. 

C. 

D. 

Answer: B

Watch Video Solution

+1

+2

+3

48. Hypochlorous acid undergoes disproportionation reaction

to produce -

A.  and 

B.  and 

C. 

HCIO3 CI2O

HCIO2 HCIO4

HCI and CI2O

https://dl.doubtnut.com/l/_2ZajNVoCfC4H
https://dl.doubtnut.com/l/_hsJIJBrrd4dF


D. 

Answer: D

Watch Video Solution

HCI and HCIO3

49. Euchlorine is a mixture of -

A. 

B. 

C. 

D. None of these

Answer: D

Watch Video Solution

CI2, CI2O

CI2, CIO2

CIO2, CI2O

https://dl.doubtnut.com/l/_hsJIJBrrd4dF
https://dl.doubtnut.com/l/_ODeOvzeyBweK
https://dl.doubtnut.com/l/_O2cb5Zt6or83


MCQ( MORE THAN ONE CORRECT TYPE)

50. The available chlorine content of a sample of bleaching

powder is 49. If 10g of this sample is treated with HCI, volume of

evolved  (at STP ) will be -

A. 1.5L

B. 3.0L

C. 15.0L

D. 150L

Answer: A

Watch Video Solution

CI2

https://dl.doubtnut.com/l/_O2cb5Zt6or83


1. Which of the following nitrate pairs produce the same

gaseous substance on thermal decomposition -

A.  and 

B.  and 

C.  and 

D.  and 

Answer: B

Watch Video Solution

KNO3 Pb(NO3)2

KNO3 NaNO3

Pb(NO3)2 Ca(NO3)2

NaNO3 Ca(NO3)2

2. Which of the following statements are incorrect -

A. soild  exists as tetrahedral  and octhedral PCI5 [PCl4] +

[PCl6] −

https://dl.doubtnut.com/l/_s51COjYld0IN
https://dl.doubtnut.com/l/_HssvkjC4gQRg


B.  and  exists as monomers

C. soild  exsits as 

D. solid  exists as 

Answer: B

Watch Video Solution

P2O3 P2O5

PCl5 [PCl4] +
Cl

N2O5 NO+
2 NO−

3

3. The compound X reacts with ozone in aqueous medium to

form Y. Ozone reacts with Y to form . If Z is an oxidising agent,

then X, Y and Z are respectively -

A. 

B. 

C. 

D. 

X = HI, Y = I2, Z = HIO3

X = KI, Y = I2, Z = HIO3

X = KI, Y = I2, X = HIO4

X = HI, Y = I2, Z = HIO4

https://dl.doubtnut.com/l/_HssvkjC4gQRg
https://dl.doubtnut.com/l/_kgxnQXaRHRpM


Answer: B

Watch Video Solution

4. Which of the following gases make a piece of filter paper

soaked in acidified potassium dichromate solution green -

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CO2

NO

SO3

SO2

https://dl.doubtnut.com/l/_kgxnQXaRHRpM
https://dl.doubtnut.com/l/_HSq4naZ2EUZW


5. In which of the following compounds peroxo linkage

 is present -

A. 

B. 

C. 

D. 

Answer: B::D

Watch Video Solution

( − O − O − )

H2S2O3

H2SO5

H2S2O7

H2S2O8

6. In which of the following, cationic is present -

A. 

B. 

IF7

ICI3

https://dl.doubtnut.com/l/_DQp6brWnxdRl
https://dl.doubtnut.com/l/_1kWXizNwbs2U


C. 

D. 

Answer: B

View Text Solution

IPO4

I2O5

7. Which statements regarding  are correct -

A. it undergoes partial hydrolysis to yield to 

B. it reacts with silica to produce 

C. it is obtained by reaction between  and 

D. it reacts with  to from to from 

Answer: A

Watch Video Solution

XeF6

XeOF4

XeOF4

XeF4 O2F2

XeO3 XeOF4

https://dl.doubtnut.com/l/_1kWXizNwbs2U
https://dl.doubtnut.com/l/_NQBFpJr6A2E5


VERY SHORT ANSWER - TYPE QUESTIONS

8. Which of the following statements regarding inter-halogen

compounds of the type  are correct -

A. the value of x may be 1,3,5 and 7

B. A is more electronegative than B

C.  has no existence

D.  and  and distorted form their normal shapes

and that can be explained by VSEPR theory

Answer: A,C

Watch Video Solution

ABx

FBr3

CIF3 IF5

https://dl.doubtnut.com/l/_NQBFpJr6A2E5
https://dl.doubtnut.com/l/_KWDY7wdRKUCd
https://dl.doubtnut.com/l/_RIJkIORVjClt


1. Write the electronic configuration of Bi with noble gas core.

Watch Video Solution

2. Write names of two important minerals of phosphorus.

Watch Video Solution

3. Which one among the pnicogent is a typical metal ?

Watch Video Solution

4. Which group - 15 elements has the lowest ionisation enthalpy

?

View Text Solution

https://dl.doubtnut.com/l/_RIJkIORVjClt
https://dl.doubtnut.com/l/_DKMLTmbxu2PU
https://dl.doubtnut.com/l/_ryimdFEN4LiU
https://dl.doubtnut.com/l/_xQ61YoBUl9TX


5. Which one of group - 15 elements has the lowest boiling

point?

Watch Video Solution

6. Which of the group - 15 hydrides is the strongest base ?

Watch Video Solution

7.  exists but  does not. Why ?

Watch Video Solution

PCI5 NCI5

https://dl.doubtnut.com/l/_xQ61YoBUl9TX
https://dl.doubtnut.com/l/_DrOUTCKP8I9h
https://dl.doubtnut.com/l/_osDcotVmWDrv
https://dl.doubtnut.com/l/_b0MIcsNbS7pX


8. Which one of group -15 hydrides is the stronger boiling

points?

Watch Video Solution

9. Which nitrogen halide does not undergo hydrolysis ?

Watch Video Solution

10. Explain why  is very less reactive at normal temperature .

Watch Video Solution

N2

11. Explain why  forms dimer .

Watch Video Solution

NO2

https://dl.doubtnut.com/l/_IoVcNMvcQ3vD
https://dl.doubtnut.com/l/_ai4XH2ArcCXi
https://dl.doubtnut.com/l/_jubwjRY7hmG7
https://dl.doubtnut.com/l/_X1RlNcRcTicp


12.  possess reducing property - why ?

Watch Video Solution

H3PO2

13. How can it be proved that  possess basic property ?

Watch Video Solution

PH3

14.  exists but  does not - why ?

Watch Video Solution

R3P = O R3N = O

15. How does  exist in the solid state ?

Watch Video Solution

PCl5

https://dl.doubtnut.com/l/_X1RlNcRcTicp
https://dl.doubtnut.com/l/_GaAbCqXXRHzn
https://dl.doubtnut.com/l/_2s1Ezz8B9ca0
https://dl.doubtnut.com/l/_XYwQn4cGAtiD
https://dl.doubtnut.com/l/_zhJJWXhVQXI0


Watch Video Solution

16. Phosphoric acid is syrupy liquid - why ?

Watch Video Solution

17. Explain why  is the strongest reducing agent among

the hydrides of group - 15 elements.

Watch Video Solution

BiH3

18. Which group-16 elements has the highest electronegativity ?

Watch Video Solution

https://dl.doubtnut.com/l/_zhJJWXhVQXI0
https://dl.doubtnut.com/l/_f9PNf2FqApZe
https://dl.doubtnut.com/l/_EdjAtLwuCFjm
https://dl.doubtnut.com/l/_3bV57o8Db8dE


19. Which of the group-15 hydrides has the highest

electronegativity ?

Watch Video Solution

20.  is more acidic than  why ?

Watch Video Solution

H2S H2O

21. Mention the shape of  molecule.

Watch Video Solution

SF6

22. Unlike sulphur , oxygen does not exhibit + 4 and = 6 states -

why ?

https://dl.doubtnut.com/l/_adbWm4CjcK9X
https://dl.doubtnut.com/l/_40esHY9FaYMG
https://dl.doubtnut.com/l/_XkqOJt2gaLMh
https://dl.doubtnut.com/l/_uZoeHAZIAHZP


Watch Video Solution

23. Give example of two compounds one in which the oxidation

state of oxygen is +2 and the other in which it is -1.

Watch Video Solution

24. Given an example of a salts which produces dioxygen when

heated.

Watch Video Solution

25. Explain why  possesses considerbale reducing property.

Watch Video Solution

SO2

https://dl.doubtnut.com/l/_uZoeHAZIAHZP
https://dl.doubtnut.com/l/_OO6pLTEqiV79
https://dl.doubtnut.com/l/_vycAwivPrI70
https://dl.doubtnut.com/l/_yb9HB0E3o3Z4
https://dl.doubtnut.com/l/_nkOt9gem3rWa


26. What is oleum ?

Watch Video Solution

27. Prove that fluorine is a stronger oxidising agent that chorine

.

Watch Video Solution

28. Give an example of a compound where oxidation state of 

is + 7.

Watch Video Solution

CI

https://dl.doubtnut.com/l/_nkOt9gem3rWa
https://dl.doubtnut.com/l/_J9Au22vqpbSa
https://dl.doubtnut.com/l/_Wsk8mEf9lvqx


29. Explain why HF is the weakest among the halogen hydracids

even though fluorine is the highest electronegative elements

Watch Video Solution

30. Explain why fluorine does not form  ions.

Watch Video Solution

F −
3

31. Name a poisonous gas which can be prepared form  gas .

Watch Video Solution

CI2

32. Which halogen hydracid cannot be stored in a glass vessel ?

Watch Video Solution

https://dl.doubtnut.com/l/_fgFozY0ZA8ls
https://dl.doubtnut.com/l/_R4VQw4uo1hmY
https://dl.doubtnut.com/l/_GBjt5wqcPzfb
https://dl.doubtnut.com/l/_WRx09pkt1meq


FILL IN THE BLANKS

33. Which oxoacid of chlorine is the strongest one?

Watch Video Solution

34. Give an example of an interhalogen compound which is

pentagonal bipyramidal in shape.

Watch Video Solution

35. Which noble gas compound is isostructural with  ?

Watch Video Solution

IBr−
2

https://dl.doubtnut.com/l/_WRx09pkt1meq
https://dl.doubtnut.com/l/_2MWRfy85Vwv7
https://dl.doubtnut.com/l/_VE619XC7a34l
https://dl.doubtnut.com/l/_49gtQCOEnf1O


1. Due to ____ ,nitrogen does not from pentahalides.

Watch Video Solution

2. In the gaseous state, nitric oxide is ____ but in the liquid state

it is ____.

Watch Video Solution

3. _____ is formed on dehydration of  by .

Watch Video Solution

HNO3 P4O10

4.  is a _______acid.

Watch Video Solution

H3PO3

https://dl.doubtnut.com/l/_QGwYNX8h0nU6
https://dl.doubtnut.com/l/_dga1OTWO3gXt
https://dl.doubtnut.com/l/_L3otCMqOTZIk
https://dl.doubtnut.com/l/_q9U2zTTmW6i9


5. Only compound of Bi with +5 oxidation state is _____.

Watch Video Solution

6. Among conc.  and , only ______ can

be used for drying  gas in the laboratory.

Watch Video Solution

H2SO4, P2O5, CaO CaCl2

NH3

7. _____out of Bi(V) and Sb(V) is stronger oxidising agent.

Watch Video Solution

8. _____ is the most abundant among all the elements.

https://dl.doubtnut.com/l/_q9U2zTTmW6i9
https://dl.doubtnut.com/l/_53Zql6MioIFR
https://dl.doubtnut.com/l/_KGPLJyBURGjQ
https://dl.doubtnut.com/l/_30UkhZNvpAu3
https://dl.doubtnut.com/l/_Tdzpu48vkQy4


Watch Video Solution

9. _____ is a photosensitive element.

Watch Video Solution

10. The central S-atom of  molecule is ______ hybridised.

Watch Video Solution

SF6

11. Superoxides exhibit ____ .

Watch Video Solution

12. The oxidation state of sulphur in Marshall's acid is _______.

https://dl.doubtnut.com/l/_Tdzpu48vkQy4
https://dl.doubtnut.com/l/_HCJ0CGPTyYa8
https://dl.doubtnut.com/l/_vNWQryYnBmAe
https://dl.doubtnut.com/l/_FjiiBvfujlMF
https://dl.doubtnut.com/l/_uD3zj9bl1nUJ


Watch Video Solution

13. Due to______conc.  is a high boiling liquid.

Watch Video Solution

H2SO4

14. _______ is the most reactive among the halogens.

Watch Video Solution

15. The F-F bond dissociation enthalpy is ____ than the Cl-Cl bond

dissociation enthalpy.

Watch Video Solution

https://dl.doubtnut.com/l/_uD3zj9bl1nUJ
https://dl.doubtnut.com/l/_knoRO2yxEImn
https://dl.doubtnut.com/l/_uSTiaXeTBgMi
https://dl.doubtnut.com/l/_hpKwPEtEur1q


SHORT ANSWER-TYPE QUESTIONS

16. HF is a ____ acid than HI.

Watch Video Solution

17. Iodine exhibits an oxidation state of________in the third

excited state.

Watch Video Solution

1. Nitrogen is a gas while phosphorus is a solid-why?

Watch Video Solution

https://dl.doubtnut.com/l/_4Cn1g1gwg8Nh
https://dl.doubtnut.com/l/_Cxi2KQ4TZDvm
https://dl.doubtnut.com/l/_OLLyyi5wlYXi


2. White phosphorus is more reactive than red phosphorus-

why?

Watch Video Solution

3. Give an example of the formation of a solid product by the

reaction between two gaseous substances.

Watch Video Solution

4. Liquid ammonia is widely used as a refrigerant-why?

Watch Video Solution

5.  acts as a reducing agent but  does not why?H3PO3 H3PO4

https://dl.doubtnut.com/l/_R9Xx2AJ8Ku5B
https://dl.doubtnut.com/l/_x3X12Na9HLA9
https://dl.doubtnut.com/l/_hR5PfIX2sqWh
https://dl.doubtnut.com/l/_8hDko72bf0hE


Watch Video Solution

6.  undergoes ready hydrolysis but  does not why?

Watch Video Solution

NCl3 NF3

7. Give an example of a disproportionation reaction of .

Watch Video Solution

H3PO3

8. What is Holme's signal?

Watch Video Solution

9. At room temperature,  is a liquid but  is a gas why?H2O H2S

https://dl.doubtnut.com/l/_8hDko72bf0hE
https://dl.doubtnut.com/l/_kvUYlX1Dllp0
https://dl.doubtnut.com/l/_stf4jXyUjqYe
https://dl.doubtnut.com/l/_LH1evSDdueVi
https://dl.doubtnut.com/l/_PmTuSA43Anlr


Watch Video Solution

10. Explain why ozone is a strong oxidising agent.

Watch Video Solution

11.  is called peroxide but  is called dioxide why ?

Watch Video Solution

Na2O2 PbO2

12. Rubber cork is not used in any experiment involving - why ?

Watch Video Solution

https://dl.doubtnut.com/l/_PmTuSA43Anlr
https://dl.doubtnut.com/l/_qYpxz1x9QiWk
https://dl.doubtnut.com/l/_WsvJxrrcx3Q1
https://dl.doubtnut.com/l/_8Unc7z5cuiIS


13. How can dilute  be prepared from concentrated 

 ?

Watch Video Solution

H2SO4

H2SO4

14. State what happens when cone.  is added to cane

sugar.

Watch Video Solution

H2SO4

15.  does not exist-why?

Watch Video Solution

OF6

https://dl.doubtnut.com/l/_tUEJlX9tat48
https://dl.doubtnut.com/l/_q7PhCbR5sEhR
https://dl.doubtnut.com/l/_AuZPqWBw85HJ


16. Identify X in the reaction:  and

explain.

Watch Video Solution

Cl2 + 2X − → 2Cl− + X2

17. Arrange  and  in order of

increasing oxidising power and explain the order.

Watch Video Solution

HCIO, HCIO3, HCIO4 HCIO4

18. Iodine is libereated when  reacts with KI but chlorine is

not liberated when  is allowed to react with KCI. Why ?

View Text Solution

Cu2 +

Cu2 +

https://dl.doubtnut.com/l/_L9QeVROfb93s
https://dl.doubtnut.com/l/_CxOFDz3Mf43J
https://dl.doubtnut.com/l/_IRC52aGAjHFA


19. What can be used to remove iodine stain from clothes and

why?

Watch Video Solution

20. F is a non-metal but I exhibits some metallic property why?

Watch Video Solution

21. lnterhalogen compounds are more reactive halogens-why?

Watch Video Solution

22. The noble gases are almost chemically inert-why ?

Watch Video Solution

https://dl.doubtnut.com/l/_S0cOUEEi7uJi
https://dl.doubtnut.com/l/_2xULRlbntsR3
https://dl.doubtnut.com/l/_EZb4aG3JeLXu
https://dl.doubtnut.com/l/_gWaQQ0p8W7iZ


ADDITIONAL QUESTIONS ( STATE WITH EQUATIONS, WHAT HAPPENS

WHEN)

23. Explain why xenon can be liquefied more easily helium.

Watch Video Solution

1. Excess of ammonia solution is added to  solution.

Watch Video Solution

CuSO4

2. Excess of  gas is allowed to react with ammonia.

Watch Video Solution

Cl2

https://dl.doubtnut.com/l/_gWaQQ0p8W7iZ
https://dl.doubtnut.com/l/_3tfv5ZHkud2L
https://dl.doubtnut.com/l/_yGeOcyzazLrn
https://dl.doubtnut.com/l/_DNDt45ReWp16
https://dl.doubtnut.com/l/_Y7XcUqJFUnR2


3.  gas is passed through liquid ammonia at 473K under a

pressure of 200 atmosphere.

Watch Video Solution

CO2

4. NO gas is passed through acidified  solution.

Watch Video Solution

KMnO4

5. Metallic Mg is reacted with very dilute (1-2%) and cold .

Watch Video Solution

HNO3

6. Conc.  is added to  solution in presence of 

.

HNO3 FeSO4

H2SO4

https://dl.doubtnut.com/l/_Y7XcUqJFUnR2
https://dl.doubtnut.com/l/_6NulQ7pAEn2l
https://dl.doubtnut.com/l/_FlM55QXAbyEQ
https://dl.doubtnut.com/l/_9VgACwogaiN8


Watch Video Solution

7. Aqua regia is added to gold.

Watch Video Solution

8. White phosphorus is added to silver nitrate solution.

Watch Video Solution

9. Phosphorus acid is heated.

Watch Video Solution

10. Phosphine gas is passed through silver nitrate solution.

https://dl.doubtnut.com/l/_9VgACwogaiN8
https://dl.doubtnut.com/l/_YMC0qrrS1qn0
https://dl.doubtnut.com/l/_r4wqQNxw4ki5
https://dl.doubtnut.com/l/_vJH8Ppgn7g3f
https://dl.doubtnut.com/l/_FjloAlEa29Ed


Watch Video Solution

11.  is added to  solution acidified with .

Watch Video Solution

H3PO3 KMnO4 H2SO4

12. Phosphonium iodile is heated with concentrated KOH

solution.

Watch Video Solution

13.  gas is passed throught KI solution.

Watch Video Solution

O3

https://dl.doubtnut.com/l/_FjloAlEa29Ed
https://dl.doubtnut.com/l/_QEHbsath1Fff
https://dl.doubtnut.com/l/_tfjnlvhL6zcz
https://dl.doubtnut.com/l/_F45z1jEnpcrG


14.  gas is passed throught acidified  solutions.

Watch Video Solution

O3 FeSO4

15. Propene is reacted with  and the resulting compound is

decomposed with 

Watch Video Solution

O3

Zn/H2O

16.  gas is passed through a clear solution of lime water.

Watch Video Solution

SO2

17.  is passed throught hot and concentrated .

Watch Video Solution

H2S H2SO4

https://dl.doubtnut.com/l/_rDWaXB9ijnY9
https://dl.doubtnut.com/l/_KHHXIzHXKj7a
https://dl.doubtnut.com/l/_tRdORu0EPbef
https://dl.doubtnut.com/l/_XcJWsgpG2CpS


18. Concentrated  is added to cane sugar .

Watch Video Solution

H2SO4

19.  gas is passed through 2% NaOH solution.

Watch Video Solution

F2

20. A mixture of NaCl,  and cocn.  is heated .

Watch Video Solution

MnO2 H2SO4

21. HCl is added to bleaching powder.

Watch Video Solution

https://dl.doubtnut.com/l/_XcJWsgpG2CpS
https://dl.doubtnut.com/l/_hdbWPaTuMhZm
https://dl.doubtnut.com/l/_4K8YNcuiUmuK
https://dl.doubtnut.com/l/_6V3uAQrzRjgl
https://dl.doubtnut.com/l/_4keMl8RquqZX


22.  gas is passed throught acidified  solution.

Watch Video Solution

Cl2 FeSO4

23.  gas is passed through chlorine - water .

Watch Video Solution

SO2

24.  gas is passed through hot and concentrated NaOH

solution.

Watch Video Solution

CI2

https://dl.doubtnut.com/l/_4keMl8RquqZX
https://dl.doubtnut.com/l/_0pbCrluvPq2B
https://dl.doubtnut.com/l/_raHPJGLz4PYX
https://dl.doubtnut.com/l/_otPOKFAeq9jK


25.  gas is passed through cold and dilute 

solution.

Watch Video Solution

Cl2 Ca(OH)2

26.  gas is passed through chlorine -water .

Watch Video Solution

H2S

27. Potassium bromide is heated with  gas at 625K.

Watch Video Solution

F2

28. Hydrofluoric acid is stored in glass bottle.

Watch Video Solution

https://dl.doubtnut.com/l/_o1jk3iGzkyp5
https://dl.doubtnut.com/l/_5P8LUUZgU41c
https://dl.doubtnut.com/l/_DdjHJIstYdxz
https://dl.doubtnut.com/l/_cSKF6hwz8CMr


29. A mixture of  gas and an excess of xenon gas is heated at

673K under a pressure of 1 bar.

Watch Video Solution

F2

30.  is reacted with  .

Watch Video Solution

SiO2 XeF6

31. Concentrated  is added to braium perxenate .s

Watch Video Solution

H2SO4

32.  is stored in a glass bottle .XeOF4

https://dl.doubtnut.com/l/_cSKF6hwz8CMr
https://dl.doubtnut.com/l/_aoffyBnexEUt
https://dl.doubtnut.com/l/_jHILe0cZxZF0
https://dl.doubtnut.com/l/_BCwIFhl696qk
https://dl.doubtnut.com/l/_7U5YyILVSXux


PROBLEMS REALATED TO IDENTIFICATION OF COMPOUNDS -

Watch Video Solution

33.  is hydrolysed.

Watch Video Solution

XeO2F2

1. When conc.  is added into an unknown salt taken in a

test- tube a, brown gas A is evolved . The colour of the gas in

intensified when Cu - turning are added into the test-tube .

When A is cooled , colourless gas A B is obtained . Identify A and

B and write the reaction involved.

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_7U5YyILVSXux
https://dl.doubtnut.com/l/_vm89OvKHCsQ6
https://dl.doubtnut.com/l/_gKeKOJxpzB98
https://dl.doubtnut.com/l/_Pg09YE5rRguc


2. A metal (A) brun in dinitrogen to give an ionic compund (B).

(B)reacts with water to give (C) and (D). When  gas in

passed through the that solution , the solution becomes

transparent agin. When the gas (D) is passed through 

soluiton the solution becomes deep blue in colour. Identify (A),

(B) , ( C) and (D) give the reactions invloved .

View Text Solution

CO2

CuSO4

3. A greenish yellow gas (B) is obtained when a mixture of a

black powder (A), NaCl and and conc  is heated. When

gas (B) is passed through liquor ammonia  gas is liberated .

When one fo the compounds obtained by passing the gas (B)

through hot KOH solution is heated with (A) ,  is obtained .

Identify (A) &(B) and write the reactions involved .

View Text Solution

H2SO4

, N2

O2

https://dl.doubtnut.com/l/_Pg09YE5rRguc
https://dl.doubtnut.com/l/_qGwhzqtu0Qcx


4. When a white waxy solid (A) is heated in an inert atmosphere

, it is convert into its allotropic form (B). (A) reacts with very

dilute solution its allotropic with very dilute solution of KOH to

form a highly poisonous gas (C)having smell of rotten fish. (C)

reacts with excess of chlorine to form (D) which on hydrolysis

produces the compound (E). Identify (A), (B),(C), (D) and (E) and

give the reaction involved .

View Text Solution

5. When a mixture of  and  is heated , a

colourless gas in evloved which is neither combustiible nor a

supporter of combusion . However , Mg continued to burn in it.

When the gas (A) is reacted with calcium carbide in it . When

the gas (A) is reacted with calcium carbide in electric furnace , a

K2Cr2O7 NH4Cl

https://dl.doubtnut.com/l/_qGwhzqtu0Qcx
https://dl.doubtnut.com/l/_1vfMq9QSftv9
https://dl.doubtnut.com/l/_h8UPBbR4BEN4


ARRANGE DIRECTED AND GIVE REASONS -

solid (B) is obtained . (B) undergoes slow hydrolysis forming an

insoluble compound (C) and the solution of the compound (D).

(D) truns Nessle's reagent brown. Identify (A) to (D) . Write the

reactions involved.

Watch Video Solution

1.  (decreasing boiling point)

Watch Video Solution

H2O, H2S, H2Se, H2Te

2.  (decreasing oxidising powere)

Watch Video Solution

BrO
−
4 , IO−

4 , CIO−
4

https://dl.doubtnut.com/l/_h8UPBbR4BEN4
https://dl.doubtnut.com/l/_NxcZAgbgb5pF
https://dl.doubtnut.com/l/_tR4iRj0rx02X


3.  (increasing acid strenght)

Watch Video Solution

HF , HCI, HBr, HI

4.  (increasing acid strenght)

Watch Video Solution

F , CI, Br, I

5.  ( increasing thermal stability)

Watch Video Solution

NH3, PH3, AsH3, SbH3

6. HCIO,  ( increasing acid strenght(

Watch Video Solution

HCIO2, HCIO4

https://dl.doubtnut.com/l/_tdLXWR4syL8X
https://dl.doubtnut.com/l/_BG6hfQZ623oE
https://dl.doubtnut.com/l/_85WluX5PpxZD
https://dl.doubtnut.com/l/_GTbIGXuohRtm


7.  (decreasing bond dissociation enthalpy)

Watch Video Solution

Br2, Cl2, F2, I2

8. He,Ne Ar, Kr (decreasing boiling point)

Watch Video Solution

9.  ( decreasing bond angle)

Watch Video Solution

H2O, H2S, H2Te, H2Se

10. H-F, H-Cl, H-Br, H - I ( increasing dipole moment)

Watch Video Solution

https://dl.doubtnut.com/l/_n9cT2agqm5xD
https://dl.doubtnut.com/l/_Hb7008uqjR1O
https://dl.doubtnut.com/l/_SC8vI8ssUmvU
https://dl.doubtnut.com/l/_VzpmCqej9fgJ


PRACTICE SET 7 ( CHOOSE THE CORRECT ALTERNATIVE ) : -

1. Which one of the following is known as glacial phosphoric

acid -

A. 

B. 

C. 

D. 

Watch Video Solution

H3PO4

HPO3

H4P2O7

2. The hybridsiation of  is

A. 

ICI −

sp3d

https://dl.doubtnut.com/l/_m4XkJjs2Ppia
https://dl.doubtnut.com/l/_BEcPxLQfMA4m


B. 

C. 

D. 

Watch Video Solution

sp3d2

sp2

H3PO2

3. The most stable noble gas hydrate is -

A. 

B. 

C. 

D. 

Watch Video Solution

Kr.4H2O

Kr.6H2O

Xe.4H2O

Xe.6H2O

https://dl.doubtnut.com/l/_BEcPxLQfMA4m
https://dl.doubtnut.com/l/_rugdGmx30R7j


4. Which of the following is basic

A. 

B. 

C. 

D. 

Watch Video Solution

SO2 −
3

SO
2 −
4

S2O
2 −
4

HSO
−
4

5. The catalyst used in the manufactuer ammonia by Haber's

process is -

A. Fe/Mo

https://dl.doubtnut.com/l/_rugdGmx30R7j
https://dl.doubtnut.com/l/_w1N0qTWn5QTy
https://dl.doubtnut.com/l/_cOR5obXGws7Z


PRACTICE SET 7 (ANSWER THE FOLLOWING QUESTIONS) : -

B. 

C. 

D. 

Watch Video Solution

P2O5

Pt

NiO

1. Why does  exist but  does not (R = alkyl

group ) ?

Watch Video Solution

R3P = O R3N = O

2.  is acidic but  is neutral in nature - why ?H2S H2O

https://dl.doubtnut.com/l/_cOR5obXGws7Z
https://dl.doubtnut.com/l/_vU5Gk5JNvCvU
https://dl.doubtnut.com/l/_1n7kf34Ur6vU


Watch Video Solution

3. Fluorine cannot be prepared by oxidation of  ion - explain.

Watch Video Solution

F −

4. Interhalogen compounds are more reactive than halogen -

why ?

Watch Video Solution

5. Most of the noble gas compounds are by formed by xenon -

why ?

Watch Video Solution

https://dl.doubtnut.com/l/_1n7kf34Ur6vU
https://dl.doubtnut.com/l/_FbyreJi7ikpq
https://dl.doubtnut.com/l/_nPl29kIC8RnT
https://dl.doubtnut.com/l/_l1fTldLWJGLU
https://dl.doubtnut.com/l/_N75FNVHrQCHz


6. Why is the group to which the noble gases belong termed as

zero group ?

Watch Video Solution

7.  is a better complexing agent than  - why ?

Watch Video Solution

NH3 PH3

8. Why  is chemically very inert at room termpreature ?

Watch Video Solution

N2

9. During manufacture of  by contact process, why is 

 not directly dissolved in water ?

H2SO4

SO3

https://dl.doubtnut.com/l/_N75FNVHrQCHz
https://dl.doubtnut.com/l/_3ozoReQqM2jz
https://dl.doubtnut.com/l/_rEGUOgFv7A1q
https://dl.doubtnut.com/l/_SMFg5MUcfEnS


Watch Video Solution

10. Which oxofluoride of xenon is octahedral ?

Watch Video Solution

11. HF is weaker acid than HI. Explain.

Watch Video Solution

12. Phosphours shows greater tendency for catenation than

nitrogen .Explain

Watch Video Solution

https://dl.doubtnut.com/l/_SMFg5MUcfEnS
https://dl.doubtnut.com/l/_YHzQYnz8GwzD
https://dl.doubtnut.com/l/_X4vjzWnnYW54
https://dl.doubtnut.com/l/_AsvW199Vf9EB


13. Hydrolysis of  is not a redox reaction - explain.

Watch Video Solution

XeF6

14.  exists while  do not - Why ?

Watch Video Solution

KHF2 KHCI2, KHBr2, KHI2

15. Though nitrogen exhibits + 5 oxidation state is cannot form

pentahalide . Explain

Watch Video Solution

16. Bleaching by  is not premanent but that of  is

permanent. Explain.

SO2 Cl2

https://dl.doubtnut.com/l/_fa9UUSeh4E0J
https://dl.doubtnut.com/l/_6rQmMzZruX7Q
https://dl.doubtnut.com/l/_Jl3lpqhxAKkJ
https://dl.doubtnut.com/l/_tO4bTp6ARWYL


Watch Video Solution

17. Write down the order of oxidising power of the oxoacids of

chlorine.

Watch Video Solution

https://dl.doubtnut.com/l/_tO4bTp6ARWYL
https://dl.doubtnut.com/l/_KzppFOEgf5pD

